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Any one who considers arithmetical

methods of producing random digits is, of

course, in state of sin.

John von Neumann (1951)

Virtually every treatment of multiple

integration begins with the lament that

quadrature in higher dimentions is hard.

Ronald A. Thisted (1996)

Random numbers should not be generated

with a method chosen at random. Some

theory should be used.

Donald E. Knuth (1998)
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Resumo

Monte Carlo é o nome dado de forma geral às técnicas de resolução de problemas

numéricos através do uso intensivo de números aleatórios. No trato computacional, esses

números  não  são,  de  fato,  aleatórios,  mas  pseudo-aleatórios, pois  são  gerados  por

algoritmos determinísticos que, no entanto,  “parecem” aleatórios, isto é, são aprovados

em  testes  de  aleatoriedade.  Variáveis  aleatórias  com  quaisquer  distribuições  de

probabilidade são então simuladas a partir de números pseudo-aleatórios uniformemente

distribuídos  no  intervalo  )1;0(  através  de  certas  transformações.  Entre  as  diversas

aplicações do método Monte Carlo destaca-se a quadratura numérica multidimensional,

que consiste essencialmente em estimar o valor médio da função integranda através do

valor médio da função em pontos escolhidos de modo aleatório no interior da região de

integração. Técnicas especiais de amostragem permitem a redução da variância e, em

conseqüência, do erro nos valores estimados. O erro de convergência do método é, no pior

caso, de ordem ( )2/1−nO . No entanto o uso de pontos amostrais quase-aleatórios pode

levar a convergência mais  rápida de ordem  ( )1−nO .  O presente trabalho descreve uma

grande quantidade de algoritmos para obtenção de variáveis pseudo-aleatórias e quase-

aleatórias;   para  a  transformação  de  diversas  distribuições  de  probabilidade   e  para

quadratura multidimensional.
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Abstract

Monte  Carlo is  the  name  usually  given  to  numerical  problems  resolution

techniques by intensive use of random numbers. In computer procedures, this numbers

are  not,  in  fact,  random  but  pseudo-random because  they  are  generated  by

deterministic algorithms, but “look like” random, that is, they pass on randomness tests.

Such random variables with any probability distribution are simulated on pseudo-random

numbers with uniform distribution in )1;0(  by certain transformations. Among a diversity

of  Monte Carlo  methods applications,   a  special  one is  the multidimensional  numeric

quadrature which consists essentially of estimating tha integrand function mean value by

the mean that function at random points in the integration region. Sampling techniques

allow a variance reduction and hence an estimated error reduction. The error convergence

order is, in the worst case, ( )2/1−nO . However quasi-random sampling points could bring a

faster  convergence  order  of  ( )1−nO .  The  present  work  describes  a  wide  quantity  of

algorithms for producing pseudo-random and quasi-random variables; for transforming a

diversity of probability distributions, and for multidimensional quadrature. 
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7� ���
� �� �� ���� ��������! � ������ �� ��������! %����������! �� ������	
� ��

��%����� ����"����� ����#�� �� �������-�� �����0���� @��� ��� ����� ����� ��
������	
� �� 
��%������� �������	
� ��������������� ����"���� $����� �� ������	
�
�� 
��%�����
�������� �����"������� � ������ � ����� ��
���������� ��$����������
�� $�� � ������ �� ������������"����� 
��%���� � �
� -����� $�� � ��� ����	
�
����"���� � �������� ��! �� ������
� �����! ��
���"#��� � ����� 
�����
���� ������
�������� �� ����������� ������ ����� ����� ���
��"#����� � 
��%���� ����"���� �
����� /�� ������������� �� ����� �� �����! �� �������� �� ������������� �
�������9��� �� ������ ��� ��-������������� �� ��-���� �� ������! �#�����������
-�����! �� �������-��� � ��������! ���� ���������� �%���#����! � ���������� ���
�� ���� �����"����� � �����9��� �D�T%��-! �(==��

O�� ���
�����
���#����-����� ������ � $��! ����� �� ����! 
��%������� -�����
���
��&����� 
���� ������������� ����� �������
�������� � ��������	3��� �2�����

���� ��������������������������� O�� ���
�����
������#����-����! -���������!
� 
�$���� 
�����
� �������������! ���
��������� � -����� ������ �� ������	3��

,



������ �����

����� �� ������� $�� ����� 
�� %��� � �#����	
� �� n 
����� �� �� ��
�	�
���������� ������
� d 
��� � �#����	
� �� ��� ����	
� �
��&�����! � ������ ��
�������9�� ���� ��� ���������� �� ����� O(n−1/2)! ��$����� $��! �� �������� ��
��-��� ��������� ��
������&
��� #��! ������������������ �������� ���������� ��
����� O(n−1/d)! 
��� ������

�����,,,, L���0����L���0����L���0����L���0�����

�� �JJJ! '���-� ?����?������ ��JFJ/�J))�! ����� �� >�����! 
��
M�� �����#�� �
��-����� 
��%����� ;��� ��� �-��1� �� ���
������� L, 2�-��� �� ����� ��%�� ���
��
���"��� 
���� 1���9�����! �������� ���1��
����������
�	������-��������� ����� ��

����� ��������� d > L! ����������� 
��%�%������� p �� $�� � �-��1� �������
��
��� ���������1��� ������/�� $�� �	 ����	 ��-����$�� $�� � 
���	
� x ��� 0 ≤ x ≤ d
�� ������ �� �-��1� � � ��� �������	
� ϕ ��� 0 ≤ ϕ ≤ 2π ��2�� #��� #��������0����
���������� ����
��������� >����� ��JJJ� ������� $�� � 
��%�%������� 
�������� �
p = 2L

πd �

�� �)�+! ��� ��#� ��9 ��%�� ���� 
��%���� ������	��� 
�� @����� I� ?�
����
��J.(/�)+J�! $�� 
��
M�� ��#���
� �� ����	
� 
��� π = 2L

pd � � $�� ?�
���� �%��#� ���

��� ������� �� ����������� #������ π ����#���� �� 
������� ����� ����� �?�
����!
�))=�� 7
� �� ��%� �� ?�
���� �����9�� �� �
� � 
����������� �&
���������
���
����������� #������ π� 7� �������! ��������
������� � ��9����� >��C���� ��(J.�
������� $�� ������#����� ������/�� �� 
�������
� �����������
�
������ �
���!
���� 
��� �� ����� ��
��
� D�&$�� 2�-�� ��� �-��1� ��%�� �� ��%������ ���1����
�� #�9�� ��$����� �� ����
���#� �� ���������� �������� ������� � -����� ��#��
��������� ��)=�/�)=,�� ��������#���� #������ e ������� �� ������ 
���� ���������
������ �������������1��������1�99�%�! �(()��

�� �)((! E�1� S� I� 5�K���-1 ��).+/�(�(� ������� $�� �� 
������ �����0���
������
 ���"� ��������������! ��� 
�������%���#�����! 
������ ����������� ����	
�
�
��&����� 
��� ��� �$��	
� �����������
���%0�����

�� �(F�! S������ 41��
��� ��)+./�(FJ�! ?��� Q��#��! -���� ,FFF ���2��0����
�����0���� 
��� ������� � ������ �� �����
� �� ����� ����� 
���"����� � 
������ ��
��#�������������������& 4�������K! �()J��

�� �(F)! S������ I� '�������)J=/�(*J� 
�%�����! ��� � 
����M���� �	����	! ����-��
���������� N ��������#� ����������������� �������	
� �� ��� ������%��	
� t ��� �
�2��� �� �������-����&
����������! ������ �����%�������������������� ����3��

=



�I������! �(F)� � I������! �(F)%��

�� �(*�! �����K7� Q����-���# ��(F* U �()J� ������� � ����	
� ����� ��
��������
����� �������� ���C�#� �������$��	3������-��/�������������

;������ � ������ �� �(*F! ������ D���� ��(F�/�(,)� ���%��1��! ������

������������ �� ������	
�! �� 
��#��
� ��0���� �� ���������� �&
���������� ��
�����
� �� ��������� ��%��� �
� ���1� 
�%������ ����-����
��"�������%�� ��� �������
�� ������	
� �� 
��%�����! ��-���������������1���� ����� ���%��1� � ��%��
� ��
������ ����� ������ R �� ���������/�� $��! 
��� �����9�� ���� � ������! D����
���
��1� �
������ �� ���
�����#� ��������! 2 $�� � 
������� ���
�������0 ���
�����#��#��� ��-��� ���� ���� ����� ������
����! �()J�� @���� ���������	3�� ��
�&�������� �� ��#�������������������#��! 
����9����
���������	
� �� ��������! �

��� �����%���� ��������� �� ���	3���������������9����
����������������! D����
����%���� �(*) � 
����� 7�%���� �"�����

� 
������� ������ �� �(.F! � ��� �����#� �� ������ ����� ����� ���� ���������� ��

��$���� �����
��������� 
��� �����	� �� -����� � � �������	
� �� %��%� ��M�����
7����� -�������������������#����-�	3��E�1�#��7������ ��(F*/�(,J� � I�������H
�� O��� ��(F(/�().� ��������/�� � �������������������������	��
� ����� 
���

������
��%���������"���������#���� �����$��#������������"������� � ��������	
�
�(
	�	 � 	�
�����	 ������1��� 
��7��1������ �����
������(�./ � � ����� ����

�"���� �� ����-� �����������������
����& O���! �(.(� ������#���� � ������	
� ��

��%�����
��%�%��"������������#��N �����
� �����0��� �� ���������� ���������"�����
�����
�������� ���
��� #��
��� �������	
� �� ���
��������7��� �#�	
�
�	����

���$�
������ %�	����	�� ���&�
��	���! ���������� �7��� �'���	�����$�
������

%�	����	�� ��� &������	���! ��� ��%����0���� �� ?�� V�����! ������� O����� ��
�������� ���
������������� 
���� � ����� #���
��������� � �
����������� ��
������ ��! ��� #�9 $�� -����������� �����0�������������� ��� ���
��������
�������� �����
��������� ���������
��������
������#��� � ������	
� �� �$��	3��
�� ������ %��������������� 
��%������� ���������
��
�������
�����	������(,*�
�������� �� $�� $�� � 1�2� ���1����� ���� ��	�
����� �����	�
)����! ������� $��

����9 ����� �����"������ � �
������ �� ���������� �%����� 
��� ������ ��!
��
������� �����9��� ���������� ���������! �()=�� � ���%��1� 
������� ��
�����
����� �����1����� ����#���� 
����� $�� ��#� �������! ��������� ����������

��� �
������ (
����� �����	� N ���1�� ���� �� ������������ ��  ��� �� �"����
���
����������

;������ � ������ �� �(JF! � �����#��#������ �� ������ �� ���
��&�����
���
�������������	��� 
��#���������� ��
��-� ����
������ � ���������� ������
����� ������ D�������������� ��� ������ �� 
��%������� ������
� d 
��� � $����
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� 
��� � �%���	
� �� ��� ����	
� �&��� ������ �&
������������� ��� d,����!

���&��
��! � ���������	
� �� #����� �� �� ���
� ���#�&� �� ��
�	� ����������
d/����������� �� � ���������	
� �� 
��������� �� ��� �����9� 7� �������! �
������ �� 
��� ���������� ����	
� 
��� �����
��%�����! ������ �� ��� ����������
��
���������! �� �� ���
� 
����������� d �@�����! �(((��
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���� �������������������������������������������� 	
�����	
�����	
�����	
���������
���������
���������
���������
������

��������� ������������������������������������ �������� ����������������������������������������
���������
���������
���������
������

�� X � ��� ������������
���� �������� ��	�
�� ��� ������ m �������x1, x2, ..., xm� ���

�������������� ������
���� p1 := P(X = x1), p2 := P(X = x2), pm := P(X = xm)� �
�������� �� ��	
��� � ��������X ��	���
� �� ����� ��� ��� !	��� �� n 
�����

(y i ) := (y1, y2, y3, ..., yn ) �� ����� ���"
#�$ ���� 
��� y i, 1 ≤ i ≤ n, �%��
� �� x j, 1 ≤ j ≤ m, 
����� y i = x j&
#�$ �� qj � � 	
���� �� 
������� (y i ) ������� x j� �	
��� ���� 
��� 1 ≤ j ≤ m�

lim
n→∞

qj
n = pj.

��� ��� ��
�� ����� X � ��� ������������
���� ��
��

�� ��'�� ������� ������ �

�	
������ [a; b], ��� ��	��� ��	������ �� ������������� #()*$ f� � �������� ��
������� � �������� X ��	���
� �� ����� ��� ��� !	��� �� n 
�����
(y i ) := (y1, y2, y3, ..., yn ) �� ����� ���"
#�$ ���� 
��� y i, 1 ≤ i ≤ n� 
�	+�,�� a ≤ y i ≤ b&
#�$ ���� ���������a�, b� ��� a ≤ a� ≤ b� ≤ b, �� q(a�, b�) � � 	
���� �� 
������� (y i )

������ a� ≤ y i ≤ b�� �	
��

lim
n→∞

q(a�, b�)
n = �a �

b �

f(t)dt.

-��
� .��/
��� �����
�,�� � ��������� �� ��� ������������
���� U, �	��������	
�
���
����/�� 	� �	
������ [0; 1],��	���	��� ����������������� 

����	�� 0�
� ��������


�� ()* f ����	��� ���

f(u) :=
1, �� 0 ≤ u ≤ 1

0, �� ��
�� �����

.��� ����/���������������� ������ ������������
���� � ��	���	��� ������
��� ��

��������� 1 �������� ��� ������ ��� �%
����� u �� �������� �	������ U �

��	���	��� ������� 

����	� #�2$ � � ��� !	��� (ui ) := (u1, u2, ..., un) ��
��� �

��	���	��� �����
��� 

����	�� 1 .��/
��� 3 ������	
� ��
������ 
��	���������

�� ��������U ���� ��
������������X #������
���� ��	
/	���$ ��� ��
���
������
���
�������� �� ��������������
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)� ��
�� �������
��	������ ��������� ����� �������ui 	���	
�������(0; 1) �� [0; 1)�
0����� ���� ��
��+� 	�� �	����	��� ���	�����
�����	
� � 
����� �����%���
�� � ��
� ��
������������������� ��	�� ���0 �� 1 ������ �
�	��� ��������	� ����	�������	
�
�� ���������� ��������� ������ �����
��������������#��	
��� �445$�

0%��
��� ��������	
�� 
�!� ��
���� ���
�	
�� ���� ��	�
���� �� �2" 
�������
�������
�����/������ ������
����

�������������� 6������6������6������6�������

2�� ������
����	������� ��
���� �2 � �
������� ��� �� 
����������������	
�
��	�
��/������� ���� ���� 0����
��������� ������
�������� ������� �� �/��
��
������������	������ ��� ���
�������� �� ������������� �	������� 0����	
��������
��
���� ��� ���
��� �� ����� �������
��� �/���� #����� ��� �%������ ��� ����
�$
����������	
� ���'�
���� 7 6����� ��� ���
�� 400 �/��
������
������	��������	
�
���
����/���� *������������� ��	
���������� ������
���� �������� 5 �/��
���

86515 90795 66155 66434 56558 12332 94377 57802

69186 03393 42502 99224 88955 53758 91641 18867

41686 42163 85181 38967 33181 72664 53807 00607

86522 47171 88059 89342 67248 09082 12311 90316

72587 93000 89688 78416 27589 99528 14480 50961

52452 42499 33346 83935 79130 90410 45420 77757

76773 97526 27256 66447 25731 37525 16287 66181

04825 82134 80317 75120 45904 75601 70492 10274

87113 84778 45863 24520 19976 04925 07824 76044

84754 57616 38132 64294 15218 49286 89571 42903

6����� ���" 899 �/��
������
�������� ���
�������� �	������
#������ �453� ��:8$�

)� 
�������� m �/��
������ � 6����� ��� � ����/�����
�� � ��� !	��� �	������
(ui ) := (u1, u2, ..., un) ��� n = m/k 
������ ;��
� 
������������ k �/��
����� �	�����
� ������ ��� ��� !	��� �� 
����� �� ����� ui := 0.u1+k(i−1)ui+1...uik� *�� �%������
(ui ) = (0.86515, 0.90795, 0.66155, ..., 0.42903) ���� k = 5� )���� ����� ��
��,�� ���
��� !	��� �� 80 
��������
�	
���

*���,�� ��
�� ��
�� ��� !	��� ��� ���/��� ����� n = m, 
���	�� k �/��
��
��� �	����� � �����	�� � ��� !	��� �� 
����� �� ����� ui := 0.uiui+1...ui+k−1� *��
�%������ (ui ) = (0.86515, 0.65159, 0.51590, ..., 0.42903)� ���� k = 5� )���� �����
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��
��,�� ��� ��� !	��� �� ���/��� 400�

<��
��
��������� 	
���������
������ �� 
������
���	+��� '������ �����������
=	�
+ #�445$ ��
� ��� 
����� ��������� ���>��	��� ?� .� 6����

�� �4�@ ���
40.000 	
����� A
����� �� ����� �� ����
������� ��	��A #�����
�� ��3$ � ���� ��	���
����������	
�� � ���� �	
���� 7 6����� �� B�	� .�� #�4CC$ ��� 1.000.000 ��
	
����� �� ����������	
�� � �����%
�	�� ��������� 7�����D�
E& �
���	 #�4:C$
���
��� 2500 	
������%
��/�������� 
�
����

1 ��� �� 
�������� 	
���������
������ ����� ���� 
�������� ������
�����
������
�� ��	�F�� 
����	���
������ ��/��� ��������	
� �� ������ ��� � ����	
� ��
�����
����� ������ �� ���
� �� ����E�	���	
�� �� � 
����� � �����	�� ��
!�,��
��� !	������ ���/��� ���
�� �� �� ��� � ���	��� ��	���� ��� ���	�� ���	
����� ��
�������� -� �	
�	
�� � ���	�� 
��	������� � � ����	����� ������
�������
����	���
	�� ���� �
���� �����
� � ��� � ����E�	���	
� �� ���+F�� �� �/��
�� ��	�����
�%���
�����	
� 
��
����� < �������� #�44C$ �����E���� .)B1< ��� 8�5 ���+F����
��
�����
������������
�	
� ���������
������	
� �������������	
���� ��/��� ��
������
�����
�G	����� �
�����A���A�

�������������� )������
���)������
���)������
���)������
��� �/�����/�����/�����/�����

*���,�� ��
�� 	
����� ����
����� ���	�� ����� �������
��� �/���� �������� ��
�����
����� 1 ���	�/��� �� ��	���	���	
� �� 
���������
��� �� ��� �%������ �
�����	
�" �� �����	�	
� ���
�G	��� #�������� �	
�	�� �
��$ ���
� ��/��
���
�����	�
��� �� ���� �����	
�& ���� ��/�� � ��	���
��� �� �� ��	�����
���� ���
������ ����
������	
� �� 
��	� �� �� ��
����	��� 	/����� �����!	���& �� ��	
����
�������� ���	
����E��� ��	�����E� ���� 	/����� �����!	��� �� �� ���
� �	
������ ��

����& �� ���� 	
���� �� ��E��������� ����,�� �� �/��
� ��	���� 0� �� �� ���/�����
����,�� �� �/��
� ��	���� 1; ����� � ������ ��� ��� !	��� ����
���� �� �/��
��
��	����� (bi ) = (0, 0, 1, 0, 1, 1, 1, 0, 1, 0, 0, 1, 1, 0, 1, 0, 1, 0, 1, ...)� ����	�� �	
�� ���
��	���
��� ���� 	
���������
������� ��
��������� �� 	����������

6��������	
�� ���� ��
��� ���� �����	
�����������	
� ����
������ 
������ ���
����
� +�	��
�� *����� ����/�����������	� ���
�������� ��������/�
��� ������	
�����
��� �� ���/�����
������ � ��� ���� ��������
�� � ��������� ��� ������� �������
#������ �453$� *���,�� ��	
��	��� �������� ��E�	��� �����������	
�� ��� �	����� ���
��������������� ����������� ���������
��/�
������� ��
����
������ ���� ���������	
�
����	�� 
���� �����
����	���

H �	
������	
� 	�
������ �� 	� ��� !	��� �����	��� ������������� p := P(bi = 0) ���
������	
� �� ������������� q := P(bi = 1) = 1 − p� ����,�� ��
���� 	��� ��� !	��� (c i)
#����+����!	��$ �� �����	
� ����� ������
� �����	 -����		 �� �4C� #(�I�����

��



�4::& ;�������& ;��
��J� �44:$"
#�$ � ���� �����/��
����������� ��� !	��� �����	��bi, bi+1� ��
��,�� �� �/��
� c i ��
	��� ��� !	���&
#�$ ������
��,�� �� �����	��F�� #00$ � #11$� ��'�� �������������� ��� p2 � q2�
������
�����	
�&
#3$ ����
�
���,�� �� �����	��F�� #01$ � #10$� ��'�� �������������� ��� pq � qp�
������
�����	
�� ���#1$ � #0$�

2�� ���
� �����	
���� ����������
�����/������ ��� �������
��������� ���
���E��
��� 
	���� � �� ��������� 	�� ����� ��� �%���
���� �� ��
��� �����
�������
�����	��,�� ����� � ���
��������� ��� ������
���� 7��� ������ ����� �������
����

�	��� � ���������	
����� � ���
� �� ��������� ����	�� ��� ����� �� ����������
������

1�
�� �����
��/�
��� �	����'��������� 
��� �� ������� � ��� 	��,�������
����������
<��
�� ��E��� 	� �������� �� ��������� � ��������� �� �� ������
��� ����'�,��
�
���E����� ��� !	��� �� 	
���������
����������� ������E��� �� ��	��� �����
����� ��� !	��� �� ������� �� ���� ������
��� ������	
��� ��������� �/����� 	��
�����
�� ����
���� �� ��� !	���� �� 	
����� ����
������ *���,�� ��	
��	�� ����
�������� ����E�	�	�� ��� ��
����	��� ��� !	��� ���� ���
������
���E����� �������
� ��������	
� K �
���E���� �� 
�������

����������3333 7�����
���7�����
���7�����
���7�����
����

7 ����� ���	�����	� ������� �� 	
���������
������ � �����	
�" 	�� �����
� �� ���
��� !	��� �� 	
������ ����	�
�� ����
���� �� 	��� ���
� ��� ������ ����
����� L���

���	����� ��� ���� �����	��	��	
� ����
�
�������
��� ������ ������� 
������� �
�� ���
������
��������
����	���� 	� ������� ������	
������

1� 	
����� ������� ��� ����� ������
��� ��� ��	���	�������
�������������� L���

������ ����� 	
����� ��� ������� ��� �� ��
��� �	
��	������	
� ��
����	��
��
	��,����
����� ����� ������� ����
����� #��+���� �44�$� 7 ������,����
�������� ��
��� ��� !	��� �� 	
������ �������� ������ ����� �� 
��
��
�������� ���/������
�� ��� ������
�� ���� ����� ��� !	���� ��� ��'�� ��������� 	����� 
��
��
#<��������� �44C& =	�
+� �445& ��	
��� �445 � 6������ �444$�

��� �������� �� 
���� �� ������
��� ���������� 	� ������� �� 	
�����
������,����
������ 7���	����������� ���
��	� ����� ��3� 1 ������
�� �� �� �2 ����
�����E����� ��� !	��� (ui) ��� ������ ��� �%
����� �� ������������
���� �	������
U� 0� ������ ��
������� (ui) ��� ��
������E�	�� ui := x i/m, �	�� x i ��� 
�������
��� !	��� �	
���� (x i) ��� ������� ���� ������� 	� �	
������ [0; m − 1]� 7 ����
�%������ �� �2� �� 	��� ������� (x i) � ��������� � ���
���� k ��������	
����������

��



������ ������� ���������

x i ← F(x i−1, x i−2, ..., x i−k),

�	�� F ��	�
� �� ��	'�	
� �� ������F��� 
�	
� �� ���
��
��� �����
����	��#�������
���
������ ���
���������� �������� ������� �
��$ ���	
� �� ��	�������� �� �����
���
#���������	
� �� ��
�� �	������ ��	����� 
��	����	
� �� �����
��� �
��$� 1�k 
�����
�	�������� ��� !	��� (x i) ��� ��	���	������	�
��� �� ��	
������ 7�����
��������


��� ��� 
����� ��	���	������	�

	������� ������������ ��� 
�	
� ������������

�� ������� 	������� � ��������� ���	
� �������
��/�
������ �����	� � �� ��	������
�
���E��� ��'�� ��	��������������������
���#=	�
+� �445$�

��������� M���������M���������M���������M����������������������������������������������������� �������� ����������������������������2	������2	������2	������2	�������

1 ������� ��� ��
���� <. ����	�� �� ��������� ��� 	
����� ��� �� �����

�����+��� *����������� �	
�	��,��� ��������	
�� � ����	
�� �� ��� ����� !	������
	
����� ������,����
����� ������� ����� �2 ��
������� �� ������������ ��
�	����������� ����
��������� �������
���������� ���
���������� ���/��� ��	�� �
����������� 7������ �������F�� �� ��
��� <.� ���� � �	
������� 	�������� ���
���
�����	
� ����	��	
�� ����� ���������& ��
���� ���� '����� 	�� 
�	
�� 0�
��������������F��� ���� ���
������������� ���������� ����������	���
�E�����
����������������������
���
�����
���E����� 	�� 
�	
� ������2 �
���E�����

�������������� 2	����������2	����������2	����������2	�����������

7 �	���������� � � ��������� ����	������ �2� 0�����,�� ��� ����������� !	���
(ui ) := (u1, u2, ..., un) ������ ���� �2 
�	+� ��	��� �� ���
�������� �� �������������
�	������� �� ��'�� ����	�+� �	��������	
� � �	
������ [0; 1]� �� ���� �	
������ �
�������� �� k ����	
��������� ��������	
� 1/k, ������,�� ��� � ���� !	��� ����
���
��� ��� ���� ����	
������ � ����	�+��� �������	
��ui� 1 ≤ i ≤ n� ��'� � ����� #1/k$
���� 
����������	
��������

7 �	���������� 
����� ���� ��� ���������� �� ��
��� ����	�F��� 7 ���
�� ��
��� !	��� (u1, u2, ..., un) ������ ���� �2 �����,�� � ��
��d,����	���	��
1 
���	��,��
������d ���������
�����" 
1 := (u1, u2, ..., ud)� 7 ��� !	��� (
1,
2, ...,
m) �� m ��
����
d,����	���	��� � ������� 
���	��,�� �� 
����� ������ �	
��"

i := (ud(i−1)+1, ud(i−1)+2, ..., udi)� 1 ≤ i ≤ m� 0�����,�� ��� ����� ��	
�� ����	�+�� ��
����� �	������ � +�������� �	�
���� d,����	���	��� )� ����� ������ �� ����
+�������� � �������� �� k ���,����F����
�	�������� 
������ ������ 1/k, ������,�� ���
� ���� !	��� ����
��� ��� ��� ���� ���,������ � ����	�+��� �������	
�� 
i ��'� �
����� #1/k$ ���� 
���� ��������,����F��� L��� ��
� �������	��� ��� � ��	���
� ��
��������
���� ������
� ��� �������
��+� 	� �������� C����� 7 (����� ��� ���
�� ��

����	�+���	
� 
/���� �� ������ ������	���	������99 ��	
����'��������	�������

�3



�����E�������� ��������	������"

(����� ���" *���	�+���	
� ������	���	���� �� �������
�	�������

�������������� 7���
��������7���
��������7���
��������7���
���������

7 ����
�������� �� ��� ��� !	��� (ui ) := (u1, u2, ..., un) � ������ ���� ���������� �	
��
���� 
������ M��	
� ��	�� ��� ���� ����������� ����� � � ����
��������� 2��
���������� �� ����� k ≥ 1 � ��� ���������� �	
�� ��
�����ui � ui−k� k ≤ i ≤ n� ��
��� !	����

*�� �%������ ��	������,�� � ������� ����
���� �� ��� ���
/���� �� �� ��%�
�	�����	���	��� 7 ��� !	��� (ui ) ���� ��� ����� ���� ������� � ������	
� ��
���
/���� �� �����	
� ����" 	� ����� i� 1 ≤ i ≤ n� � ���
/���� �������,�� ���� � �����
�
�� ui > 0.5, �� ���� � ��������� ���� ��	
�����& � ��	��� �� ui+1 > 0.5, �	
�� ���� 	���
������� � ����
� ��� ���� ��	
������ ��'��
���� -� �����!	��� �� ���������� 	��� ���

����� �� ��� !	���� � ���
/���� �������,�� ��� ������������������ 
�	
� ���� �
�����
� ���	
� ���� ��������� -� �	
�	
�� �� �%��
����� ���������� �� ����� 1 �	
��
��
���������� ��� !	���� +����� ��� 
�	�!	��� ������� �� ���������	
�� ��� ���
�%������ +�������� ���������� ����
���� �	
�� ���������	
������ � �������� 
����
������!	��� ����� ���������	
������ � �����
�� -� ���� ������	���	��� ��������F����
����� 1 ��2 ��� �	����'������

1 ������� �� �	
������d,����	���	������� ��
��� <. � ���
��������	
� ��	�/����

�8



��������F���� ����� d − 1 #��	
��� �445$� (����	���� �� ����#�44�$ � �����������
#�443$ �����
�� ����
�� �	����'����� �� ��������F�� ��
�� �� �2� ��	���������
��
����
��������� ��
���
����

����������3333 B������
���������B������
���������B������
���������B������
��������� ���� ���
������������
������������
������������
����������

)����� � ��� 	�
���E� ���������� ����� !	���������������� �2 ��� ����	������	
�
�������
/����� ;��
� ��� ��'�� ����������������������	������� 0��� �����
��/�
��� �
����'�������	�������	
� 	� ������� ����������F���� ���������� '���� ����	������
�����
����	��� ������� ����	
� ��� �����	��F�� �����/����� �� 	
������ 0���
�����
��/�
��� ��� �2 	�� � ������
��+��� ����� �������
���� �/������ ������
�� 	�
�������� ������

-� �	
�	
�� ������ K������
��/�
������ ���� �����	� � �� ���� ������
��� � �����
�2 ��� ����������������	������� ��	�� �%���
��� �� �����	��������	
��� ����
	�� ������ ����� ��� !	��� �� 	
������ �� �
� ����� 	�� ����%���
���� 0���
�����
��/�
��� ����	� � ���
��������� �� �� �2� H ����'������� �� �2 ��'� ���
�
���

����������8888 *��/���*��/���*��/���*��/����

0� ��� �����	� �� �������	
���� 	������� ��	���� �� p ��
�� �� ��	'�	
� ��	�
� ��
2p �������	��������#��
����$ ���
�	
����� �������	
������ *��
�	
� �����%��
� ��
��	'�	
� ��	�
� �� ����������
�	
�������������� �2� �������	
�� ����� ������� ��
L 
������ � ��� !	��� (x i ) := (x1, x2, ..., xL) ��
��	� �� ��� ����������	��#xL+1 = x1$ �
����
�,�� � ������ 1 �����L � ��	���	��� ��������� �������� 2� ���/��� ��	�
� L
�	��E��� ���������� �� ����� L �	���
����" xL+i = x i� 1 ≤ i�

H ����'������� � �����L ��'� � ���������/���� �� � ������������E��� ��� !	���
(x i ) ��� 0 ≤ x i ≤ m − 1� 1 ≤ i ≤ n, �	
�� � ���/��� ����� �������� ��
� 	���	����

L = m� ��
� �� �� 
�������������	� �	
������ [0; m − 1] ��� ��������	
���� +����
����
����� *��� ����	� ���������� � ��	���
� �� ���/��� ���� ��� ��
�	����� ����
����	
���� ��������� ������	
������� ������������� ���/��� ������	
��

1 ��	+�����	
� �� ���/��� �� ��������
���E��� � �����
�	
�� )���,�� ���
���%�����
� �������� ��
� �� ������� !	������ 
���	+� �� ������/���� 0� 
��������
����� ����
��������	�� � 	�� ��
��������10% �� ���/���� ��� ���� ���L > 109 #��	
��� �445$�

����������CCCC N���������N���������N���������N����������

������ � ����'������� ���2 ��'�� �������� 0� �� ��
�� ��� ������� �� 7 ��������
�
����2 ��� ���	������	��������� �����	� ���� ������� 	
���� ������,����
�����
��	����	�� ���	����� ������ �� 
���� 
�
���� ������� �� �� ��������� 0� ������
� ���������� �� ��
����	��� �������	�� � ����������� �����
�	
�� � ��	����� ���

�C



��'� �%
������	
� ��	
� ��� ���
�	
� �� �������� ��'� �%
������	
� �������

�����3333 7�����
���7�����
���7�����
���7�����
������������������� �������� ����������������������������2	������2	������2	������2	�������
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���� ������������ ���� ��
��+� ���� ��������� �� ��	
�� ����
�%��
� ��� ����
���� 	� �������	
���� 	������� �� 	
����� �	
����� ����
����� H
�����
�	
� ��	+����� �����	
���� �	
���� ����
��� M 
����� 
�������	
�������
�	
������ [0; M] 
�	+�� �������	
���� �%�
� 	� �����	�� ����	�� ��� � �����	�
�
���E� �� �����
�� �� m �/��
����	��������� � �������	
���� �� 	
������	
������ �
������� M � 2m − 1 #?��+��� �44:$� *���%������ � ��	������ . ��� �� �����
�� ��
16 ��
����� � 
��� 

���
�� �
� #M = 216 − 1 = 65535$� � �� �����
�� �� 32 ��
����� �

��� 

���
�� ��
� #M = 232 − 1 = 4294967295$ #��+���
� �44:$� 1 <76>7;� ��� ��

����� 	� ���
��
��� ������ L000 #�45C$� ��� �� �����
�� �� 53 ��
�
#M = 253 − 1 = 9007199254740991$�
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���O�	+��	-����		������
� �� �48: #< �
�������� �45@$�

7 ��� !	��� (ui ) := (u1, u2, ..., un) �� 
������	��������	
� ���
����/���	� �	
������

�:



(0; 1) � ��
��� � ���
�� �� ��� !	��� �� �	
����� (x i ) := (x1, x2, ..., xn), �	��
1 ≤ x i ≤ 10m − 1� ��� 1 ≤ i ≤ n� � �� 	
���� �� m �/��
��#��������� 	� ��	������
�����	���� ��	-����		$� 1 ������� m � �����+��� �� ����� ��� 10m − 1 ≤ M� �	��
M � � ����� �	
���� �������	
����	� �����	�� 1� 
����� ui ��� ���������� ���
ui = x i/10m� -���� ������
��� ���������ui = 0 � ui = 1 	�� ��� ��
�����

1�
�����x i ��� ����������
���	��,�� ���/��
���	
������������� x i−1
2 � *���%������

���� 	
������� 4 �/��
��� �� x1 = 1234� �	
�� x1
2 = 01522756� 1 	
���� �����	
� 	�

��� !	���� x2� � ��
��� 
���	��,�� �� 4 �/��
�� �	
����������� �� x1
2� �� ��'�"

x2 = 5227� � ����� ������	
�� .�	
�	��	�� ���� ���������	
�� ��
��,�� � ��� !	���
(x i ) = (1234, 5227, 3215, 3362, ...)� � (ui ) = (0.1234, 0.5227, 0.3215, 0.3362, ...)�

0����� ���� ������� ������ ����
����� ��� ���� ���	��	��� ��� ���� ��EF��
��	����	
���� *������� ������ � ���
�������� ��� 
����� �� (ui ) 	�� � �	�������

�	�� ��� �����	���P	��� �� �����	�� ������� �	
�� �� 	
����� ������� #������
�453$� ����	�� ������ ����� !	����	�� 
!� ���/��� ��%����� ������	
�	��� �� ��
��
���
�������� !	������	�����	
��#=	�
+� �445$�

�������	� !"# �������<���,��,M������� #�<M$�

U ← GMQ
������X Q��������������� ����	
� �� ���������R
m ← 7 Q-� <76>7; ��� M = 253 − 1 
��,�� m := 7R
X ← X2

X ← X ÷ 10�m/2� Q
��	�� �/��
��K �����
�� 7 �������� ÷ ��	�
� � �������
�	
����R
X ← X mod 10m Q
��	�� �/��
��K ��������R
U ← X/10m
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1 ��������� ��	���!	��� ��	���� ������
� ���>�+���#�4C�$� ����� �������������

����� ���
��� 	� ��������� �� ���������������,����
������ ��	�� �
� +�'� �� ���
���� ���������� 7� ������������ ����� ������� ����� � ��	
�	��� ��	�� �� ����
��
������� 
�	
� 
������ ���	
� ����������	
�� 7 ����� ���
� �� 
����� �����
����������� 	
�����������,����
�����
��� ������� ���� �������� 7 ��� !	��� (x i) �
��
��� � ���
���� ������� �� ������!	���

x i := ax i−1 + c (mod m).

1� 
����� ui �1 ≤ i ≤ n� �� ��� !	��� �	������� ��� ���������� ��� ui := x i/m� ��
c = 0, � �������� ��
� 	
������������! �� c ≠ 0� � �������� ��
� �������� �� �����

�@



�
���E����� ����%������ ���������a := 12� c := 0� m := 31 � x1 := 9 #��	
��� �445$�
��
��,�� � ��� !	���

(x i ) = (9, 15, 25, 21, 4, 17, 18, 30, 19, 11, 8, 3, 5, 29, 7,

22, 16, 6, 10, 27, 14, 13, 1, 12, 20, 23, 28, 26, 2, 24, ...).
SSSS#���$

SSTSSS

7���� 
���� 24� � ��� !	��� ����
�,��� ����24 × 12 (mod 31) = 9�

7 �����+� �������� �� a� c � m ����	� �������
��/�
����
������� � ���/�������
�������� 1 ���/��� ��%��� �� �������� m �� c ≠ 0, � m − 1 �� c = 0� 1 ������� m �
�������	
� �����+��� ������ 2k, � ��� �������� ��� � 
���� �� ����������	
� ����
����������� �������� �� 	
���� ������ �������	
� �� 
��� m = 2k − 1, �� 
$	���

���	��� % ����
��

�� m � ��� ��
!	��� �� 2� � ���/��� ��%��� �� ����������
������
��� � m/4, � �
��
��� ���� ����������� a 
������ a ≡ ±3 (mod 8) #=	�
+� �445$� 1��/��
����
�������	
���� ��	���� ��� 
����� �� ��� !	��� (x i) �� 
��� ��������� ������	
��
������������� 1���
���	�����	�����
����������	
�� ���/��� 1� ��
� �� ��� ������ ��
������� 1� ����	��� ��
� ��	�� ���	�����
���� ������	
�� ���/��� 2� 1� ��
�
�����	
��������	
�� ���/����������
���� 4, 8, 16, ... )� ���� ����������/�������
��
� ��
�� �������	���� K� ��
!	���� ��� ��
���� ������ �� m, �� m ��� ������
�
#��	
����445$�

2� 	
���� a � ��
� ���&���	������ ������ m, ��� � ����	
� ��� a � 
����� � ��	��
���������
��� �� k ���

ak ≡ 1 (mod m)

� m − 1� 1 �������
�� ���/��� ��%����m − 1 ��� � ����	
� ��� m ����� 	
����
����� � a ������ ���E�����
���� ������ m� -� �%����� �� ��� !	��� #���$� a = 12 �
���E�����
��� (mod 31)�

7 ��
��
��� ��� 
����� �� ��� !	��� (x i) � ���
�	
� �/����� < �������� #�4:5$
��
������������ �� � ��� !	��� (�1,�2, ...,�m) �� ��	
��d,����	���	�������� ��������
���� ������
� 	� �������� ������ 
���������� ��� �����	���� ��	����� d ��
����
����� 1� ��	
�� ����� ���
����/����������� ����� ���	�� (d − 1),����	���	��� ��
	
���� ��%��� ��� ����%�������	
�� m1/d #*������ ����� �44�$� 7 (����� ��� ���
��
� ���
�������� ������	���	�������	
��� ��'��������	������� ��
������ ��� !	���
#���$�
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(����� ���" *���	�+���	
� ������	���	������ ��� !	��� #���$�

*��� ��� 
�� ��
��
��� 	�� �	
������ 	���
�����	
� 	� ��������� �� �������� �
	��������� ��� � �����+� �� m � a ��
������ ���
�����
������	��/
����� ��
�
/�
����#�
������� c � ��������	
� �� a � m ����� �����������$� =	�
+ #�445$ ��E��� �%���
���
��������� ���������
������ �	����	�� � ��	���	��� '���� (��������� ��� �������� ��

���
P	���� �	
�� ���	�� #d − 1$,����	���	��� ���������� -� �	
�	
�� � ��
���
��� �
�	��	������� � ������
� �������������� 1�������������	����	
� ������
�����>�+���
#�4C�$ ��� a = 517� c = 0 � m = 240,��
�	�� ��� ��� !	��� �� ���/��� m/4 = 238� *��U
& <�����#�455$ ������� ��� �� ������ �/	��� �� ��������� � ��
��� ��� ���������
a = 75 = 16807 � m = 231 − 1 = 2147483647� 7 ��	��� rand �� <76>7; #������ 8$
�
���E� ����� �������� *��� �����
������ �� �����	� ���
�� ��+��� #�44�$ ����F�
a = 25173� c = 13849 � m = 65536� �����
�	�� �� ��������� ���/��� ��%����� =	�
+
#�445$ ����F� �� ������� a = 48271 � m = 231 − 1� 7 ��	��� rand() �� <7*>0
#������ C$ �
���E� ���������a = 427419669081� c = 0 � m = 1012 − 11 = 999999999989
#�� 	
���� �����$� ��	
�� #�445$ �+��� � �
�	��� ���� � ��
� �� ��� ��
�������a = 950706376 � m = 231 − 1 ������	
�� ��	������
����� ���	�� ����� ���
�������	
������ �����������	
�������
����	���� ���� � <76>7; � .� ������
� ������� ������	����	
� ������
��	� �	/��� �� ����� ��3� >V0��J��#�444$ ��E��
���	+��� ����������������� a� c � m � �� ��������� ����������������� ��
�����

�������	� ! # ��������� .�	���!	��� >�	���#�.>$�

U ← GCL
������X Q��������������� ����	
� �� ���������R
a ← 16807; c ← 1; m ← 2147483647 Q��������� *��U& <�����#�455$R
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X ← aX + c (mod m)
U ← X/m

�����3333�3333 �����������������������������������������	���������	���������	���������	�����

6����� � ����/��������	��������� !	����(x i) � (y i) �� 	
�����������,����
�����
��
����� ���
���� ������������
�	
��� ����� ����	
���� ��������� ���
�	
��� ����
��
����
�� ��� !	��� (zi)� 0��� ��� !	��� � ��
��� ���� �������

zi := x i ∗ y i ���� 1 ≤ i ≤ n,

�	�� ∗ �������	
�� 
�������	
�� ��� �������� �� ������ �����
��������� (mod m) ��
��	�� ��� ������ ��	���� (mod 2)�

�� �����/����LX � LY �� ���� ��� !	��� �����	����� ����������
����� �	
�� � ���/���
�� ��� !	��� �����	��� ���� LZ := LX × LY� W ��+��		 & ?���#�45@$ ���������� �
�����	���� �� 
�!� ��������� �� ��	���!	��� ��	��� �� ���/���� ���
�	
��
L1 ≈ L2 ≈ L3 ≈ 104, ���� � ��
�	��� �� ��
�� ������� �� ���/��� L ≈ 1012, ����
���
���� 	� ������
�� �����	
��

�������	� !)# ��������� .�	���!	��� >�	���.����	��� #�.>.$�

U ← GCLC
������X, Y, Z Q����������������� ����	
���� ���������R
aX ← 171
aY ← 172
aZ ← 170
mX ← 30269
mY ← 30307
mZ ← 30323
X ← aXX mod mX

Y ← aYY mod mY

Z ← aZZmod mZ

U ← X
mX

+ Y
mY

+ Z
mZ

U ← U − �U� Q
��	�� ���
� �	
����R

�����3333�8888 �������������������������������������������� ��	���!	�����	���!	�����	���!	�����	���!	��� �	������	������	������	������

)� ���� �����+�	
� �� ��������� ��	���!	��� ��	���� ������������� ��	���!	���
�	����� �����E�� ��� ��� !	��� (ui), � ���
���� ��� !	��� (x i), ��E�	�� ui := x i/m�
.��� 
���� �� (x i ) � ��
��� �� ����� ���������� ���� �������� ���0��+�	����&
>�+	#�45:$"

�9



x i := a x i−1 + c (mod m).

1���	�� �� ����� �%��/��
�� �� ������ ��� -��������
��#�448$"

x i := ai + c (mod m).

-������������� s ��	�
� � �	����� �� s, (mod m)� �� s � �� 	
���� �	
���� ����
����
s � � �����
����� s s ≡ 1(mod m)� *���%������ �� s = 5 � m = 7, �	
�� s = 3, ����
3 × 5 ≡ 1(mod 7)� 1 ������� s ���� ������������ �
������� ������
�� ��
�	���� ��
0������� ���� � <�%��� )������ .���� #<).$ �� s � m� �� m � ������ ����
<).(s, m) = 1, �%��
�� s � m 
������ s s + mm = 1�

0��� ������������� 
������������������#��	
��� �445$� 7 ���	�������	
���� �����

��� �� �������� ��� ��	
��
i := (ui, ui−1, ..., ui−d+1) ����	�+�� � ������ d,����	���	��
�� ���� � ���
��+�������	�� (d − 1),����	���	������� 	� ���� ��������������
��	���!	��� ��	���� 7 ���	����������	
���� � � 
���� t �� ������� �� �	������ ��
����� �� t ≈ logm.

�������	� !*# L	����� .�	����	
� #L.$!

s ← IC(s, m)

 ← (1, 0, m) Q
 � ��
���� 
�!������	
��u1 ← 1� u2 ← 0� u3 ← mR
� ← (0, 1, x)
q ← u3

v3

+ ← 
 − q�
�	���	
� s3 > 0


 ← �

� ← +

q ← u3
v3

+ ← 
 − q�
���
�� v2 > 0

s ← v2

��	��
s ← v2 + m

���

�������	� !,# ��������� .�	���!	��� L	����� #�.L$!

U ← GCI
������X Q��������������� ����	
� �� ���������R

��



a ← 16807
c ← 1
m ← 2147483647
X ← IC(X, m) Q������
�� ��C" L.R
X ← aX + c mod m
U ← X/m

�����3333�CCCC -������ �� .�/�
�����

)� ���� �����+�	
� �� ��������� ��	���!	��� ��	���� � ��������� (���	���������E
��� ��� !	��� �	������ (ui) � ���
���� ��� !	��� (x i) ��E�	�� ui := x i/m� 1 ≤ i ≤ n�
.��� 
���� x i � ��
��� � ���
���� �����	���� �� ����	�
����� �	
�������� ���
����� ��������� � � �����	
�"

x i = ckx i−k + ck−1x i−k+1 + ... + c1x i−1 (mod m). SSSS#���$

�� m � ������ ���� ����������� ����������	��� ��� � ����	G��� �����
���

P(z) = zk + c1zk−1 + ... + ck−1z + ck,

����� � ����� �� ������-(m) ����	��� ����� ���	
����� 0, 1, ..., m − 1 ��� ������ �
���
��������� ���������������� ������� mod m� 1 ����	G��� � ��
� ���	����� �� �

������
/���#	�� ���� �����
����� ����� -(m)$ � �� ��������� ���E��� � �����	
�
�����
��� �� ����� ��� mk �����	
�� #=	�
+� �445$� 7 6����� �� -
�����
�������	��� � ���� ����	G��� ��
������� ���� �� �����������k 
������� (x i) 	�� ���

����	����� � ����	G��� � �����
���� �	
�� � ���/��� �� ��� !	��� ����	��� ���#���$

�� ���/��� mk − 1 #��	
��� �445$�

7 ��
���
��� 
�� ��
����� ���� 
��� �� ���������� ����� �	
������� N������������
����� ������
��� �	������� m = 231 − 1� N�������� k ����� k = 5 #>V0��J�� �� �����
�443$ �
� k = 1279 #< �����	��� ����� �44C$ ����� ������
��� -���� 
�
��� ����� 
����
�� c i ��� 	����� �%��
� c1279 = c1063 = 1� �������	
�� �� ��������� k 
����� ��
��� !	��� (x i)� ������	
���� ���������� ��� ��
���������
�� �������� �� m = 2p� �
���/��� ����� ��������� 	� ��%���� (2k − 1)2p−1 #;��	
� �448$� ����	�� � ��	�����
���� �� <76>7; #������ C$� ��� ��	��� rand �
���E� �� ������������ 
��� ���
k = 35 � ���/��� 21492� =	�
+ #�445$ ����F� k = 55� ��� 
������ c i 	����� �%��
�
c55 = c24 = 1 � m = 231 − 1� 1 ������
�� ����%� �������	
� � �����
�� �� =	�
+�

�������	� !0# ��������� (���	����#�($!

U ← GF
������X Q��������������� ��� !	��� ��� 55 
�����x1, x2, ..., x55R

��



������j Q��������������� �	������E��� ��� j := 24R
������k Q��������������� �	������E��� ��� k := 55R
m ← 2147483647
Xk ← X j + Xk mod m
U ← Xk/m
j ← j − 1
�� j = 0

j ← 55
���
k ← k − 1
�� k = 0

k ← 55
���

7 ����������� x i := x i−jx i−k (mod m), ��� i > k > j, ���������
� ��� <��������
#�45C$� 0��� �������������	
� ���/��� 2k−12p−3, ��� � 1/4 �� ��������	��	
� �������
���
���� -� �	
�	
�� ����������	+� 	��
��
����
�
/�
���������	�������� ���������

�����3333�:::: ������������������������������������ ���������	
����������	
����������	
����������	
� �������� �����
�������
�������
�������
���

-� ������� �� )��������	
� �� B����
��� ������
� �	�������	
� ��� 6���D��
+�
#�4:C$ � ��	�����E��� ���>�D��& *�J	� #�4@3$� ��� ��� !	��� �	������ (ui) � ��
���
� ���
���� ��	�������� �� ��� �������	
���� ��	���� #�����
�� �����
����	��$�

L	�������	
� � ������ ��� ��� !	��� (bj ) := (b1, b2, ..., bm) �� �/��
�� ��	�����
������,����
����� ��� ���
�������� �	������� ��
� �� ��� �������������
P(bj = 0) = P(bj = 1) = 0.5� 1 ≤ j ≤ m � .��� 
���� �� (bj ) � ��
��� � ���
���� ���
������� �� ������!	��� �����+�	
� K #���$

bi = ckbi−k + ck−1bi−k+1 + ... + c1bi−1 (mod 2).

�� ����������	
��c i ��� ���� �� ����	G��� �����
��� (mod 2), �	
�� � ��� !	��� (bj )

�� ���/��� ��%����2k − 1� *��� ���+����� �����!	��� �����
����	��� ���� c i ����
�������	
�� �����+���� ����������	
���� �� 
��	G��� �����
��� (mod 2) ����� ���
�%������ P(z) = z4 + z + 1� 7����� � ������!	��� ���� ���� ������� ���
bi = bi−4 + bi−1 (mod 2)� 2�� ���
� �� ����	G���� �����
���� (mod 2) ��� � ��	��
	
���� �� 
������ ���� k ≤ 168 � ���� �� �
�+	U� #�4@3$� 1�
�� ���
� ��� 
������
����	G���������
������� ���� k ≤ 10 � ���� �� *������ ����#�44�$�

.��� 
���� �� (ui ) � ��
��� � ���
���� ��� ������ !	��� �� k 
�������	����
������
(bi ),

�3



ui := (0.bibi+1...bi+k−1 )2.

0��� �������� �� �������	
��� �� ������ �� �����	�� � �%������	����	
� �������
��� ��E ��� ����	�F���� ���������	
� �� �����
�� ��E�� ���
� �� ��	'�	
� ��
�	�
���F������������������� *���%������ �� k = 4� (c i ) = (1, 0, 0, 1), �����������4

������� (bi ) ��� 1, 0, 1, 0� *��� ��
��� ������
� ����� ��
!�,�� ��������
�������
(bi )"

b5 = c1b1 + c2b2 + c3b3 + c4b4 (mod 2) = 1 × 1 + 0 × 0 + 0 × 1 + 1 × 0 (mod 2) = 1,

b6 = c1b2 + c2b3 + c3b4 + c4b5 (mod 2) = 1 × 0 + 0 × 1 + 0 × 0 + 1 × 1 (mod 2) = 1,

b7 = c1b3 + c2b4 + c3b5 + c4b6 (mod 2) = 1 × 1 + 0 × 0 + 0 × 1 + 1 × 1 (mod 2) = 0,

b8 = c1b4 + c2b5 + c3b6 + c4b7 (mod 2) = 1 × 0 + 0 × 1 + 0 × 1 + 1 × 0 (mod 2) = 0,

�

�����
�	�� �� 24 − 1 = 15 ��������� 
����� ��
(bi ) = (1, 0, 1, 0, 1, 1, 0, 0, 1, 0, 0, 0, 1, 1, 1, ....), �	
���� ����
����,��� 7����� �� ���������

������� ��� !	��� (ui ) ���

u1 = 0.10102 = 0.6250,

u2 = 0.01012 = 0.3125,

u3 = 0.10112 = 0.6875,

u4 = 0.01102 = 0.3750,

�

0� ��� �������	
���� �����
����	��� ���/��
����	������� (c i) � (bi) ����� ���
����E�	����� ������
�����	
�� �� ��� ��	�
�	
� c #	� �%������
c = 0.10012 = 0.5625$ � 	� 
�
��� 
���� �� (ui )� 1 ������
�� ������
� ����%� ��� ����

��	����

�������	� !1# ��������� )��������	
� �� B����
�� #�)B$!

U ← GDR
Q�	������E����R

������U Q��������������� ����	
� �� ���������� ������	
� ��
E���R
c ← 0.31415926535898
tc ← c
tu ← U

�8



bitt ← 0
bitv ← 1
Q��
����	���� �� ���%��� ��
R
�	���	
� tc > 0 �� tu > 0

tc ← 2tc

�� tc ≥ 1
bitc ← 1
tc ← tc − bitc

��	��
bitc ← 0

���
tu ← 2tu

�� tu ≥ 1
bitu ← 1
tu ← tu − bitu

��	��
bitu ← 0

���
bitt ← (bitc + bitc × bitt) mod 2
bitv ← bitv/2

���
Q���������	
� �� ��
R
U ← 2U
�� U ≥ 1

U ← U − 1
���
U ← U + bitt × bitv

>V0��J��#�44:$ ��
���� � �����	���� #���� ���
� 	� �������� ��3�3$ �� ���������
����� 
��� ���� �������� 	��� ��������� ���/��� ������

�C



���� �������	
�������	
�������	
�������	
 �������� 
����
���
����
���
����
���
����
��������������������������������������������
��
��
��
�
������������������������������������������������������������ ��
������������
������������
������������
���������� ����������������������������������������
�
��������
��������
��������
��������
� �������	
 �� ��� 
����
�� ��������� X �
� �������� ���
 �� ����������	
 ��
��
���������� � ����� � �������� ������
����	
 �� ��� 
����
����������� ����
��� U�
����� �������
� �	
 ��������� �� ��������  �������� ���� �������	
 �� 
����
���
���������� �
� ����������	
 �������� !���	
 ��"# � �
������ !���	
 ���#� ����� �	

����������� ���������������� �������	
 �� 
����
��� �����������
� �������������
������������ $%�
�������� �
����� !���	
 ��&#�

�����'''' (������������(������������(������������(�������������������������������������������������

)�� 
����
����������� X � ���� �������� ������ �����
 ������ n 
��
���x1, x2, ..., xn

�
� ����
�����������pi := P(X = x i)� 1 ≤ i ≤ n, �������*���
 �i=1
n pi = 1�

�����''''�'''' +��
+��
+��
+��
  ���� ���� ���� ����!����������	
����������	
����������	
����������	
  ������� ������� ������� �������#�

)� �� 
����
 ���� � �������	
 �� ��� 
����
�� �������� �
� ����������	
 ��
��
���������� ���������
�� �
����� 
 �� ����� ��
����,

	�
���� �
�
 ���� � := (q0, q1, q2, q3, ..., qn) ��� q0 := 0� q1 := q0 + p1� q2 := q1 + p2�

q3 := q2 + p3� ...� qn := qn−1 + pn = 1, � 	�
����
�������������
������
�	�
�� X� ��
U � ��� 	����	������
���� ��������� ��
�� pi = P(qi−1 ≤ U < qi)� 1 ≤ i ≤ n�

���
�������

 +
�
 U � ����
�������� ����������� �
 �����
��
 [0; 1], �

��
���������� P(qi−1 ≤ U < qi) � ���� �
�P(qi−1 ≤ U < qi) = �q i−1

q i 1dt = qi − qi−1 = pi� �

- �� 
����
 �� ����� ������ ��� �%����	
 �� 
����
����������� ����
��� I, ���
������ ����
��
����� {1, 2, ..., n} �
� ��
�����������P(I = 1) = p1� P(I = 2) = p2� ...�
P(I = n) = pn�

���
����
�
�� .����
��
� (���������	
 (������� .������� !((.#�

I ← DDG(p)
U ← GU / ����
�����
���0
I ← 1 /�
����
�0
q ← pI /��������

0
�������
 U > q

I ← I + 1 /���%��
 �����
��
0
q ← q + pI

"1



���

2 ������������ �
��� ��� ����� �� 
����
 
 �3���
 T �� �%������� �
 ���
 �
����������
 ���
 
��
� �� ��
����������� � := (p1, p2, ..., pn), 
��� p1 = P(T = 0)�
p2 = P(T = 1)� ���� pn = P(T = n − 1)� ������ 
 �3���
 ����
 �T� �� �%����	
 �
 ���
 �
���
 �
��T� = �i=1

n (i − 1)pi� 4
�����
� �T� �
�� ���������*��
 �� p �
�
������
 ��
�
��� ������������ 4
� �%����
� �� � = (0.1, 0.2, 0.3, 0.4)� ���5�� �T� = 2� �������

���� �� � := (0.4, 0.3, 0.2, 0.1)� ���5�� �T� = 1�

� 6����� ��' �
���� �� ����78����� 
������ � ��������� �� �������	
 �� 1000
�%��������� 
����
��I ��� ������ 
�
��
���1, 2, 3, 4, �
� ��
�������������������
��
0.1, 0.2, 0.3, 0.4�

I 9���� -����� 9���� $�������

1 81 100

2 215 200

3 299 300

4 405 400

6����� ��', �������	
 �� 1000 �%��������� 
����
��I�

�����''''�"""" +��
+��
+��
+��
 ����������������������������������������!����������	
����������	
����������	
����������	
 ����
�������
�������
�������
���#�

)� ���
 ������������ ����������	
 �������� ����� � 
 �� 
����
����������� X ���������
��� ������ 
� 
��
��� 1, 2, 3, ..., n �
� ��
����������� � ����, P(X = 1) =
P(X = 2) =, ..., = P(X = n) = 1

n � � �������	
 �� ��� 
����
��X �
� ���� ����������	
 �

��������: ����� ��*��

X = 1 + �nU�. ;;;;!��'#

	�
���� �
�
 � 	����	��X ��������� ��� ����� �

��� �
 	�����
 1, 2, 3, ..., n ���

�������������
�����
�

���
�������

 � 
����
�� U � ����
�������� ����������� �
 �����
��
 [0; 1)� $
������ nU � ����
�������� ����������� �
 �����
��
 [0; n)� (���� �
�
� �nU� ������

�
��
���0, 1, 2, ..., n − 1 �
� � ������
������������� �
�����
� X = 1 + �nU� ������

�
��
���1, 2, 3, ..., n �
� � ������
������������ �

- �� 
����
 ���
������ �
 6�
���� ��" � �%���������� �������� ��� ���
�������
�
�������� 
����
���������������� 
�
���� �
�  ����� ����78����� �
�
 
 ��������


"<



�
 ���������
 �� �� ���
 =
�
 8��
� �
� �%����
� >����� ��� �� ��� ��
��
 �����	
 �
����� �
������
� ���� ���������� ����������� �
�
 � ��� �� �� +�
�
� � �
���� random(n)� � 
 >�4?$� �
� � �
���� rand(1..n)�

- �� 
����
 �� ����� ������ ��� �%����	
 �� 
����
����������� X ��� ������ 
�

��
���1, 2, 3, ..., n �
� � ������
�����������,

���
����
�
�� .����
��
� (���������	
 (������� )���
��� !(()#�

X ← DDU(n)
X = 1 + �n × GU�

� 6����� ��" �
���� ������78�����
������� ����������� �������	
 �� 600 �%�������
�� 
����
��X ��� ������ 
�
��
���1, 2, 3, 4, 5, 6 �
� � ������
������������ �
�
 ���
���
 =
�
 8��
� �����
 
 �� 
����
 (()�

X 9���� -����� 9���� $�������

1 89 100

2 104 100

3 106 100

4 96 100

5 96 100

6 109 100

6����� ��", �������	
 �� �� ���
 =
�
 8��
�

�����"""" (������������(������������(������������(�������������
��������
��������
��������
������� �������� �������� �������� ���������

��@� X ��� 
����
����������� �
������� ��@
�
��
����
���� 
 �����
��
 [a; b]� �
����
 ��� ����	
 ��������� �� ��
���������� f� � ����	
 f � �	
5�� ���
� �� [a; b] �
���� �
�� ����� �����
��
� � 94+ �� X� F : (−∞; ∞) → [0; 1], ���� �
�

F(x) := P(X ≤ x),

��� ����
���������

F(x) = �−∞

x
f(t)dt =

0, �� x ≤ a,

p, �
� 0 ≤ p ≤ 1, �� a ≤ x ≤ b,

1, �� b ≤ x.

;;;;!��"#
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$%����� �
�����
�
� ������
����� � �������	
 �� 
����
�������� ���
 ��� �	

��������������� �������� �	
 ���� �������
�, 
 ���
�
 �� ��
���	
 � 
 ���
�
 ��
�������	
5��@���	
 !B���=� 'CCA: .������ 'CCA#� ����������� ��� ���� 
	
 ����������
�
��� ����������������� 
 ���
 �� ��� 
 �����
��
 �� 
��
����� X � (−∞; ∞) �� 
�*
�� [a; b]�

�����""""�'''' > ��
�
> ��
�
> ��
�
> ��
�
 �������� ��
���	
��
���	
��
���	
��
���	
�

� ������� �
 ���
�
 �� ��
���	
 �
������ �� �������� 
����
����������� X �
� 94+
F �������� 
 ��
 �� 
����
����������� ����
��� U� � � ��
���	
 �� F,

Y := F−1 � U. ;;;;!���#

4��� ��
�����F ��
����5�� �����, �
�
 F � ������������ ��������� �
 �����
��
 [a; b] �
F([a; b]) = [0; 1]� ������5�� F−1 : (−∞; ∞) → [0; 1] �� ������� ������
 �����
��
 [0; 1]:
�� u < 0� ���5�� F−1(u) := F−1(0) = a �� �� 1 < u� ���5�� F−1(u) := F−1(1) = b�

	�
���� �
�
 � 	����	������
���� �������� �� ����� 
��  !" f� �

� �� �  !" �� Y �
������  !" �� X�

���
�������

 � ���
������	
 � ���
���� D���� 
����
�����

P(Y ≤ y) = P(F−1(U) ≤ y) = P(X ≤ y) = �−∞

y
f(t)dt.

� � ������� �
 ���
 
�� �� ���� �� u � x �	
 ������� x = F−1(u)� ���	


F−1 � U(u) = F−1(u) = x. �

"C



9� ��� ��', - ���
�
 �� ��
���	
, X = p−1(U).

� 9� ��� ��' �
����  �
������������ � 
�����	
 �� X � �������� U�

- �� 
����
 ���� 
�������� ����������	
 � �������
� � ����	
 F−1 ��
� ����������
�
�
 �� �����
�

���
����
�
�� .����
��
� (���������	
 +
������ ���
 ���
�
 �� E�
���	
 !(+E#�

X ← DCI(F−1)
U ← GU / ����
�����
���0
X ← F−1(U)

��@�� �
� �%����
� � 
����
����������� X �
� 9(4 f(x) = 2x� x ∈ [0; 1]� � 94+ F
�
�����
������ � ���� �
�

F(x) = �−∞

x
f(t)dt =

0, x < 0

x2, x ∈ [0; 1]
1, x > 1.

$��� 94+ � ���������� ��
������� �� �
�
 ��� � ����� ����������� ������� ��
��
���	
 � x = F−1(u) = u � u ∈ [0; 1]. 4��� ����������� 
����
��� ����� ����������
�%����	
 �� U �
��� .) � ��*��x := u � � 6����� ��� �
���� ������78�����
������
� ����������� �������	
 �� 1000 �%��������� 
����
��X�

�F



E����
��
 9���� -����� 9����$�������

[0.0; 0.1) 7 10

[0.1; 0.2) 26 30

[0.2; 0.3) 41 50

[0.3; 0.4) 66 70

[0.4; 0.5) 101 90

[0.5; 0.6) 117 110

[0.6; 0.7) 126 130

[0.7; 0.8) 156 150

[0.8; 0.9) 167 170

[0.9; 1.0] 193 190

6����� ���, �������	
 �� 
����
��X �
� 9(4 f ���� �
�
f(x) = 2x�

$��� ���
�
 ��������� ��� ���
���� �� ���
������� $��
�� ��@�  ��������� �
��

������=
�
 
���� � 94+ F � ������ �� 9(4 f� �
�� ��� �������� 
� ��� ����

���
���
��� 
������ �
��� ��������� ��� ������� �%������� ���� ��� ��
���� F−1� 4
�
�%����
� � 94+ �
��������
��*��� F� ���� �
�

F(x) = 1
2π �−∞

x
e

− t2

2 dt,

�	
 �
�� ��� �%������ �� ����
� �� ������� ������������ �
����
 ���� 
��
���
�
����� ����� ��������
��������������� ����� ���
� �	
 �� �
�� 
������� �������
�%������� ���� x := F−1(u), ��������� �����������
%�������
�������
���	
�

$� ���
��
�
 ����� �
�� ��� ��
����=�
��� ���
���	
 �������� �� u = F(x) �
�
�� ��� ������� �
�
� �
��%����
� � �� ��G�
�5H��=�
�, 
 
��
��� x � ����������

�������
������ �
�
 
 ������ �� ���78���� (x i) ���� �
�

x i = x i−1 − F(x i−1) − u
f(x i−1) .

�����""""�"""" > ��
�
> ��
�
> ��
�
> ��
�
 �������� �������	
�������	
�������	
�������	
5��@���	
��@���	
��@���	
��@���	
�

�� ���
 �
�
�!'CA�#� � 
�� �� �
 ���
�
 �� �������	
5��@���	
 � ��
��� � I� 

�
�������� $�� �
������ �� ���������� ���78���� �� �%��������� 
����
����������� X
�
� 9(4 f ����@���� ��������
 �� �������
�����%��������� ��� 
����
�����������

�'



Z �
� ��� 9(4 g� �
� ���� �
 �� ����� ��
����,

	�
���� �
�
 ����� f � g ���
 !"� ���� �� ���#�� 
���� g > 0, � g� ���
$��� ��

[a; b]. ���� (ui ) = (u1, u2, ..., um ) ��� 
�%&'���� �� m �(
��)*�
 �� 	����	������
����

�������� U. ���� (zi ) = (z1, z2, ..., zm ) ��� 
�%&'���� �� m �(
��)*�
 �� 	����	��

����
���� Z, ����������
� �� U, ���  !" g� ���� c ���

��
� ��
�
�	� 
��%��
cg(t) ≥ f(t) ���� 
��� t �� [a; b]� �� � 
�%&'���� (x i ) := (x1, x2, ...xn ) �� n �(
��)*�
 ��

	����	������
���� X � ��
��� ����
���� �

����
�� 
�%&'���� (zi ) %�� 
�
�
��+��
uicg(zi) < f(zi) ���� 1 ≤ i ≤ m, � �����
���� �
�����
� ��
��
��� �  !" �� X � f,

���� � ������������� ����� �� ����
�)�� ��

����
�� 
�%&'���� (zi ) � 1
c �

���
�������

 +
��������5�� 
����
�������������S � T ������� (s, t) := (z, ucg(z))� -�
�
��
�(s, t) ���	
 �
����*��
��� �� �	
 {(s, t) � a ≤ s ≤ b, 0 ≤ t ≤ cg(s)} !�� �	
 �
� 

 �����
 �� cg#� � 9(4 �
�@���� �� U � Z � fU,Z = 1 � g(z)� (� ��
��
 �
� 
 �%�
��
 ��
������	
 ����' !����%
#� � 9(4 �
�@���� �� S � T �

fS,T = 1
∂(s, t)
∂(u, z)

fU,Z.

>��

∂(s, t)
∂(u, z) =

∂s
∂u

∂s
∂z

∂t
∂u

∂t
∂z

=
0 1

cg(z) ucg�(z)
= −cg(z).

������ fS,T = 1
c � �
�������� 4
�����
� � 
����
����������� (S, T) ��� ����������	


����
��� �� �� �	
 �
� 
  �����
 �� cg� ����� ����
� �������zi ������ uicg(zi) ≤ f(zi)
����
��� � ������� zi �
�
 ����
 �� (x i) �� � �
����� �� 
 �
��
 (si, ti) �������� J
�� �	
 {(s, t) � a ≤ s ≤ b, 0 ≤ t ≤ f(s)} !�� �	
 �
� 
  �����
 �� f#� ?
 
� �
��
���������� PA �� �������	
 �
�����
��� ���78���� (zi) �
�
 ����
��� ���78����
(x i) � � ���J ��*	
 ����� � ���� �
�
  �����
 �� cg � � ���� �
�
  �����
 �� f,

PA = �a
b f(t)dt

�a
b cg(t)dt

= 1
c ,


 ��� ���
����� !��#�

4��� ��������s �� [a; b], � ��
���������� P(a < X < s) � � ���J ��*	
 ����� �������
����� ����{(x, t) � a ≤ x ≤ s, 0 ≤ t ≤ f(x)} � {(x, t) � a ≤ x ≤ b, 0 ≤ t ≤ f(x)}, ���
 ��

�"



P(X < s) = P(a < X < s) = �a
s f(t)dt

�a
b f(t)dt

= �a

s
f(t)dt = �−∞

s
f(t)dt

��� �
���� !�#��

� 9� ��� ��" �
�����  �
������������� ���� ��������
�

9� ��� ��", - ���
�
 �� �������	
5��@���	
�

� @����������
� ����� ���
�
 �
������ �� ����
���
������������ 
����
����������� Z
�� �
�
 �����������!�
�� �
��%����
� 
 ���
�
 �� ��
���	
# �
 ��� ��������

����
����������� X ������������ � 9(4 g ��
� ��������� � �
������� c ��@� 
 ����
���%��
 �
���
���� 1� (���� �
�
� ������*�5�� � ���������� �� ����
���@�����
��
�
 �� 
����
 �� ������ GZ � ��� �
���� ��� ��
� ���������� ���
 ������
� ��� �
�����
Z �
� � 9(4 g ����@����

���
����
 �
�� .����
� �
� (���������	
 +
������ ���
 ���
�
 ��

�������	
5H�@���	
 !(+�H#�

X ← DCAR(f, g, c, GZ)
Z ← GZ / ����
��� ���78���� Z0
�������
 GU × c × g(Z) > f(Z) /��� �� Z �
���@�����
0

Z ← GZ / ����
��� ���78���� Z0
���
X ← Z

��



4
��%����
� ����@�5�� �������� 
����
��X �
� 9(4 f ���� �
�

f(x) =
4xe−2x, x ≥ 0

0, x < 0,

!����������	
  ���#� �����
 
 ���
�
 �� �������	
5��@���	
� $��
�� f ����@� ��������
�
 �����
��
 [−∞; ∞)� � �
���
��� ���� ���� �%����
� ����
��������
��
����� X < 0
!�
��F(x) = 0, �� x < 0# � ������ X > 5 !�
�� F(x) > 0.9995, �� x > 5#� (���� �
�
�
�
��5�� 
����X � �������� 
���� 
����
��Z �
� 9(4 g ���������� �
�

g(x) =

0, x < 0
2
5 1 − 1

5 x , x ∈ [0; 5]

0, x > 5,

��� �
�� ���
����� ���
 ���
�
 �� ��
���	
� ��*���
 Z = 5 1 − U � 
��� U � �


����
�� ��������� ����
�������� ����������� �
 �����
��
 [0; 1]� 9�*���
 c = 2.1,
���5�� cg(x) > f(x)� ���� �
�
 0 ≤ x ≤ 5, �
�
 �
���� � 9� ��� ����

9� ��� ���, - ���
�
 �� �������	
5��@���	
 ���� X �
� 9(4
f(x) = 4xe−2x�

� 6����� ��& �
���� �� ����78����� 
������ � ��������� �� �������	
 �� 1000

�&



�%������� �� 
����
��X� �
��5�� ���� ���� � �������	
 �� n = 1000 �%������� ��

����
��X, ������5�� ������������
 �������m = cn = 2.1 × 1000 = 2100 �%���������

����
��Z� �
 �%����
� �����
�5�� � �%����	
 �� m = 2142 
��
����� Z�

E����
��
 9���� -����� 9���� $�������

[0; 1) 599 594

[1; 2) 305 314

[2; 3) 81 74

[3; 4) 11 4

[4; 5] 4 3

6����� ��&, �������	
 �� 
����
��X �
� 9(4 f ���� �
�
f(x) = 4xe−2x.

�� ��� 9(4 f : [a; b]→ ℜ ��� ��� �� f([a; b]) = [0; h] ���� �� �� h > 0, � �
���
��
������������ 9(4 g �
�����
5� ����
�������� ����������� �
 �����
��
 [a; b], ���
 ��
�
����
 g(x) = 1

b − a
� $��� �����������	
 ��������� �� �� �3���
 �� �%��������� Z

 ��������� ���� ���
��
� �
�� c = H(b − a)� -���� 
�����	
 �� ������� �
������ ��
�������
���
 �����
��
 [a; b] �� n ��������
��
����
���� �������g �
��� ����
���
���� ��������������
��
�� E��
 �
�� ����*���� ��������
������ 
 �3���
 �� �%�������
�� Z !�����
G��*& ��� ��� 'C<F#�

�����""""����� -�����-�����-�����-��������������������������������������

�����������
����������������������
����	
 �� �������	
  �������� �
 ������
�
��
��
 J� ��
��������� ����������� �� ���� ����������	
 �� ��
����������� �
��5��
�������
����
��������������
� �� 
����
����������
��

��@�� �
� �%����
� � 
����
����������� X �� 9(4 f ���� �
� f(x) := 2x� x ∈ [0; 1]�
�
�
 �
 �%����
 �� ������	
 ��"�'� 4
��5�� �������� 
����
��X �
�

X := max{U1, U2}, ;;;;!��&#


��� U1, U2 �	
 
����
�����������������
�����������������. K�������5�� ���
 � ������
�
 �� ����� �� �����
, ��@� � := (U1, U2 ) ����
�������� ����������� �� �� �	

Q := [0; 1]×[0; 1]� ��@� Qx := [0; x]×[0; x] ��� ���5�� �	
 ����� ���� �� Q� �
��
���������� P(� ∈ Qx) = x2, ��� � � ���� P(max{U1, U2} ≤ x)=P(X ≤ x) = �0

x f(t)dt�

������ �� �0
x f(t)dt = x2� f(x) = 2x� �����
 x ∈ [0; 1].

��������� (������������(������������(������������(������������d5�������
�����������
�����������
�����������
�����

�L



�� X1, X2, ..., Xd �	
 
����
��� ���������� ������������� �
� 9(4 f1, f2, ..., fd,
��������
������� ���	
 ������5�� � := (X1, X2, ..., Xd) �
�
 ��� 
����
�� ���������
d5�������
����
� 9(4 �
�@���� f := f1f2...fd� +
�
 � 
����
��� ��� �
��
������
�������������� �
�� ����������� ����
���� �������	
 ������������ ���
����
���
X1, X2, ..., Xd ����� �������� ��������� ������
������� �
� ���
� �� ��� ���
 �	
 �
�
���
��� �%����� ���������� �������	
 ������������

����������'''' > ��
�
> ��
�
> ��
�
> ��
�
 �������� ������
����	
������
����	
������
����	
������
����	
�

�
 ���
 ���
����
��� d5�������
����� 
��� �� ��������
 ������������ !M
���
�����
'C<': 4���� �
 ����� 'CC"#� �� � := (Y1, Y2, ..., Yd) � 
����
����������� d5�������
���
�������� �� ����
��� � := (X1, X2, ..., Xd) �
��� �
�@���
 �� ������
�������

Y1 := h1(X1, X2, ..., Xd), Y2 := h2(X1, X2, ..., Xd), ..., Yd := hd(X1, X2, ..., Xd),

���	
 � 9(4 �
�@���� g �� � � ���� �
�

g = 1
∂(Y1, Y2, ..., Yd)
∂(X1, X2, ..., Xd)

f,


��� f � � 9(4 �
�@���� �� �� �

∂(Y1, Y2, ..., Yd)
∂(X1, X2, ..., Xd) =

∂Y1
∂X1

∂Y1
∂X2

... ∂Y1
∂Xd

∂Y2
∂X1

∂Y2
∂X2

... ∂Y2
∂Xd

... ... ... ...
∂Yd
∂X1

∂Yd
∂X2

... ∂Yd
∂Xd

,

� 
 ������������ ���
 ���
�� � �� �����	
 � �� E��
� � ����
� �����
 =�����������

�� ����������

����� ����
� � �
���
��
������� 
����
����������� � �
� 9(4 �
�@���� g � ������
�� 
���� 
����
����������� � �
� 9(4 �
�@���� f � �� �� �
�
������� �
�@���
 ��
������
�������h1, h2, ..., hd� ������� ��������������� ��@�� ������������ +
�
 �%����

����� �������� ������
�5�� � 
�����	
 �� 
����
��� ���������� �
� 9(4 �
�@����
�
�������
 ���
�
 �������
 �� ������	
 ��&�"�

����������"""" > ��
�
> ��
�
> ��
�
> ��
�
 �������� ��
���	
��
���	
��
���	
��
���	
�

- ���
�
 �� ��
���	
 ����������
���!������	
 ��"�'# �
�� �����������
 �� �� �����
�������, ���� 
������� 
����
����������� X �
� 9(4 f� � �������� ��� 
����
��

��������� ����
��� U, ��
�5�� ������������ ����	
 U := h(X) ������ dU
dX

= f(x). >��

� �
���	
 ����� �����	
 ������������ ���
����
�� h = F, ����
 F �������
� �� f�

�1



������ X � 
����� ���� ��
���	
 X = h−1(U) = F−1(U)�

�
 ���
 d5�������
���� ��
�5�� ���������� �� �
�@���
 �� ������
�������
U1 = h1(X1, X2, ..., Xd), U2 = h2(X1, X2, ..., Xd), ..., Ud = hd(X1, X2, ..., Xd) �������

∂(U1, U2, ..., Ud)
∂(X1, X2, ..., Xd) = f.

$� �� �� ����� �
���
���	
� 
����

X1 = h1
−1(U1, U2, ..., Ud), X2 = h2

−1(U1, U2, ..., Ud), ..., Xd = hd
−1(U1, U2, ..., Ud).

�������������� > ��
�
> ��
�
> ��
�
> ��
�
 �������� �������	
�������	
�������	
�������	
5��@���	
��@���	
��@���	
��@���	
�

- ���
�
 �� �������	
5��@���	
 ������ �
�� ��� ��������
 ���� 
 ���
 ���
������������� d5�������
���� ��������� ������ ����� ���
� � 
����
�� ���������
d5�������
���� �
� 9(4 �
�@���� f � 
����� � �������� 
����
������
��� U � ��
��� 
����
����������� d5�������
���! �
� 9(4 �
�@���� g� ������������ �� U� ��
�
�
 ��� cg(�) ≥ f(�) ���� �
�
 � �������
��� ���� �� ��� �
������� c > 0.

���
����
 �
"� .����
� �
� (���������	
 d5�������
��� ���
 ���
�
 ��

�������	
5H�@���	
 !(��H#�
[#]← DdAR(f, g, c)
$ ← g /$ � 
����
 �
� 9(4 g �
��� �� ���
�
0
�������
 GU � c � g($) > f(#)

$ ← g /�

� �%����	
� �� ��@���� � ��������0
���
# ← $
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���� �� ������
 ��������
 d5�������
���� +��� �
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 �i � �����
 �
�


�%����	
 �� 
����
��� �� f(�i+1) ≥ uf(�i) 
��� u � �%����	
 �� 
����
�����������

����
��� U� � 9(4 �� 
����
��� ���� ���	
 f� - �� 
����
 ����%
 ���������� �
������� �� > �����
���� ����� �� 
����
� f � ��� 9(4 d5�������
���� � �  �	
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 d5�������
������
 ���
�
 �� > ���
�
���
!(>> #�
[#]← DMM(f,�, , d,#)
/��������*��	
0
s ← (b − a)/4 /����
0
/��
���� ��0
Ok1 ← falso /��� 0
�������
 �	
 Ok1

/���
�=� �


 �
��
0
Ok2 ← falso /��� 0
�������
 �	
 Ok2

Ok2 ← verdadeiro
���� j ← 1 : d

nx j ← x j + sj(2GU − 1) /�


 �
��
0
�� nx j < aj -) nx j > bj /���������
 �� [�; ]0

Ok2 ← falso
����N

���
���

���
/�������	
5��@���	
 �� > ���
�
���0
�� f(�#)/f(#) ≥ GU /������O0

# ← �#

Ok1 ← verdadeiro
���
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�� �����
�����������  �������*������ $������ 
����
��	
 ����
��
� ����78���� ��
��� ����� ������ �� �� 
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��� �������	
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�����
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����������� X �
� 9(4 $%�
�������
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f(t) :=
1
µ e

− t
µ , t ≥ 0,

0, t < 0,
;;;;!��L#

�� 
��
�����
 µ � 
���P���� µ2, �
�� ����������� � �������� 
����
������
��� U
���� ������� �� ��
���	
,

u = �0

x
f(t)dt = 1 − e

− x
µ , x ≥ 0

0, x < 0.

?
 
 x = −µ ln(1 − u), �� u ∈ [0; 1] � x = 0 �� u ∉ [0; 1].

����� ���
 1 − u �
�� ��� ����������
 �
� u, �
�� �� 
����
��� ���������� U �
U� := 1 − U �
����� � ����� 9(4 ����
����

���
����
�
.� .����
��
� (���������	
 $%�
�������!($%�#�

X ← DExp(µ)
X = −µ ln(GU) /.),  ����
�����
���0

4
� ��� �%����� ������������� � ������� �� ��
���	
 �� ��

�
�������� � ����
�����*���� ���
�� �����

��*& ��� ��!'C<F# � B���=!'CCA# ����� 
��������������
��� �
���� 
 ��
 �� ����	
 �
 ��������� - �� 
����
 ��< �� �� ���8����� 
 �����*��

���� �
���� exprnd �
 
�����(stats �
 >�6?�D�

�����&&&&�"""" (���������	
(���������	
(���������	
(���������	
 �
�����
�����
�����
�����

4��� �������� 
����
����������� X �� 9(4 �
�����

f(t) := 1
σ 2π

e
−

(t − µ)2

2σ2 , ;;;;!��1#

�
� 
��
�����
 µ � ���
�
 ����	
 σ, ��*5��

X := µ + σY,


��� Y ������ ��� 9(4 �
����� ���
��
�����
 µ = 0 � ���
�
 ����	
 σ = 1� 4���

����� 
����
��Y, ���
���5�� J��� ���������������

	%����� �� �
�� /�����
 � ������� �� �
�� ������ �
������ �� ��������� �3���


�����
 �� �%�������(ui ) := (u1, u2, ..., un) �� 
����
������
��� U � �����
��

�C



zn :=
(u1 + u2 + ... + un ) − n

2
n

12

.

4��
 6�
���� �
 ?����� +������� �����
 ���
�
 �3���
 �� ������������� �
���
����� 9(4 �� 
����
��Z ���
%���5�� �� 9(4 �
������ 
����
��Y� -�����
� n

2
�

n
12

�	
 ���
����� �
����	
 ���� ��� 
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 � 
 ���
�
 ����	
 �� Z ��@�� 0 �

1� ��������
������ !�����
G��*& ��� ��� 'C<F: H��N����=��� 'CA'#� $��� ������� ��
�
�����
� ���
%������ � ��������� ����� � 9(4 �� Z � � 9(4 �
����������� J
������ ��� n �������� � 
����
��Z ������ 
��
����
 �����
��
 ��������
 [−a; a];
������ � ��
���������� pZ := P[(Z < −a) ∪ (a < Z)] �� 
����
��Z �������
��
����
��
����� �����
��
 � *��
� �������
 ��� � ��
���������� pY := P[(Y < −a) ∪ (a < Y)] �	
 �
*��
� 4��� n = 12� 
 �����
��
 �� Z � [−6; 6] � pY = 1.97 × 10−9; ���� n = 24� 

�����
��
 �� Z � [−6 2 ; 6 2 ] � pY = 2.15 × 10 −17 � ��� �	
 ���
%���������*
�
���� �

������
� ���� ���
�
 � �������� ����
 �� �
������	
 �
� 
��������

	%����� �� ��������
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 *�� ������ 3���
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�������
 � ������� ��

�������	
5��@���	
 
�� ����������	
 $%�
������������� � 
����
��Y �� 9(4 �
����
!��1# � �������� 
���� 
����
��Z �� 9(4 $%�
�������!��L#� ����� ���
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���
�
������� �� ��@
���	
 � c = e1/2/ 2π � E������������ ������5�� ��� �%����	
 z ��

����
����������� Z ����
���� ������� �� ��
���	


z = − ln(u1),


��� u1 � ��� �%����	
 �� 
����
������
���� $� �� ���� ������5�� z �� � �
����� ��

u2cg(z) < f(z).

����� ����
� � �
������	
 �
�� ���������������,

u2 < e
−

(z − 1)2

2
.

� 
��� 
�
��
����� z �����
��8� 
��
����������
����

�!�����

��*& ��� ���
'C<F#� $��	
� ��*���


y :=
z, �� u3 ≥ 0.5,

−z, �� u3 < 0.5,

&F




��8�5�� 
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����
����

�� �� ���

��

	%����� �� 	����/
�����
 4
���
 � ������� ���
������ ������
����	
 �
���� ��

���
�
 �������� ���������� ��
�
��
 �
�D
% �
���� !'CLA#� (����%�������y1 � y2

!�������������# �� 
����
��Y �	
 �������������������� � �������� �����%�������u1

� u2 �� 
����
������
��� U, ��*���


y1 := −2 ln u1 sin(2πu2),

y2 := −2 ln u1 cos(2πu2).

(� ��
��
 �
� 
 �%�
��
 �� ������	
 ����'� y1 � y2 �	
 
�������
���
���	
 ��

u1 = e− y1
2+y2

2 /2,

u2 = 1
2π arctan y2

y1

� �������*��

∂u1
∂y1

∂u1
∂y2

∂u2
∂y1

∂u2
∂y2

= − 1
2π

e−y1
2/2 1

2π
e−y2

2/2

- �� 
����
 �� ����� ���������� ���� ��������

���
����
�
5� .����
��
� (���������	
 �
����!(�
����#�

(x1, x2 ) ← DNormal(µ, σ)
u1 ← GU
u2 ← GU
y1 ← −2 ln u1 sin(2πu2)
y2 ← −2 ln u1 cos(2πu2)
x1 ← µ + σy1

x2 ← µ + σy2

	%����� �� -�*����

 � ������� �� ��
���	
 ��������  ���������� �	
 �� �
����

���������� �
��������� ��
���	
 ��

u(x) := �−∞

x 1
σ 2π

e
−

(t − µ)2

2σ2 dt,
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����

stats[random, normald] (n, ’default’, ’inverse’) �����*� ���� ������
���	
�
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 ���������� ���	�
�� ��
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������ �
��
��� �
�� ����� �	�
�
��

I := �a

b
f(x)dx

�� ��	��� f : [a; b]→ ℜ � ���������" �
 ��
�� ��
�������" �
�� ��������� �� ��	��� f

� �� 	#�

� ��	��� �
 ��	���	� �	�

���� [a; b]� � ��
�� �

���
��� ��
�������� �

I = Q + E,

�	�
 Q � ���� ���������� �
 f 
 �
	��� � ����
��
������� �
 I� � ����
E �
	��� �
������������������� ��
��������" � ���
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 ����
���
�����
���
�����
���
�����
���
��

���������
������������ ��� �

���
	�
 
��
��������

Q = �
i=0

m

wif(x i), &&&&'���(

�	�
 ��x i ��� a ≤ x0 < x1 < x2 < ... < xm ≤ b ��� �
	���	��������
�� ����
���
� 

��wi ��� �
	���	������
�
�� ����
���
��

�� 	���� ���
� �

 
����)���� �
 �*
��� ������ +
 ��� ������
	�
 
��������" �
��������
 '���( � �
	���	��� �%
���� �
 ����
���
� �
 �����������
� +
 x0 = a 

xm = b" 
	��� � �%
���� � �)����� �
 ����
���
� �
 �����������
��������

,� ���� �� ����
���
� �
 ,
-��	!���
��
�)���" �
 ��	������

� 
����)��������
�
	�� x i = a + ih" i = 0, ..., m" ��� h := (b − a)/m, 
	��� �� �
��� wi �� ����
���
�
���
� �

��������
�� �
���	�
 ����
�� �
 
����.
�' ����" �//0(1
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w0 + w1 + w2 + ... + wm = mh

w1 + 2w2 + 3w3 + ... + mwm = m2h
2

w1 + 22w2 + 32w3 + ... + m2wm = m3h
3

...

w1 + 2mw2 + 3mw3 + ... + mmwm = mm+1h
m + 1

.

&&&&'��3(

4�
� m = 1, 2, 3, 4" ���%
������
 ����
���
� �
 ,
-��	!���
��
	���	�����
 

�
�
�� ����	�
�" �
��
���/�" �
��
���/� 
 ��������" 

��
������
	�
"

Q1 = (b − a) 1
2 [f(x0) + f(x1)],

Q2 = (b − a) 1
6 [f(x0) + 4f(x1) + f(x2)],

Q3 = (b − a) 1
8 [f(x0) + 3f(x1) + 3f(x2) + f(x3)],

Q4 = (b − a) 1
90 [7f(x0) + 32f(x1) + 12f(x2) + 32f(x3) + 7f(x4)].

&&&&'��2(

+
 �� 	���� ��� 
����)���� ���� �� 5

�� �
 �
�

��	���� ����	6���� �
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" �)
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�" 9�����" 
���( � �%
���� � ���� ����
���
� �
 ���

'���)
-�"

�//3(� ,� ���� �� ����
���
� �
 :����!7
�
	�

" ���� ���m + 1 �
���wi ������ ��
m + 1 	���� x i ��� �	�%�	����� ,
��
 ���� �
 ����
���
� ���	��	�!�
 � ����� ��

������
	�� �	���
�
 ��� 	����" �
���
�	�� �����5�
 ���� ������5��.
�� 4�
� �
�
�

��	���� ���2m + 2 �	�%�	����" �
���
 	����" 
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!�
 ��
 � ����
���
� �
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���� ��
� �����������	6�����
 �
�� ��� 2m + 1 	� �	�

���� I �
 �
����	������
�
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���� �
 �	�

���� 	�� ������� �

�� �
 �
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" ���� � �	�

���� �

�	�
�
���� [a; b] ���
 �

�������� �
 ��
�� ���	=���� ���

 I� �����!�
 �� ����
��
�
�
�)�	�
 � '��3("

w0 + w1 + w2 + ... + wm = 2,

w0x0 + w1x1 + w2x2 + ... + wmxm = 0,

...

w0x0
i + w1x1

i + w2x2
i + ... + wmxm

i =
0 �
 i � =���
"

2
i+1 �
 i � ��
"

...

w0x0
2m+1 + w1x1

2m+1 + w2x2
2m+1 + ... + wmxm

2m+1 = 0,

��
 � 	��!��	
�
" �����

�
	�� ������� #	��� 
 ��� ��������
������������' ����&
>���	�-��5" �/?@(�

��



 
 ���� �

��" �� ��	;�	�� �
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 �
��� ���
 �

 �
�

��	��� ��
� ����
��	;�	�� �
 ����	6�����
����	���� +
;� (pn) ��� �
�AB	��� �
 ����	6�����
����	���
	�
����5����	�� �	�

���� [a; b], �
�

��	��� ��
��� ��	��� �
�� ω" ���

pn(x) = anxn + an−1xn−1 + ... + a1x + a0.

+
 x1, x2, ..., xn ��� ��5

���
 pn" 
	��� 
����
� ��	���	�
����������w1, w2, .., wn '�
���
�
 ����
���
�( ������


�a

b
ω(x)p(x)dx = w1p(x1) + w2p(x2) + ... + wnp(xn),

��
� ���� � ����	6��� p(x) �
 �
���
	�
�������� 2n − 1� ���
���wi ��� �������


wi = − an+1
an

1
pn+1(x i)pn

� (x i)
.

+
 f � � ��	��� �	�
�
�	��" 
��

�
	�� f(x) = ω(x)g(x)" 
	���

�a

b
f(x)dx = �a

b
ω(x)g(x)dx = Q + E,

���

Q = �
i=0

m

wig(x i). &&&&'���(
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 f ��
��� ��	��� ��	�=	�� 	�
�	�

���� [a; b], 
	��� 
����
 �
�� �
	���� ��	�� c ∈ [a; b] �����


�a

b
f(x)dx = (b − a)f(c).

� ����
f(c) � ����  ���� �	�
��� ��	��� f 	� �	�

���� [a; b] 'E����" �//2(�

� ��	�� 	��*�
�� ��
 �%
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� ��
��	�
�� �������
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E ≈ e := ±(b − a)
�f2 � − �f�2
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[f(x i)]2.
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f(ϕ) = �0

π
2 1 − sen2ϕ sen 2θ dθ.
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� ����
���
��	���
����" ����
����
 �����
 ��
������ ��
� ��� ��������� 	���
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�����
��
� ��
��%
�� �
 n ����

� 	� �	�

���� [0, π/2]� � C��
�� ��� ����
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�� ��� '��@("

������������ 


� e �
 ���
�� ��� '��?( 
 ��


��
�����E := f(π/4) − Q" ���	��!�

���


	�
�����

���
� n�
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5 1.27129939406883 0.06906655233864 +0.07934448697885

50 1.35632451479221 0.02025306452529 −0.00568063374453

500 1.35244080488016 0.00719312217385 −0.00179692383248

5000 1.34668017267048 0.00230408119149 +0.00396370837720
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���� �
 m ��	���" �
�

��	��!�
 ��	����x1, x2, ..., xm 
� [a; b] 
 ��	����
y1, y2, ..., ym 
� [c; d]" ���
	��

�[a;b]×[c;d]
f(x, y)dxdy ≈ Q = �

i=1

m

wifi(x i),

�	�


fi(x i) = �
j=1

m

wjf(x i, y j).
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 �����
 v �
���	)
����" ���
!�
 
	��	�
�
��� 

����
�
 �����
��
� W ��
 ��	�
	)� V, ��
 �
;� ����������
	�
 �����
��� 
 ��
 �
	)�
�����
 ��	)
����" ���� 

��.
� d!

��	����

�" ��
 
�
����� <	��� �
��	
!�

g : W → ℜ ��


g(+) =
f(+), �
 + ∈ V,

0, �
 + ∈ W − V,
&&&&'���I(
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�
���� �� 	#�
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 ��	���
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 � ��	��� �	�
�
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�
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� W, 
	��� � ����
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 � �	�
�
��� ��������� 
�����
	�
� <��� �������� ��
��� 
�
�" ����

��
 ����=�
�" ��
���� �
 ��� ������ �
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����� �� ��	��� �	�
�
�	�� 
 ����
� 

���� �
 �����
��
� W � ����
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�� �%"�& ,����	��������������������� � � �� %�-���� ��%.�
���� ������ �� )
� �

��	��� �� ����	����� ! d �����	
���� V := [a1; b1]×[a2; b2]×... × [ad; bd] ��*����� %����

$!������� = (a1, a2, ..., ad) � $ = (b1, b2, ..., bd) �
)
� ! 
�� ��	��� �� �������	�� )
� �

����!�
 /� ����� ����� ������ �� )
� f ! � *
���� ����	����� �
 ! � *
���� g
��*����� %��0�
�12�

� ����
���� ���" �
��
��� ������" ����
�
	�� � ������ �� d!���
	���	����� n
��	����
 �����
��
�" 
 �
�

��	� 
������������
� � ����
�� ����
���
� Q 
 ��



� e�

,�-��
���.&�/ ����
���
� d!���
	���	���
�� ������ ��	�
 ��
��'���(�
[Q, e]← QMC(f, a, b, d, n),
N�	������5����O
s ← 0 N���������
��
� < f >O
t ← 0 N���������
��
� < f2 >O
Li ← bi − ai N�

������ 

���� �
 �	�
�
����O
w ← L1L2...Ld N�����
 �� 

���� �
 �	�
�
����O
N�����
��
�O
��
� i ← 1 : n,

��
� j ← 1 : d,
x j ← aj + Lj × GU NGU1 �

���
�	���
�
O

���
s ← s + f(+)
t ← t + f2(+)

���
N
����������O
mf ← s/n N< f >O
mf2 ← t/n N< f2 >O
Q ← v × mf;

e ← v × mf2−mf2

n

��$���
����3 
 ��2 ����
�� 
� �
*�����	� 
����� ���!���� �
�
��
	)� �� ������
��	�
 ��
�� ��
� d > 1� ,� $���
� ��3" ����
���'�(" '+(" '×( 
 '�( 

�

�
	��� ��
��	��� (n, �E�n ) 	� ��������� �� �	�
�
�� d!���
	���	��

Id = 3
2

d
�Vd

x1x2...xd dx1dx2...dxd = 1 ��� Vd = [0, 1]×[0, 1]×... × [0, 1] ��
� d = 5"

d = 10" d = 15 
 d = 20" 

��
������
	�
�
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� ��31 ��	�

�B	��� �� ������ �� ��
� d > 1�

,��
!�
 ��
" 
	���	�� � ���
	���	������
 �� ����
���
� ���
	��" � ����
�
 p, ��
��
�� �
 �;���
 E = cn−p" ��	���!�
 
��*�
�" �
%���� � 0.5� <��
 �����
���
	��
��	���!�
 ��
� ���
	�.
�����
�
������

$���
� ��21 ��	�

�B	��� �� ������ �� ��
� d > 1�

,� $���
� ��2" �� ��
��� '�(" '+(" '×( 
 '�( 

�

�
	��� �� ��	��� (n, �E�n ) 	�
��������� �� �	�
�
�� d!���
	���	�� Id = (e − 1

e )−d
�Vd

ex1 ex2 ...exd dx1dx2...dxd = 1 ���
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Vd = [−1, 1]×[−1, 1]×... × [−1, 1] ��
� d = 5" d = 10" d = 15 
 d = 20" 
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�
,��
!�
 ��
" ���� � ��	��� �	�
�
�	�� �
� �

����� ����� �
�	�
 
� ��
	� �

+ = (1, 1, ..., 1), M �
���� ��
 � ���
	���	������
 ���
	��" � ����
 �
 p �
	�
 �
������
!�
 �
 0.5� <��
 �����
���
	�� ��
	���!�
 ��
� ���
	�.
�����
�
������

G�� �
��	�� �

��� �� ����
���� ��� ���
 �

�
��� 
� ��	��� �� ��	����������
 ��

��������� �� 
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��� �� ����
����1 ��
�
�

�����
�
���	�� � 


� 
������� e ��
�
	�
��
 �� �

�� ����
�� ���

P	��� emax

��
	
�����

,�-��
��� .&0/ ����
���
� d!���
	���	�� �
�� ������ ��	�
 ��
��" �

��� 3

'���3(&
[Q, e, n]← QMC2(f,�,$, d, emax),
N�	������5����O
s ← 0 N���������
��
� < f >O
t ← 0 N���������
��
� < f2 >O
Li ← bi − ai N�

������ 

���� �
 �	�
�
����O
v ← L1L2...Ld N�����
 �� 

���� �
 �	�
�
����O
e ← ∞ N
��������� �
 


�O
n ← 0 N	#�

� �
 ��	����
 �����
��
�O
N�����
��
� ��	�
 ��
��O

	���	�� e > emax ∨ n < 5,

N��	�� �
 �����
��
�O
��
� i ← 1 : d

x i ← ai + Li × GU
���
n ← n + 1
N��������� �� ��	���O
s ← s + f(+)
t ← t + f2(+)
N
����������O
mf ← s/n N< f >O
mf2 ← t/n N< f2 >O
Q ← v × mf;

e ← v × mf2−mf2

n
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�����2222 >
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����� �
�
�
�
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�P	�����
�P	�����
�P	�����
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���	���
� ��	���
	����� ������ �� � ��� �
��� ��	�

�B	���" �
 �
�
�
O(n−p)" ��� p = 1/2� ���� 
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 ������ � �	�
�	�
���
	�
 �
 �����
��
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����=����� 
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�
 p 	�� ���
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�����2222����� C��	���C��	���C��	���C��	��� �������� �����
��
������
��
������
��
������
��
� �
�
�
�
 ����
�P	�������
�P	�������
�P	�������
�P	����

,� ���	��� �
	���	��� ���
���-�� ��
�����1��
� '��%������� ���%���	(" ����	���

+ �
 �����
��
� 	�� ��� 
����)�����
 ���� �	���
�
" �������
���=����
 ���
��
��� ������ $ 4 p 
����)��� ��
������
	�
�

+
 � ��	��� �	�
�
�	�� f ���

�


��
��� ���� f(+) = h(+)p(+) ��� h ��	�=	�� 	�
�������� V 
 p ��� ���
��
�
���
��
 ��� ��	��� �
	�����
 �
 �
����������
" ����
�"

p(+) ≥ 0 �
 x ∈ V,

p(+) = 0 �
 x ∉ V,

�V p(+)dV = 1,


	��� �
�� C
�

�� �� D���
����� :
	

���5��� ��
� �	�
�
���"

I = �V
f(+)dV = �V

h(+)p(+)dV = h(�) �V
p(+)dV = h(�).

� ���	��� �
 �����
��
� �
 ����
�P	��� ��	����
 
� �
�

��	�
��� 
��������� Q
��
� � �	�
�
��I ��
�����
 ��� 
��������� �h� ��
� � ����
����� h(�)� � 
���������
��
� � ����
����� �
 h � ���� ��


Q := �h� := 1
n �

i=1

n

h(+ i),

����� �
�������� �������

��
 h 
� ��	���+ 
����)�����
 ��
�� ��
��%
�� 
 ���
$ 4 p 	� �	�

��
�
 V�

���� 
� '��?(" � 
��������� ��
� � 


� � ���� ��


e :=
�h2 � − �h�2

n .

� ����� �� ������ � 
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��� $ 4 p �����
 '�( ��	������ 
��� $ 4 �
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�
����" ������ ���	��� ����� 	� ���=���� 2K 
 '��( �
��
�P	��� �
 h := f/p �
;� �
	�
��
 � ��
�P	��� �
 f" � ��
 � ��	�
����� �
 |p − f| ��
�
�
	�
����=�
��  
 ���� %����" � ��
�P	��� �

*5

� �
 h ��
��	���	�
� ,��
!�
 ��


��� ����	����� �� ��
�P	��� � �
��� M��������� ���������� �� 	#�

� �
 �������.
�
��	���	���' ����& >���	�-��5" �/?@(�

,�-��
���.&�/ ����
���
� ��	�
 ��
�� ��� �����
��
� �
 ����
�P	���'���L(&

[Q, e]← QMCI(f, p,�,$, d, n)
N�	������5����O
s1 ← 0 N���������
��
� < h >O
s1 ← 0 N���������
��
� < h2 >O
N�����
��
�O
��
� i ← 1 : n

+ ← ... N+ � ��������� ��� ����
������� �������
���� pO
h ← f(+)/p(+)
s1 ← s1 + h
s2 ← s2 + h2

���
N
����������O
mh ← s1/n N< h >O
mh2 ← s2/n N< h2 >O
Q ← mh

e ← (mh2 − mh
2)/n

,� $���
� ��� ����
���'�( 
 '+( 

�

�
	��� ����	��� (n, �E�n ) 	� ��������� ��
�	�
�
�� I5 = (e − 1

e )−5
�V5

ex1 ex2 ...ex5 dx1dx2...dx5 = 1 ��� V5 = [−1, 1]5� �� ��	��� '�(



�

�
	��� ����

���������
�� ������ �� 
 ���
�5
�'+( 

�

�
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�
��������
�� ������ �� ��� �����
��
� �
 ����
�P	��� '���L( �����5�	�� � $ 4

pd(+) :=
1
2d (e2d − 1) ∏i=1

d (x i + 1) + 1

(e2d − 1) + 2d ,


����)��� �
 ���� ��
 |p − f| �
;� �
��
	�� � 

�� � � �
*���� �� ��
��!


� E = cn−p

��� �;�����
	�� �
����=	��������
������ ��	;�	�� �
 �����{E, n} ��������
��
������ ��� ,��
!�
 ��
 � 
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�����2222�3333 C��	���C��	���C��	���C��	��� �������� �����
��
������
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������
��
������
��
� �	���������	���������	���������	��������

,� ���	��� �� ��n ��	����
 �����
��
� ��� �	�
�
	�
	�
�� G�� ���	��� �����
�
�
 

����� �
 ��
�P	��� ��	����
 
� �����
�
 n ��	��� 	��!�	�
�
	�
	�
�� <��
�
��	���+ 
 + � ��� ����

���


���	�
	�
�� ��
�*�
����
��%
���2 
 2� 

�����	����
��


2� := � + $ − 2, &&&&'����(

�	�
 � := (a1, a2, ..., ad) 
 $ := (b1, b2, ..., bd) ��� ����
���
��� 

���� 

��	����
�

�	�
�
����� �� ��
�*�
�� 2 
 2� ��� �����
���� '�	���������( 
� 

����� �� ��	��
�
	�
���� 

���� �
 �	�
�
���� 
 ��� �
	���	����  ��
! �

 ���
�	�
��
 ':
	��
"

�//0(� � 
��������� ��
� � ����
����� �
 f ����� � �

���� ��


�f� := 1
n �

i=1

n/2

[f(+ i) + f(+ i
�)].

+
 φ := f(+ i), φ� := f(+ i
�), � ��
�P	��� �
 �f� � �
���
���	��M

Var[φ + φ�] = Esp[φ + φ� − Esp[φ + φ�]]2

= Esp[φ − Esp[φ]]2 + Esp[φ� − Esp[φ�]]2 + 2Esp[(φ − Esp[φ])(φ� − Esp[φ�])]
= Var[φ]+Var[φ�]+2Cov[φ, φ�].
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+
 φ 
 φ� ��� �	�
�
	�
	�
�" Cov[φ, φ�]= 0 
 Var[φ + φ�]= Var[φ]+Var[φ�]� ���" ����

���
��	���.
�'f �
� ��
�� ��
������� �
 �� ���	� d!���
	���	��" ��

�
����(" φ 
 φ�

��� ��
�*�
�� ��
��������
	�
 �	���������1 φ� ≈ c − φ,�	�
 c � ������ ��	���	�
�
<	��� � ����
�P	��� Cov[φ, φ�] �

*	
������"

Cov[φ, φ�] = Esp[φφ�]−Esp[φ]Esp[φ�]
≈ Esp[φ(c − φ)]−Esp[φ]Esp[c − φ]
= cEsp[φ]−Esp[φ2]−cEsp[φ]+Esp[φ]Esp[φ]
= −Esp[φ2]+Esp[φ]Esp[φ]
= −Var[φ]≤ 0,

� ��
 

��5� ��
�P	��� ��
� Var[φ + φ�]≈ Var[φ]−Var[φ�]�

,�-��
���.&./ ����
���
� ��	�
 ��
�� ��� �����
��
� �	�������� '����(&

[Q, e]← QMCA(f,�,$, d, n),
N�	������5����O
s ← 0 N���������
��
� < f >O
t ← 0 N���������
��
� < f2 >O
Li ← bi − ai N�

������ 

���� �
 �	�
�
����O
w ← L1L2...Ld N�����
 �� 

���� �
 �	�
�
����O
N�����
��
�O
��
� i ← 1 : n,

��
� j ← 1 : d,
x j ← aj + Lj × GU N�
��
�
� ��	��O

���
s ← s + f(+)
t ← t + f2(+)
+ ← � + $ − + N�
��	�� ��	�� '�	��������(O
s ← s + f(+)
t ← t + f2(+)

���
N
����������O
mf ← s/n N< f >O
mf2 ← t/n N< f2 >O
Q ← v × mf;

e ← v × mf2−mf2

n

,� $���
� ��@" ����
���'�( 
 '+( 

�

�
	��� ����	��� (n, �E�n ) 	� ��������� ��
�	�
�
�� I5 = 3

2
5
�V5

x1x2...x5 dx1dx2...dx5 = 1 ��� V5 = [0, 1]5� �� ��	��� '�(
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� ���
����
�
�� ������ ��� � ���
	��� �� �	�
�
�������5��� � d = 5� 4�
� ���
�����
	�.
��
�����
���
	�� � �
�
�)�	�
�
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� ��@1 ��	�

�B	��� �� ������ �� ��� �����
��
�
�	���������

D�
�*�
�� ��
��%
��� �	��������� ��� ���
�� ����
�����.
� �
 �
����������
 ������
���
� �

�

����� ��� 
���� ���
������
�����.
�" � 

����� '����( 	�� ���
" 	�

	��	��" �

������ +
 � ������ �� �	�

��� '����
��� 2�3��( � ����� ��
� �

�
�
��
�*�
�X := F −1 (U), 
	��� 
��
��.
� + 
 + �, �	���������" ���
� �

 �

���� ���
+ = F−1(�) 
 + � := F − 1(��) �	�
 �� = � + $ − � ':
	��
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�
� � �����
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 ����

�
	���
	�
 � ��	��� �	�
 ��� ��
�P	��� � ����
� L��� � �
��� ������	��!�
 � 

���� �

�	�
�
���� 
� ���!

��.
� '
��
����( �	�
 � ���	�����
 �
 ��	��� �����
��� �
�
���
���	��M ��
����� �� ��	���� <��
 �
�	�=��� � � �
��� �����5��� 
� �
�
�� �

�����
��
� 
� ��
 � �������� � �
���
���	��M ��
�P	��� �� �����
��

+
 � 

���� �
 �	�
�
���� � ����������� 
� np ���!

��.
�" 
 
� ���� ��� �
����
�������!�
 Qi 
 e i, 
	���

@/



Q = �
i=1

np

Qi 
 e = �
i=1

np

e i
2 .

�����" � �����
��
� 
� ���� ���!

���� ���
 �

 �
��� ��� ��
 � �
���
��
e1 ≈ e2 ≈ ... ≈ enp < e np �
;� ������
����

,�-��
���.&3/ ����
���
� ��	�
 ��
�� ��� �����
��
� <��
���������'���<(&

[Q, e, n]← QMCE(fun,�,$, d, emax,))
N�	������5����O
NP ← P1P2...Pd N	#�

� �
 ���!

��.
�O
��
� i ← 1 : d

di ← (bi − ai)/P i N�
��
�����	��O
���
Q ← 0, e ← 0, n ← 0
N�����
��
� 
��
���������O
��
� i ← 0 : NP − 1 N��
� ���� ���!

�������O

N�����	����O
��
� j ← 1 : d

c j ← i mod P j

i ← (i − c j)/P j

���
N��
���
�
 �����
 �� ���!

����O
��
� j ← 1 : d

ai
� ← ai + dic i

bi
� ← ai + di

���
N�����
��
� ��	�
 ��
��O
[Qsub, esub, nsub]← QMC2(FUN,�,$, d, emax/ Np )
N���������� �
 
����������O
Q ← Q + Qsub

e ← e2 + esub
2

n ← n + nsub

���

� $���
� ��F ����
� � ����
������� �����	��� �����
���	� ��������� �� �	�
�
��

I2 = (e − 1
e )−2

�[−1,1]×[−1,1] ex1 ex2 dx1dx2 = 1 ��
� �� �
��� 


� 
������� emax = 0.02� ,�

������ ��" ��	���
� ���� � 

���� �
 �	�
�
���� ��� �����
������� � �
���
�
	�����
� 9* 	� ������ �� ��� �����
��
� 
��
��������� '��� 4 × 4 = 16
���!

��.
�(" � ����
 �
	�����
 �
 ��	��� �����
��� �����!�
 �
%���� �� ��	��
+ = (1, 1), ������� � ��	��� �	�
�
�	�� �
� ��
�P	��� ����
� ���� 

������� �����" �
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�
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�
�	�� �� ��
 � ������ ���
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���	� ������ �� 
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�����	�������	�������	�������	�����
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� ���	��� �� ���
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�
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�
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 ��������
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�
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� �	�

���� �
 ��
����� �� ��	���K ����	��
� ���	��� �
 ���
���-�� �� �
�����$� ���
�� ':
	��
" �//0(" �	�
 �� �=	��� �
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	�
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�
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�
 �	�
�
�����

���
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���	�
 � � �� ���
���-�� ��
�����1��
� �����! ��'4

���� ����"

�//3(� <��� ���	��� ��	����
 
� ������
� 

���� �
 �	�
�
���� 
� Sd ���!

��.
��

��
�� 

����
" ���� �" ������	�� 

����
�
	�
 ���� ���
	��� 
� S ����	�

������ G��
��	��� �
�� d!���
	���	���
��
*�
�g(x1, x2, ..., xd) := g1(x1)g2(x2)...gd(xd) � ��	��
�=��
�
 ��
�� �����*�
�� ���� ��	��� gi �
� ����
��	���	�
" ��������	�� 
� ���� ��
��� S ����	�

������ <��
� ����

� ��� �
��5
	���� 
� ��� ���
�5 G �
 S × d

�
�
	����	������
	�
 ������� � ��	��� �	�
�
�	�� f � �������� 
� ���� ��� ���Sd

���!

��.
�
 ��
�
�
	����
 G ��� 

�����������
 ���� ��
 g ∝ |f|� ��%����� ���
���M ��

��.
�" ������

��
 Q 
 e ��� �����������
 ���� �
�
�)�	�
 �� �
��
��� 	�

F�



����
��� ��2�� � ��
��
�
 h := f
g 
 ��	���
	�
 �����	����
� ��� #	��� 
���������

��


Q∗ := �
i=1

M Qi

e i
2 /�

i=1

M
1
e i

2 
 e∗ := �
i=1

M
1
e i

2

−1/2

.

� ����


P := χ2

M = 1
M − 1 �i=1

M (Qi − Q∗ )2

e i
2

� ��������� 
" �
 ��
���	����������
	�
 ����
��
 1, 
	��� ��

�������������

��.
�
��� �	��	����
	�
� 
 ��

�������" ����
����� � ����
���� �
���	�
 ����
�
	�� 
���
���
���
� �����*�
�1

,�-��
���.&4/ ����
���
� ��	�
 ��
�� ��� �����
��
� �
 L���
�P	��� �����*�
�

'���L�(&
[Q, e, P]← QMCIA(f,,,�, S, M, N)
N�	������5����O
d ← tamanho(,) N���
	���O
5
�-← (� − ,)/S N�����	��O
Vol ← Diag1 × Diag2 × ... × Diagd N�����
 ������!

��.
�O
��
� i ← 1 : d"

��
� j ← 1 : S"
Gij ← 1/(B i − A i) N$ 4 �	�����O

���
���
N�����
��
�O
��
� i ← 1 : M" N��
� ���� ��

����O

N�	������5����O
��
� j ← 1 : d"

��
� k ← 1 : S"
sgjk ← 0 N������
��
� GO

���
���
nt ← 0 N	#�

� ������
 ��	���O
sh ← 0 N������
��
� hO
sh2 ← 0 N������
��
� h2O
��
� j ← 1 : Sd N��
� ���� ���!

����O

N�����	���� ��
� 
	��

���� �� ���!

����O
temp ← j − 1
��
� k ← 1 : d

ck,1 ← temp (mod S)
temp ← (temp − ck,1)/S

F3



N��
���
��� ���!

����O
��
� k ← 1 : d

ak ← Ak + Diagk × ck

���
$ ← � + 5
�-
N�
��" ����
�
 g(x1, x2, ..., xd) 	� ���!

����O
� ← � + 1
p ← 1
��
� k ← 1 : d

p ← p × Gk,ck

���
N�����
��
�O
ns ← �N × p × Vol + 0.5� N	#�

� �
 ��	���	� ���!

����O
nt ← nt + ns
sf ← 0
��
� k ← 1 : ns

N��	�� �����
��O
��
� l ← 1 : d

x l,1 ← al + Diagl × GU
���
f ← F(x)
sf ← sf + f
h ← f/p
sh ← sh + h
sh2 ← sh2 + h × h

���
N�

��
� 	��� �
��
$ 4O
�
 ns ≠ 0"

��
� k ← 1 : d
sgk,ck ← sgk,ck + sf / ns

���
���

��� N��� �� �����
��
� 	� ���!

����O
N���������� �
 
����������O
mh ← sh / nt N< h >O
mh2 ← sh2 / nt N< h2 >O
QQi ← mh

ee i ← (mh2 − mh2) / nt

N	��� �
��
$ 4O
��
� j ← 1 : d

totj ← 1/ Diagj × �k=1
S sgjk

���

F2



��
� j ← 1 : d
��
� k ← 1 : S

Gj,k ← sgj,k × totj

���
���

��� N��� �� ��

����O
N�
�)�

���������O

t ← �i=1
M 1

ee i
2

Q ← �i=1
M QQi

ee i
2 /�i=1

M 1
ee i

2

e ← 1
t

P ← 1
M − 1 �i=1

M (QQi − Q)2

ee i
2

,� $���
� ��?" ����
���'�( 
 '+( 

�

�
	��� ����	��� (n, �E�n ) 	� ��������� ��
�	�
�
�� I5 = 3

2
5
�V5

x1x2...x5 dx1dx2...dx5 = 1 ��� V5 = [0, 1]5� �� ��	��� '�(
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���� ��
 � 	#�
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 ��	��������
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	���
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�P	��� �����*�
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���	
���	
���	
��
� ������������������� �
����
����
����
��� �
�
�
�
 �	
��
�	�
�	
��
�	�
�	
��
�	�
�	
��
�	�

�	������������
��	������������
��	������������
��	������������
�

���� ����� �� �
���	�� �� 
 �������
�����
��
��� �� ������ ����� �
��� ��

����	�� �� ������
���	������������
��� �	
 �
�
 �� �����������
 �� ����� O(n−1/2)�
 ��
 ����� �� �����������
 ���� 
�����
�
 ! �
�	��"
 ���������
����� 
��
�#��
 ���

�������� 
�����
���� $���
 ��������
	����
�
 �
�
 �� �����������
 �� ������

�����	���� ���
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���
 #'��
 � 	�
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 ��������
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��
 
��
������
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���+�

�'��� �	������ -� )���
 �
���"�	������������ �����	��
 
��
������
�� ���������


�����
��� ��� ���
���
 �
���*+� ���	�
�� ���
�� �����
�� 	� ������ �
���)
�#����

 ��� ������ � �������
�� ����
�� ���
���
� .���/ � ��������	���� 
 �
�����


��*+� ��0�

�����1111 � ������ ������ ������ ����� �
�
�
�
 �
���*+��
���*+��
���*+��
���*+� ���	�
����	�
����	�
����	�
��

2 ����
 �����
��� ������ �� �
�
 � ����	�� �� ������
��	�����������
��� )
"��	�


�����
���
 �� �
�������� �
 )	�*+� f �� ������
�� [a; b], 
��
����
 ����
 �f� ���
�
����� �� f �� n ������ �����3���� �� )���
 
��
�#��
 ����� ������
�� �� 
�����


������
�
 ������
��a
b f ���(b − a)�f�� ,� ���
���� � �
�'�� �������������3�������

�������� )���
 ���	�
������ ���
*
�
�  ��
 �����3
 ��
��)���
��
 � ������ ���

������������ �� 	� ������ �������������� �
����������  ��
 ���
 
'���
��� �� ��

)
��� 	�
 ����
 �� ,�4���
������������
 �� ����� m = 0� �������
�
 �
��� ���

�
�����
�� .���	��� & �
����� 155�/� 2 ����� �� �����������
 ����� ������ �

���
'������
 ���� ���	���� ������
6

�
��
�� ���� ���� f : [a; b]→ ℜ ��� ���	
� �� 
����� C1 � {x i} := {a + (i − 1)h}�
i = 1, ..., n + 1, ��� �����	
� ��������� ��������� [a; b]� ����� pi := x i� i = 1, ..., n, ��
������������������������������������ �����	
�� ���
� � ���� �� ����
������ ��

��������	
� Q := h�i=1
n f(pi) ���� � ���������a

b f(x)dx ��� 
��������
�� O(n−1)�

�
����������� 7��� 8�����
 �� 9
�������� �
�
 �����
�
�� �
�
 �
�
 x ∈ [pi; pi+1]�
������ ξi(x) ∈ [pi; x] �
��	�

f(x) = f(pi) + f �(ξi(x))(x − pi).

-
��

:�



Ii : = �p i

p i+1 f(x)dx

= �p i

p i+1 f(pi)dx + �p i

p i+1 f �(ξi(x))(x − pi)dx.

2 )	�*+� x � ξi(x) � ������	
 �� �	'������
�� [pi; pi+1]� ���� f � � ������	
� 
 )	�*+�

x � f �(ξi(x)) �
�'�� � ������	
 ����� ������
��� ���� x − pi �+� �	�
 �� ���
������

����� ������
��� ���+�� ���� 8�����
 �� 9
�������� �
�
 ������
���

Ii = f(pi)(pi+1 − pi) + f �(ηi) �p i

p i+1(x − pi)dx

= f(pi)h + f �(ηi) h2

2
,

�
�
 
��	� ηi ∈ [pi, pi+1]� 7���
��� I� �
����
 ������
��� f ��'�� � ������
�� [a; b], �
�
�� ���

I = �
i=1

n

Ii

= �
i=1

n

f(pi)h +�
i=1

n
1
2

f � (ηi)h2

= h�
i=1

n

f(pi) + h2

2 �i=1

n

f �(ηi).

���� f � � ������	
� ���� 8�����
 �� 9
���;������������ ������ 	� η ∈ [a; b] �
��	�

f �(η) = 1
n �

i=1

n

f �(ηi).

2���� I ���� ����������� ����

I = h�
i=1

n

f(pi) + h2

2
nf �(η)

=

Q

h�
i=1

n

f(pi) +

E

(b − a)2

2
f �(η) 1

n .

���� f � � �����
�
� ������������	
 �� 	� ������
�� ����
���� ���
��� �
�
 � ����

�� ��	��
����� E�

|E| ≤ (b − a)2

2
sup f �(η) 1

n .

::



� �
����
 �������+� �� <����� ����3��� � �����
���= ���� � ���� E ��� �����������


�� ����� O(n−1)� �

 ��� ������ �� ����
���� ���3���	� � ������ �� 	�����������
�� �	(
 �����������


� O(n−1/2)� ,� ���
���� �	
 ������+� �
�
 � ���
*� d
���������
��+� � �+� �)��
"�
 ��
 ������+� � )���
 ���
���
�� n �������j �� 	�
 �������� �
��
�� d����
������


�
 ����+� �� ������
*+� V� � ������
 
'
��� ���
'����� 
 ����� �� �����������


����
 ����
�

�
��
�� ���� ����

1� f : V → ℜ ��� ���	
� �� 
����� C1 �������� ���� ����
� V := [a1; b1]×[a2; b2]×
... × [ad; bd] �� ������ v=

0� ���� 
��� i = 1, ..., d, ��� �����	
� �������{x i 1, x i 2, ..., x i n i
, x i n i+1} �� ���������

[ai; bi] 
�� x i j := ai + (j − 1)h, j = 1, ..., ni + 1;

>� �j j=1

n
, ��� �������	
� �� ������� 
���������

{x11, x12, ..., x1n1 } × {x21, x22, ..., x2n2 } × ... × {xd1, xd2, ..., xd nd
}.

���
� � ����� �� 
��������
�� �� ��������	
� Q := v
n �j=1

n f(�j) ���� � ��������
I := �V fdv � O(n−1/d)� �� ���������������

�
����������� 2 ����+� �� ������
*+� V � �������
 �� n = n1n2...ni �	'
����?��� �	(�

���	�� � ∆v := v/n. $�(
 (∆V j)j=1
n 
 ��	���
*+� �
��	'
����?���
��	�

∆V j := [x1j; x1j + h1]×[x2j; x2j + h2]×... × [xdj; xdj + hd] � �j := (x1j, x2j, ..., xdj).

7��� 8�����
 �� 9
��� ����� �
�
 �����
�
�� �
�
 �	
��	�� ����� � :=
(x1, x2, ..., xd) ∈ ∆V j, ������ 	� ����� ξj(�) �
��	�

f(�) = f(�j) +�
i=1

d

(x i − x ij )
∂f ξj(�)

∂x i
.

� �
����
 ������
��� f(�) �� ∆V j �

Ij := �∆Vj
f(�j)dv + �∆Vj

�
i=1

d

(x i − x ij )
∂f ξj(�)

∂x i
dv.

2 �������
 ������
�� �����
�
 ���� � ������
��� � �����
���� 2 ���	��
 ���	��

:@




��	�
 �
���	�
*+�� ���� f � �
 ��
��� C1� �
�
 	�
 �
��
����
� � �����������

A���� ���
 ����
���
�� �
 ������
*+�� ����
�� ��������
 ����� �
 ������
*+� ��� �

���
�#���6

Ij = f(�j)∆v +�
i=1

d

�∆Vj
(x i − x ij )

∂f ξj(�)
∂x i

dv.

2 )	�*+� � � ξj(�) � ������	
 �� ∆V j� � (x i − x ij ) �+� �	�
 �� ���
��� ∆V j�  ��+�

���� 8�����
 �� 9
�������� �
�
 ������
���	������������
��.-
���& B
'���4��"�

15@�/� ������ 	� ����� ηj ∈ ∆V j �
��	�

Ij = f(�j)∆v +�
i=1

d ∂f(ηj)
∂x i �∆Vj

(x i − x ij )dv.

 ������
��� 
 ������
��� ���	��� ���'�� ���� ������
�����
�
� �'���
��

Ij = f(�j)∆v +�
i=1

d ∂f(ηj)
∂x i �pdj

pdj+hd ... �p2j

p2j+h2

�p1j

p1j+h1(x i − x ij )dx1dx2...dxd.

��� 
 �	�
�*
 �� �
������ui := x i − x ij, 
�������
������
�
��

Ij = f(�j)∆v +�
i=1

d ∂f(ηj)
∂x i �0

hd ... �0

h2

�0

h1 ui du1du2...dud,

�� �	� ���	��


Ij = f(�j)∆v +�
i=1

d ∂f(ηj)
∂x i

h1.h2...hi−1. 1
2

hi
2.hi+1...hd.

���� ∆v = h1h2...hd� ���
��

Ij = f(�j)∆v + 1
2

∆v�
i=1

d

hi
∂f(ηj)

∂x i
.

2���
� � �
����
 ������
�I ��'�� ���
 
 ����+� �� ������
*+� V �
��

:C



I = �
j=1

n

Ij

= �
j=1

n

f(�j)∆v +�
j=1

n
1
2

∆v�
i=1

d

hi
∂f(ηj)

∂x i

= ∆v�
j=1

n

f(�j) + 1
2

∆v�
j=1

n

�
i=1

d

hi
∂f(ηj)

∂x i

=

Q

v
n �

j=1

n

f(�j) +

E

v
2n �i=1

d

hi�
j=1

n ∂f(ηj)
∂x i

� ����� Q � 	�
 
������
*+� �
�
 
 ������
� I�  � ����� E � � ���� ��

��	��
������ �	� ���� ���������)��
��� �'����
��� �	�� ����� f �� ��
��� C1� ����

8�����
 �� 9
���;������������ ������ 	� ����� η �� V �
��	�

∂f(η)
∂x i

= 1
n �

j=1

n ∂f(ηj)
∂x i

.

2����

E = v
2 �i=1

d

hi
∂f(η)
∂x i

,

�

|E| ≤ v
2 �i=1

d

hi
∂f(η)
∂x i

≤ v
2

max
i=1,...,d

∂f(η)
∂x i

�
i=1

d

hi = c�
i=1

d

hi.

���� c � 	�
 �����
��� �������
� � �
����
 <����
 �������+�� �	(���� ! ������*+� ��

���h1h2...hd = ∆v �����
���� � ������ �	
��� h1 = h2 = ... = hd =: h � -� �	��� �����
�
�
 	�
 �
�
 �	'
����+� �� V �� ���	�� ∆v )���� 
 )���
 3�����<'��
 �� ∆V j

������"
 � ����� ,���� �
���

�
i=1

d

hi = dh = d(∆v)1/d = d v
n

1/d,

�� ���+��

|E| ≤ cd v
n

1/d = [cdv1/d ]n−1/d,

� �	� �������
 �	� 
 ����� �� �����������
 ����� ������ �� �
 ���3��3��#�����

O(n−1/d )� �

-���� ����� ����
�
���
�� � ������ 7B �� �����������
 O(n−1/d ) ��� � ������ ��

�� �����������
 O(n−1/2 ), �����	�
�� �	� � �������� � �	������
� ���	��� �
�
 d = 1,

:5



��	��
����� �
�
 d = 2� � ��)������
�
 d ≥ 3�

� 
�������� ���	���� ��������
 	�
 �����
���
 �
�
 � �
����
 �	
��
�	�
 Q, �
���

 )	�*+� f� ����������� := (a1, a2, ...ad) �  := (b1, b2, ...bd) �
 ����+� �� ������
*+�� 

������+� d � � ������ := (n1, n2, ..., nd) ��� � �<���� �� �������� 
�����
��� ��

�
�
 ������+�� -� 
����� ��� � 8�����
 ��0� ������ 	�
�n1, n2, ..., nd �� ���� �	�

h1 ≈ h2 ≈ ... ≈ hd.

!
������� ���" �	
��
�	�
 d
���������
����� ������ �� 7
���*+� B��	�
�.�7B/�
Q ← QPR(f,�, , d,�),
D�����
��"
*+�E

�
�
 i ← 1 : d�
Li ← B i − A i D
����
��
 ����+� �� ������
*+�E

Hi ← Li/ni D�
�
�3� �
 �
���*+� �� �
�
 ������+�E

X i1 ← A i + Hi/2 D�������
 �������
�
 �� �
�
 ������+� E

)��

v ← L1 × L2 × ... × Ld D���	�� �
 ����+� �� ������
*+�E

n ← n1 × n2 × ... × nd D�<���� �� �������
 �
���*+�E

�
�
 i ← 1 : d,
�
�
 j ← 2 : ni,

X ij ← X i,j−1 + Hi D�������
�
�����
����E

)��

)��

D
�����
���E

s ← 0 D
�	�	�
����
�
 < f >E
�
�
 j ← 0 : n − 1,

�
�
 i ← 1 : d, D��������
�
 �������
�
�E

k ← j mod ni

j ← (j − k)/ni

x i ← X i,k+1

)��

s ← s + f(�)
)��

D�����
���
E

Q ← vs
n

2 F��	�
 ��1 �����
 �� 	� ���)��� �
 ���
�
 ���
��� � ��������3� �� ������ �


7
���*+� B��	�
�� �
�
 ����� (n, E), ���� n � � �<���� �� ������
�����
��� E � �

���� �� ��	��
����� �������������� 
 
�
��
*+� �
 ������
� d
���������
�

Id := 3
2

d
�Vd

x1x2...xd dx1dx2...dxd = 1 ��� Vd := [0, 1]×[0, 1]×... × [0, 1]. 2 ���
 .��

���
�
 ���
���/ � � 
(	��
����� �������������	
��
����
 �	��
 E = cn−p, '
��
��

@G



�� ���(	��� �� �
���{(n, E)}, �'��������� ������ 7B� ����
��
�� 
 F��	�
 ��1 ���

�F��	�
���0 � ��>�

# �
�$����" �� ������!�" � !�! ��������������� �
� �����������#  ����� !�$� ��

���
��	%���� ��
��� ���&��� � �� ���� �� ������ �
� ��������� �����&��� ���������

������&����

F��	�
 ��16 2 �����������
 O(n−1/d) �� ������ �
 �
���*+�
���	�
��

2 8
'��
 ��1 �����
 ���
������� c � p �'��������
(	��
������� 7���
�� �'����
�

�	� pd � ����������
�
 1/d� �	
���
� �	�� �� p1 = 1.3630, ���+� pd ≈ p1/d�

d cd pd
p1

d
1 0.0619 1.3630 −
2 0.1271 0.6883 0.6815

3 0.1957 0.4634 0.4543

4 0.2677 0.3510 0.3408

5 0.3435 0.2836 0.2726

6 0.4233 0.2387 0.2272

8
'��
 ��16 7
�H�������� ����� �� �����������
 �� ������

7B�

@1



� ������ �
 �
���*+� ���	�
���)�� �� �	��
���)��	��
���� 7������� �
�
 ������?��

����
�
�� � �<���� n �� ������������������
�
 �'���	�
 �
���*+� 
���	
�
 ������
���������
������ ��� d� $��	���� �
 ���I����
 	�	
��� 
�����
��� �
 �
���*+�� ��

��
��� (d − 1)
���������
�� �	��������� 
 ������'	�*+� ��� ������ 
�����
�� �+� �

	��)����� ���� �� ������� �	������������ 	�
 ����+� � ���3	� �� �	��
� 2����� �

���� �� ��	��
����� �+� �������� �� ���� �	
�� ��� � ���������� �� ������� 7��

)��� � <���� ������ #'��� �� ��)��
�
 �
���*+� ���	��2d ��"��� �<���� 
�	
���

������.����J�))& �
)����3� 155�/�

,� ���
���� 3� 	�
 �����+� ������
��� ����� � ������ �
 �
���*+� ���	�
� � �

������ ����� �
��� ��� 
�����
��� ����
��)��
�
� ����� �
 �	'��*+� ��>�>� 2 ����


�
 ����
��)��
*+� �
�
 ���	"�� 
 �
��H���
 �� 	�
 
�����
 ���� ��� ��������
6 !

�����
 �	� � �<���� �� ����
���
	����
� � �
�
�3� �
 
�����
 �� �
�
 ����
��

�����	�� ,� ������� 
 
��
������
�� ���������
�����
�����
�
�����

K
'��.15@G/ ������	 �	�� �� 
���
�	� ����� 
�����
�� �����3��� 
��
����
�����

�� ���������� �
�
 	�
 �
�n �	'
����?����)����
����
 �
���*+�� ���+� � ���� ��

��	��
����� E ��� �����������
 
�����
�
 �
�
 O(n−(1/2+1/d)) .-
���& B
'���4��"�

15@�/�  ��� ���	��
�� �����
 �	�� �� 
 ������'	�*+� ���������
�����
���+� )���+�

�����
 �	
��� �� ������ 7B� ��� �+� 
��
�#��
 �	
��� �� ������ ��� ����
�� �'���

���	��
������3����� � ������ �	� 	����"
 	� ������3������ �� ���
*� ����
 )���


)�������������� 
 �
�������������	��
���� �������
�� ������ ����
�� ���
���
��

�����0000 ���� ������������������������ �	
���	
���	
���	
��
� ������������������� �
����
����
����
����

,� ������ ����� �
���� 
����I����
��� ���������	��

��
�#�������	�
� ������

����
����
����� 
��
�#���� ������������� � ������3�� � ���
*� �� ����

����
���������� 	��)����� ����� ��� )�	�	
*?�� �� ������
��� 2 
������ ��

�������
����� �� �
��� �
 ������
� '
���

�� �� �������� ���
������� �� �
���

�����
�� Esp[�] :

Q = Esp v
n �

i=1

n

f(� i) .

,� ������ �	
��
� ���� �
��� .���/� �'���
�� ���I����
� �� ������

�+�
�������������� �	� ������3�� � ���
*� �� ���� �
��	��)����� ��� �����


)�	�	
*+� �� ������
��� 2 
������ �� �������
����� �� �
����
 ������
�'
���

�� ��

�������� 
�
������ �� ������ �� 	�
 ���I����


Q = lim
n→∞

v
n �

i=1

n

f(� i). LLLL.��1/

�����0000�1111 $��I����
�$��I����
�$��I����
�$��I����
��������� '
��
'
��
'
��
'
��
 �������H���
�������H���
�������H���
�������H���
�
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2����I����
��� �������	� ������3�� � ���
*� �� )���
 �
��	��)���� �	� ������


��
�#������������������+� �3
�
�
��� �
%&'�(���%���
��

��)�����	 �
%&'�(���

�
 ���� ���(�
���(��� -	
�����
����I����
����+� ����
�
'
����

2 ���(�
���(�� �� 	�
 ���I����
 (� i ) := (�1,�2, ...,�n) �� n ������ �� 3�����	'�

	������� d
���������
�V := [0; 1]×[0; 1]×... × [0; 1] � ��)����
 ���

D(� i) := sup
B

N(B,� i )
n − v(B) ,

���� � �	����� � ���
�� ��'�� ���
� 
� �	'
����?�� B ���
��	�
��� ��� 
����
�

�
�
���
�
�������������
��� ���������� V� � �
���N(B,� i ) � � �<���� �� ������� i

�� ���������� B � v(B), � ���	�� �� B .� ���J�))& �
)���3� 155�/� B��	��
 �	� 	�


���I����
 �� �������� '
��
 �������H���
 ������3� � ���
*� �� )���
 �
��	��)����

�	� ���I����
��� 
��
 �������H���
�

2 
����
*+� �� ������ ��� ������� �� ���	��
�� �'���� �����
������ ���K�4
J


.15:1/ � �����
��"
�� ��� K��J������ .155C/ �
 
������ �
 ���I����
 .��1/� �	�

��������
 	�
 ���
 �	�������
�
 � ���� E := I − Q �
 �����
���
 ���� ������ ���

�� ������
���	������������
��� $� f � 	�
 )	�*+� d
���������
�� ��)����
 �
 ����+�
V := [0; 1]×[0; 1]×... × [0; 1]� ���+�

|E| ≤ D(� i)W(f), LLLL.��0/

���� W(f) � 
 $������� ����
�� f �
 ����+� V ��)����
 ���

W(f) := sup
P

�
i,j=1

n

|f(� i) − f(� j)| , LLLL.��>/

���� � �	����� � ���
�� ��'�� ���
� 
��
���*?��P �� V .K�4���& $����'����

15:�/�

 ��� ���	��
�� )������ 	�
 �����
���
 �
�
 � ���� �� ������
*+� �	� ������� 
���
�

�
 �
�	��"
 �
 )	�*+� f � �
 �������H���
 �
 ���I����
 � i� 7
�
 	� �
�� ���'���
 ��

������
*+�� ����
�� ����
� ���	"�� 
 �
��
*+� ���
��
 )	�*+� .7
�J��� 155:/ �	

�����	��
 �������H���
 �
 ���I����
 	����"
�
�

2 ���I����
 �� �������H���
�
�����
�
�!����I����
����	��

��
�#��
�D∗(� i), 	�
�
�
�� ������ ��� �+� �
(��
�
����
 ���I����
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c1
log logn

n1/2 ,

���	
��� �	�� ���	��� F
	�� .15C0/� �	��
��
����I����
��	
��

��
�#��
�� 	�
�
�

�� ������ ��� .����� 
��	
���� ���	
� 
��� K
���� � $�'��� �������
�
��
���/�

����	�� ���I����
��� �������H���
�D∗∗(� i) �
(��
�
����
 ���I����


c2
(logn)d

n .

;��� �	���� �	� D∗∗(� i) ≤ D∗(� i), ���� ����� �
�
 '
��
� ������?�� .����J�))&
�
)����3� 155�/� B��3 .15��/ ������	 �	� 
����I����
��� �������H���
�D∗∗(� i) �+�
�����
�
����
 ���I����


c3
(logn)(d−1)/2

n .

2 ���I����
 �� B��3 � 	�
 ������� �� M���
 ��)�����M �
�
 
� ���I����
� ��

�������H���
� �
� ���I����
� �	
��

��
�#��
�� ;��� �����)��
 �	� 
 ���I����


�	
��

��
#��
 �� ������������H���
 ������������
 ���
 ���I����
 �� �������H���
��

,� ���
���� 
� ���I����
� �	
��

��
�#��
� ���	�
�
� 
�� � ������� 
���
 ���+�


���
 .���� ������ �
�
 ������+� ����
�
/ ����
 M���
 ��)�����M� 2����� �	��� 
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��� �������H���
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�$��I����
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�$��I����
��������� K
����K
����K
����K
�����

K
���� .15:G/ ����N�	� ������ �� ���
*+� �� ���I����
��� '
��
 �������H���


�������	
������ �������� ,���
�� � i
����� �<���� uib � �'���� ��� �����	�����

�
����6

1� �������
�� i ���� 	� �<���� �	�
 '
�� b� ����� b 
��	� �<���� �����= ���

�������� i = 17 = 1223 .'
�� b = 3/=
0� �'���
�� uib ���������� 
 ����� ��� ������� �'����� � 
�������� 	� �����

�����
����� )�
*+� '
�� b; �� �������� u17,3 = 0.2213;
>� ��������
�� � �<���� uib �
 '
�� b �
�
 
 '
�� �����
�= �� ��������

u17,3 = 25
27 = 0.925926...; �
�
 �
�
 �<���� ����� b �'���
�� 	�
 ���I����


�������
= �
�
 �������� uib �
 ���I����
 �������� 
� ������
�� (0; 1) ���� �� �
��
����<��������	��

��
�#�����'�������������
�����	��)������

2����I����
��� K
�����+� 	�
 �����
��"
*+� �
����I����
��� �
��������	���

'
�� 2 .O������ 155C/� -� )���
 �
��������
� �� i � ���������� �
 '
�� b ���

@�



i = �
j=0

t i

ajbj,

���+� uib � �'���� ���

uib = �
j=0

t i

ajbi−t i−1. LLLL.���/

2 ���I����
 �� K
����� �� '
�� b = 3, ��� �������� �

(0, 1
3 , 2

3 , 1
9 , 4

9 , 7
9 , 2

9 , 5
9 , 8

9 , 1
27 , 10

27 , 19
27 , ...)� ,+� � ��)��������)��
�� )	�����
����� �����

������� �
�
 ��"�	� � �<���� i 
	����
 �� 	� ������ '
�� b� ���
������� uib

�
��
� 
 ��'�������?���
"�
��������� ���<�����
���������� �� 	�
 �
���*+� �	(��

�	'������
��� ��� ����������� b ��"�� �������� 2����� ���� ������ ������� �

������3������ �+�
���I����
��
 �
���*+� ���	�
���� ���
*
����� �
�
 ��" �
��

�����	���

� 
�������� ���	���� �
��	�
 � i
����� �
���uib �
 ���I����
 �� K
����� '
�� b� ��
������
�� [0, 1), �
������
������� i � �
 '
�� b�

!
������� ���" O��
����� K
����.OK/�

u ← GH(i, b),
j ← 0
���	
��� i > 0� D������?� i �
 '
�� bE

j ← j + 1
aj ← i mod b
i ← (i − aj)/b

)��

u ← 0
���	
��� j > 0� D�
��	�
 uibE

u ← (u + aj)/b
j ← j − 1

)��

7
�
 ���
� 	�
 ���I����
 �� ������ (�1,�2, ...,�n) �� ���
*� d
���������
�� ���
� i = (x i1, x i2, ..., x id), 1 ≤ i ≤ n, �
�
 �������
�
 x ij, 1 ≤ j ≤ d, � �
��	�
�
 
 �
������
i
����� ����� uib j �� 	�
 ���I����
 �� K
���� (uib j ) ��� 	�
 '
�� bj ��)������ .bj

�
��
 ��� j/� 8����
������ �+� 	�
�����d ���������������.O������ 155C/�

@�



F��	�
 ��06 7�����3������ �� ���
*� '����������
����


���I����
 �� K
�����

2 F��	�
 ��0 �����
 ��������������(	������ ������ (ui3, ui5) ���
��������� �


����+� V = [0, 1]×[0, 1]� ,���
�� �	� � ������3������ �� ���
*� � �
��	��)���� �	� �
�
 F��	�
 0�1 �
����I����
����	��

��
�#��
��

2 ���I����
 �� K
���� �� ������� i �� ℜd � 
����
�������� 	��)���� �
�
 '
��
�

������?��� 7
�
 ������?���
��
��
�� ������
���� 
 �	
���
�� ����
����I����
��
�

���������� ����
 '
�� b ���� �����
���� �� )���
 �	� � ������� �� �
����	�
 ��

������
�� � ��
��� .����J�))& �
)����3� 155�/� �	
��� �� �'����
 
 ���������
*+�

���������
 �� ���(	��� ��� ������ {(uib j , uib j+1 ) | i = 1, ..., n}� ���� (uib j) � 	�


���I����
 �� '
�� bj ��
��� .bj > 200/ � (uib j+1 ) � �	��
 ���I����
 �� '
�� bj+1 �
�'��

��
���� ��(
 bj = 211 � bj+1 = 223� ����
�� ����)��
��	� ���������� 
��	�
� ��'��

���
� �
�
���
�� ���� �� 
� �������
�
� ���I����
� �� ����
� )���������

������
����
�
�� 7
�
 ����
����� �)����� P����& Q 3���� .155@/ �	����� �	� 
���
�

��l
�������������
 ���I����
 �� K
������(
� 	����"
���� ����� l 	� �<���� �����

�������� �� b1, b2, ...bd� $��I����
��� K
���������
��"
�
���� ���� ���	�
�
�� ����� 


����
 �����
��� 	�
 ����	�
*+� ����
������� aj �� .���/� ���� )���
 �� �������
�

���� ���'���
� -���
 �
����
 �+� )���
�
�
����I����
��� F
	�� .15C:� 155G/�

� 
�������� ���	���� ��������
 �����
���
��
�
 � �
����
 �	
��
�	�
 Q, �
�
 

)	�*+� f� 
 ����+� �� ������
*+� V ��)����
 ����� �������� � = (a1, a2, ...ad) �

 = (b1, b2, ...bd)� 
 ������+� d, � �<���� n �� �������� 
�����
��� � � ����� �

�������� �����������d �<������������

@:



!
������� ��*� �	
��
�	�
 �	
��
� ���� �
��� ��� ���I����
��� K
����.�K/�

Q ← QH(f,�, , d, n,�),
D�����
��"
*+�E

s ← 0 D
�	�	�
����
�
 < f >E
v ← 1 D
�	�	�
����
�
 ���	�� �
 ����+� �� ������
*+�E

�
�
 i ← 1 : d
Li = bi − ai D
����
��
 ����+� �� ������
*+�E

v ← vLi D���	�� �
 ����+� �� ������
*+�E

)��

D
�����
���E

�
�
 j = 1 : n
�
�
 i ← 1 : d

x i ← ai + Li × GH(j, pi) D����� �� 
�����
���E

)��

s ← s + f(�)
���

Q ← v × s/n

2 F��	�
 ��> �����
 � ��������3� �� ������ �	
��
� ���� �
��� .���/ ���

���I����
� �� K
���� �
 
�
��
*+� �
 ������
� d
���������
�

Id = 3
2

d
�Vd

x1x2...xd dx1dx2...dxd = 1 ��� Vd = [0, 1]×[0, 1]×... × [0, 1]� ,���
�� �	� 


����� �� ����������
 ����� ������ .p > 0.5/ � ���3���	� 
 �����������
 �� ������
�� .p ≈ 0.5/� ����
��
�� ��� 
 F��	�
 ��1�

F��	�
 ��>6 �����������
 O(n−1) �� ������ �	
��
� ���� �
���
��� ���I����
��� K
�����

@@



�����0000�>>>> $��I����
�$��I����
�$��I����
�$��I����
��������� $�'��$�'��$�'��$�'���

�	��
 ���I����
 �� �<������	
��

��
�#����'
��
��� 	����"
�
 )��������	"��
 ���

$�'��.15:@/ � ����
�
 �
���)������� ���2������ & $
���� .15@5/� -� )
��� ���
�

���I����
��+� ����	�
*?���������
��
 ���I����
 �� K
����'
�� b = 2 .� ���J�))&
�
)����3� 155�/�  ��
� ���I����
� ���
� ��� '
�� 	� ���(	��� �� �<����� v i,
�������
����� �+�
������
(������� ���<�����v i �+�

v i = mi

2i ,

���� mi � 	� �<���� ������� �������� ������	� 2i, �����3��� �� ���� 
 �
���)
"��

���
*+� �� ����������


mi = 2c1mi−1 ⊕ 22c2mi−2 ⊕ ... ⊕ 2qcqmi−q ⊕ mi−q,

���� c i � q �+�� ���������
������ �� ���)�������� � � ��
	 �� 
��	� �����N���

��������� �#�	�� 2 .�	'��*+� 0�>��/

P(z) = zq + c1zq−1 + ... + cq−1z + 1.

� ���'��� ⊕ �����
 
 
��*+� .mod 2/ �	� ��	��
����������� ����
*+� �#���
 '�����

R�B .�& ����	����/� ���
����������
��m1, ..., mq �+� �����3�������
�����������	�

2, ..., 2q� ���������
������ S�
���T& F��.15CC/ ����	��� ������������� ����*+� ������

�
������

� j
����� ����� �
 ���I����
 ������
��� $�'���� ���+�� � �<���� Sj �
��	�
�� ���

Sj = b1v1 ⊕ b2v2 ⊕ ... ⊕ bwvw� ���� bw...b2b1 � 
 ���������
*+� '�����
 �� j� 2������&
$
���� �����
�
� �	� 	�
 ���I����
 ��	��
����� ���� ��� �
�� �)������������

�
��	�
�
 ��� Sj = Sj−1 ⊕ vk� ���� k � 
 ����*+� �� '�� 0 �
�� 
 ������
 �


���������
*+� '�����
 �� j − 1�

7
�
 ���
� 	�
 ���I����
 �� ������ � j �� ���
*� ℜd� �
�
 �������
�
 �� �j �
�
��	�
�
 
 �
���� �� 	�
 ���I����
 �� $�'�� (Sj1, Sj2, ..., Sjd) ��� 	� �����N���

��)�������

�� ��������� �����N���� ���������� �#�	�� 2 �+�6

z + 1, z2 + z + 1, z3 + z + 1, z3 + z2 + 1, ... ���� �����)�������� c i �����������N���

�
��� 
���
� 0 �	 1, � �������� ����������
��� ��� ��	 ��
	 p � 	� �<����

a = (c1c2c3...)2, �	(
 ���������
*+� '�����
 ��(
 �������
 ! ���I����
 ������)��������c i�

@C



2����� ����������� � �����N��� z3 + z2 + 1, �	(� ��
	� q = 3, � �	(�����)���������+�
c1 = 1 � c2 = 0, ���� ������������
�� ���a = 2 = 102�

� 
�������� ���	���� ��������
 d (≤ 25) ���I����
��� $�'��
2������
$
���� ��� n
�������
�
 	�
� �����)��������)��
� ����
������ 7���� ������.1550/� � � 	�

���(	��� �� ��������
�
 a � q� �
�
 ���I����
 �������
�
 
 �
������ aPi � qPi �

!
������� ��," O��
���$�'��.O$/�

S ← GS(�, n),
D�����
��"
*+�E

w ← �log2n�
q ← (2, 3, 3, 4, 4, 5, 5, 5, 5, 5, 5, 6, 6, 6, 6, 6, 6, 7, 7, 7, 7, 7, 7, 7, 7) D��
	 ��

�����N���E

a ← (1, 1, 2, 1, 4, 2, 4, 7, 11, 13, 14, 1, 13, 16, 19, 22, 25, 1, 4, 7, 8, 14, 19, 21, 28) D���)����������
����E

�
�
 i = 1 : tamanho(�)
D����	�� �� mE
�
�
 j ← 1 : qp i

mi,j ← 2j − 1
)��

�
�
 j ← qp i + 1 : w
mi,j ← 2qpi × mi,j−q i ⊕ mi,j−qpi

t ← ap i

�
�
 k ← 1 : qp i − 1
r ← t mod 2
mi,j ← mi,j ⊕ 2qpi−k × r × mi,j−qpi+k

t ← (t − r)/2
)��

)��

D����	�� �� VE
�
�
 j ← 1 : w

V i,j ← mi,j

2 j

)��

D����	�� �� SE
Si,1 ← 0
�
�
 j ← 1 : n − 1

t ← j − 1
k ← 1
r ← t mod 2
���	
��� r ≠ 0 D
�3
 '��"��� �
��! ������
E

t ← (t − r)/2
k ← k + 1

@5



r ← t mod 2
)��

�� k > w
k ← w

)��

Si,j+1 ← Si,j ⊕ V i,k

)��

)��

2 F��	�
 ��� �����
 �� ��������� ���(	���� �� ������ ���
��� ������ �
 ����+�

V = [0, 1]×[0, 1]� 2��������
�
��� �
�
 ����� (S1,j, S2,j) �+� �'���
��� ���I����
���
$�'���������
��

F��	�
 ���6 7�����3������ �� ���
*� '����������
����


���I����
 �� $�'���

� 
�������� ���	���� ��������
 �����
���
��
�
 � �
����
 �	
��
�	�
 Q,�
�
�

)	�*+� f� � 
 ����+� �� ������
*+� V ��)����
 ����� �������� � = (a1, a2, ...ad) �

 = (b1, b2, ...bd)� ;�)���

�� 
���
 
 ������+� d, � �<���� n �� ������ ��


�����
��� � � ������ �������� ����������
 ���I����
 �� $�'���

!
������� ���� �	
��
�	�
 �	
��
� ���� �
��� ��� ���I����
��� $�'��.�$/�

Q ← QS(f,�, , d, n,�)�
s ← 0 D
�	�	�
����
�
 < f >E
v ← 1 D
�	�	�
����
�
 ���	�� �
 ����+� �� ������
*+�E

CG



�
�
 i ← 1 : d
Li = bi − ai D
����
��
 ����+� �� ������
*+�E

v ← vLi D���	�� �
 ����+� �� ������
*+�E

)��

S ← GS(P, N + Nm); D���I����
��� $�'��E

D
�����
���E

�
�
 j = Nm + 1 : Nm + n D������"
 ���������������E

�
�
 i ← 1 : d
x i ← ai + Li × S(i, j) D����� �� 
�����
���E

)��

s ← s + f(�)
���

Q ← v × s/n

2 F��	�
 ��� �����
 � ��������3� �� ������ �	
��
� ���� �
��� ��� ���I����
 ��

$�'���
 
�
��
*+� �
 ������
�d
���������
� Id = 3
2

d
�Vd

x1x2...xd dx1dx2...dxd = 1

��� Vd = [0, 1]×[0, 1]×... × [0, 1]� ,���
�� �	�� 
���
��� ���� �����
���
���� 
 ����� ��

����������
 ����� ������ .p > 1/ � ���3���	� 
 �����������
 �� ������ ��� ���

���I����
��� K
����.0.5 < p < 1/�

F��	�
 ���6 �����������
 O(n−1) �� ������ �	
��
� ���� �
���
��� ���I����
��� $�'���

�����0000����� ����
�
*+�����
�
*+�����
�
*+�����
�
*+� �������������������� ���I����
����I����
����I����
����I����
��

 ���� 
��������
����I����
��� '
��
 �������H���
 ���	�
�
� �������
�
�� 
���
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K
���� � $�'��� �������
�
������������� �	��
����I����
�� ���� 
��� F
	�� .155G/�

,����������� .155�/ �	 F
�� & Q 
�� .155�/� ��� ���� �������
�� �
� �+�

�������
������ �
��
*?���
����I����
��� K
����� $�'���

9���
�����
�
*?���������
������ 
�������
����I����
��	
��

��
�#��
���� ����

)���
� �
 ����
���
 �� ���
'������ ����� �� �	
���
��� ,� ���
��� 
 �����
�	�
 �

�������	���
 
 ���� ��������� � �
���� �+� 3
��� 	�
 ���I����
 �	� ��(


��������
�������� �	������ 
 �	��
 .O������ 155C/�  ����������� ��
��"
��� ���

����J�))& �
)����3 .155�/ �	����� �	� 
����I����
��� K
��������	"�� ���3����

���	��
����	� 
����I����
��� $�'��� ���	
��� ��������������
��"
������7
�J��

.155:/ �����
� � ����������

�����0000�����  ����
���
 ����
���
 ����
���
 ����
���
 �������� �����������������

2 ���
 �
�
 ���.��0/ �
�
 � �
��������� �� ���� �� ��	��
����� E �
 
�
��
*+� �


������
��+� � ������
 ����	
��
"?��� 7������� ����	� 
 
�
��
*+� �
 �
��
*+� ���
�

W(f) �� f �
 ����+� V � �
 �������H���
 Dn(� i) ���� ��� �	��� ��
'
�3��
 �
�


������?������
�
�.P����& Q 3����� 155@/�  � �� ���	��� �	�
�� ���	������������

�	����� �	� �����
���
��'���
����.��0/ �+� ���
��
�
����� ����
�
�.����J�))&
�
)����3� 155�/�

&� ���� �� �'��������
���
��
"�������� ���)�
�*
 � �������k ��"��� �������� ��
������
*+� .����	�
���
�� 
����I����
�/ � �����
��
�������� � ������ �
��+� �
�

�����
���
�Q1, Q2, ..., Qk �'���
��

7
�
 �������)��
�� ������	
�� k = 3 ��"�� � ����	�� �
 ������
�

I5 = 3
2

5
�V5

x1x2...x5 dx1dx2...dx5 = 1 .��� ���I����
� �� $�'�� ��)�������/

�'�����
�� �� �
����� Q1 = 0.99969121439215, Q2 = 0.99994365436921,
Q3 = 1.00239750107767.  ��+�� ���)���� 
���
� ���	���	Q = 1.00068 e = 0.00149.
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m � 
 ��	���� rcm = (xcm, ycm, zcm) 
� ������ 
� �
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� ���� �����
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 ������� 
� �
�� ������� 2 � �
�� ������� 4, ��8
 	����#���� � 



 ���

z2 + x2 + y2 − 3
2

= 1.
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:;



xcm = mx
m , ycm = my

m , zcm = mz
m ,

��
�

I1 = m = �
V

ρdxdydz, I2 = mx = �
V

xρdxdydz, I3 = my = �
V

yρdxdydz, � I4 = mz = �
V

zρdxdydz.

� 
��	�


� 
� ���<�
� � ρ = e5z. � ������ ���
����
� 
� 
��	��
��� 	��.

{(x, y, z)| 1 ≤ x ≤ 4, − 3 ≤ y ≤ 4, − 1 ≤ z ≤ 1}�
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��� 
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 #�����

��	� p(x, y, z) := 5
21(e5 − e−5 )

e5z�

'���
� )'� )'�, )'�- )'�� )'�� )'�-� )1 )2

Q1 (×102 ) 2.1473 2.1837 2.1864 2.1978 2.1887 2.1620 2.1718 2.1698

e (×102 ) 0.0302 0.0200 0.0133 0.0306 0.0108 0.0151 0.0166 0.0174

n (×104 ) 5.00 11.50 5.00 5.00 6.11 5.00 5.00 5.00

9
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 ��3& �.����� 
� Q1�

'���
� )'� )'�, )'�- )'�� )'�� )'�-� )1 )2

Q1 (×102 ) 5.0710 5.1446 5.1616 5.2404 5.1563 5.1347 5.1277 5.1225

e (×102 ) 0.0732 0.0500 0.0333 0.0746 0.0261 0.0356 0.0379 0.0390

n (×104 ) 5.00 10.87 5.00 5.00 5.49 5.00 5.00 5.00

9
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 ��,& �.����� 
� Q2�

'���
� )'� )'�, )'�- )'�� )'�� )'�-� )1 )2

Q3 (×10) 1.8292 2.1354 2.4797 2.0550 2.1282 1.9577 2.6027 2.4079

e (×10) 0.5813 0.2000 0.3024 0.5761 0.1152 0.3019 0.1733 0.2377

n (×104 ) 5.00 43.40 5.00 5.00 23.18 5.00 5.00 5.00
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'���
� )'� )'�, )'�- )'�� )'�� )'�-� )1 )2

Q4 (×102 ) 1.5754 1.5898 1.5635 1.6571 1.5792 1.5535 1.5668 1.5646

e (×102 ) 0.0602 0.0100 0.0230 0.0619 0.0053 0.0122 0.0141 0.0155

n (×104 ) 5.00 35.99 5.00 5.00 18.48 5.00 5.00 5.00
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I5 = �−π

π
�0

4

�0

∞
x2e−x/2y3 sin(z)(π + z)2(π − z)3dxdydz,

� −245760π + 16384π3 = −2.640709733... × 105 ��� �������	 ����
�
� ��� �	

��	���

�	Q5 
�	
����	�	����
�	�

� 9
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��	��
��� 
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 #����� ��	� p(x, y, z) := 1
128π x2e−x/2, �����	�
 ���� 
����


� ���!���
� �
	 ����
	 ������
	� ���=�"	� @ �
��.��� z 
 ���
���� 0 ≤ z ≤ 40,
��	���
�
� � �
���
������

� 
� I5 ���
�
 −2.640708530... × 105.

'���
� )'� )'�, )'�- )'�� )'�� )'�-� )1 )2

|Q5 | (×105 ) 2.7061 2.6234 2.6230 2.6602 2.6246 2.6842 2.6134 2.6477

e (×105 ) 0.1196 0.0200 0.0596 0.1149 0.0103 0.0514 0.0266 0.0294

n (×104 ) 5.00 171.42 5.00 5.00 48.93 5.00 5.00 5.00
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1
π3 �ℜ3 �0

2π
�0

π
w sin χeh(u,�,χ,ε)e−�2 dχdεd��

��
�

:�



h(u,�, χ, ε) = −2u2 + u(w1 + w2 + (w2 − w1 ) cosχ) + u sin χ w23 sin ε + ww3 cosε + w1w2 sin ε
w23

,

�

� = (w1, w2, w3), � � � = w1
2 + w2

2 + w3
2, w = � � � , w23 = w2

2 + w3
2 .

���
��	

 ��
�	#���
��� 
� �
��.���	�

wi = erf−1(2x i − 1), i = 1, 2, 3,

χ = πx4,

ε = 2πx5,

��
� erf−1(x) � 
 #����� �����	
 
�

erf(x) = 2
π �0

x
e−t2 dt,


 ������
���
� 	�����	����
 �
 #���


I6 = 2 π �V
w sin χeh(u,�,χ,ε)d��

��
� � = (x1, x2, x3, x4, x5) �������� �  ������!� ����.���

V5 := [0; 1]×[0; 1]×[0; 1]×[0; 1]×[0; 1]�

�		� ������� ������ 
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�

	��
�������

� ���

I6 = 4
π e−2u2

�
k=0

∞

cku2k, ��� ck = 3k+1 − 1
1 × 3 × 5 × ... × (2k + 1) .

6
�
 � �
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� u = 0.25, I6 = 2.442352953... � � 9
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#����� ��	� p(χ) := sin χ � $!	�����"	� �	!��	��	���

�	�!��
�	����	
��������	

)1 � )2�

'���
� )'� )'�, )'�- )'�� )'�� )'�-� )1 )2

Q6 2.4379 2.4545 2.4378 2.4432 2.4440 2.4326 2.4423 2.4428

e 0.0103 0.0200 0.0079 0.0102 0.0184 0.0079 0.0004 0.0009

n (×104 ) 5.00 1.41 5.00 5.00 1.34 5.00 5.00 5.00
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��
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 ��������� �������
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�
;
��.����
 t < T

t ← t + DExp(TIM) :�������� �
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����< :������� ���
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ε
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R4 + R5 −R5 0 −R4

−R5 R1 + R5 + R6 −R6 0

0 −R6 R2 + R6 + R7 −R7

−R4 0 −R7 R3 + R4 + R7

iA

iB
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=

ε
0

0

0
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U ← SCE(C, D)
���� i ← 1 : 7
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ε ← DNormal(C8, D8)
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A ←

R4 + R5 −R5 0 −R4

−R5 R1 + R5 + R6 −R6 0

0 −R6 R2 + R6 + R7 −R7

−R4 0 −R7 R3 + R4 + R7

B ←

ε
0

0

0

I ← A−1B
U ← R2I3
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�
��������
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���A���� 20% �
� �

�
������ �� �
���A���� �� 10%� 	��������
 � �������
����!������ .��� �����7���
 ������
���R1, R2, R3 �� 
��
��
���A����� 
���
��� �
 ���
�

���
 �U� 
�����0��

 �
 ������
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����U = 0.0900 WD �
 ������
 �
� !
��� ε

��)
���
���� 
 �����
 �����
 ∆�U� ���������
����

�

�
����� "�������-�
 �U� #W( ∆�U� #W( ∆�U� #%(
9�����
���R1, R2, R3 0.0928 0.0395 42.6

9�����
���R4, R5, R6, R7 0.0952 0.0457 48.0

4
��� ε 0.0957 0.0330 34.5
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���������� �
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���� ���������� 
 )���0���
 �� !
����� �� ���� /
���
��

��	�
���� ��"� "�
����
��� 9�-�� �� P
���
�#"9P(�

H ← SRJ(�, , n)
M ← ��
��)
 �� P :�3
��
 �� /
���
���;
���� j ← 1 : M

H1,j ← F j :!
����� �������;
!�

i ← 1
��.����
 i ≤ n � min(F) > 0 :��.����
 ���)�
� ��-�����;

i ← i + 1 :��0��
� �
����;
���� j ← 1 : M

F j ← F j − 1 :��
���;
!�

j ← DDG(P) :������
�;
F j ← F j + M :���
�
;
���� j ← 1 : M

H1,j ← F j :)���0���
;
!�
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�� ��� !
����� �
�� ��� ���������� "� pA = pB = 1

2 � �

��
���������� � FA/(FA + FB)� 	 ��
���
� �
������ 
��� ������������� � 
���
�

������
� �� 
 �3
��
 �� /
���
���!
�
��
�
� �� � ��
���������� �� ���0��� ��
���� /
���
���
 !
��
�������� 
������������ �� !��
����


 � ��0���� !
������ 

��
�
 �� /
�
� 
 �3
��
 �� /
���
���� ���� 1
������ ������ ���
�)���������������
��
��� �������!�������


 ��
������
����������� ����

�����++++ 1�����
1�����
1�����
1�����
 �����0��
�����0��
�����0��
�����0��
 �
��-��
�
��-��
�
��-��
�
��-��
�

�


 ���
��
 �� ��
�����
 �� �
 ������
 �����0��
 �
��-��
� ��
������ � ��!���
 ��
�����
����������� �
� ������ �� �
������
� B������� �� �
 ���
��
 �������
 �


��
�
 �� �� )���
����
����� �
 �
��������
���
���������
�������
�#5��
 ��

����� $%+E(�

�����++++�$$$$ ,�������
,�������
,�������
,�������
 �
�
�
�
 ��
���
���
���
���
���
���
���
��

%&



��
� ��
���� �
�
����
 �
 ��
���
�� ��/� �
 !���� �� n �����
�� ��������

�������������
���� �
��� �
� ������ ��!����� � )


����� �� ��������� H� �

���������� ������� ���� �����
� ����
��� �
� ����� ����A���� λ� ������� �
!����
�
�
����
 �

 
���


��
������������� �������  ��� ����A���� ��
 4,1  ��
�������
�

 ���
�
���
 L, ���
 
������ ���
� �#���� � ���� �
����
� 
 �����
� �
�� ���

���
����
 ���
 ��


 �� ������ 
� �������
 �
 �
� �
�� ������
� �� �
��-����
���/��0������ �
 �����
� ��
 

��������� 4����� ��M� ��0��
 ����
 �3
��
 ��
�
���>��� 
 �����
� ������
����
 �
��
 ��


 �� ������� �����
 ������
��� ������
���� 
 ���
 ������
 
� ������
� ���������
���7��� .�� )
��� �
� ����
$%� #�(� &�	�

#4( 
� 
��&�������� #�( �
 �����
�� ����������
�����

4����� ��M6 ���
��-�������/��0������ �
 �����
�� �������

�� "
�
�#$%&'(�

� ��������
 �
������
���

 
���


��� ������ ���������7���� ���� �

������
 ��
�������������SE � SA, ������ ����������
����� ��$%� �� ������ � ��$%� �� ����
$%�� �
�

� ����������������

S := SE + SA,

� ���� ��$%� �� 
��'�� �&�
�(� 	 ��
��)
 ����� 
���
 L� ����
����
 ���
 �����
�� ����
������
���
 �

 S �
�

L = 1/S.

����
� 
 ����
��
���
 λ � �������������0��� �

 4,1 f, ���� �
�
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f(t) := 1
L e−t/L,

.��� ���
 
��
�
 �� �������
 #�������
 '�=�$(� �
����� ��
�����
�

λ := −L ln U1, GGGG#��'(


��� U1 � �������������0��� ���!
�
�
���� ��������-�� �
 ��������
 [0; 1)�

 
 �
� �
����
� ����
�����������pA �� 
�
�����
� ���
���
 � pE �� 
�
�����

�����
 ��
 ������
�

pA := SA
S

� pE := SE
S

.

� .�����
 .�� �� ��
�>� ���
����� �����
����� �
 !����
 �� SE� SA � H� .�� !����

�
�n �����
������������� ���
����� ���� ������� .�� !����
 � ��������� � .�� !����

� ��!�������

��0��
� �
����
� � ������
 �� �����
 � ���������7��� ���
 A����
 ϕ �
 ������
 �

���
 �
� x � 
 A����
 θ �� �
����
 �
 �
��
 �
 ���
 �
� x� ����
 0 ≤ ϕ ≤ π �
0 ≤ θ ≤ 2π� ����� ��
���
�� � ������ � ��!����� � �� ��������� �
������� H� �
�����

�

���� � �

�
����� �� l �������� �
 ���
 �
�x � ���������� �� 

�
 .�� �
�����
������������������������
���>�������0����X �� ����-���� �
�

X := λ cos(ϕ), GGGG#��+(


��� ϕ � �
� �������������0���� ��/� �����������
 �����
��������� �����
�

"��
��
 .�� � ������
 �
 �����
 ����/� ��������-�� ���!
�
�
���� �
 �����
� �
��
���������� p(ϕ, θ) �� .�� ��� ����/� �
����� �
 �
 ���
���
 �� �����
 ��!����
 dΩ
�����!�7

p(ϕ, θ)dϕdθ = dΩ
4π .

�������
 dΩ = sen(ϕ)dϕdθ� ��
���
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p(ϕ, θ) = sen(ϕ)
4π .

�
�)�����
 � 4,1 �
�/���� p(ϕ, θ)� �
����� 
����� 4,1 ����������p(ϕ) �
�

p(ϕ) = �0

2π
p(ϕ, θ)dθ = sen(ϕ)

2
.

� ��
�����
 �� ϕ �
�� ���!���� ���
 
��
�
 �� �������
 ��������� ��������U2 ��
�����������
 ���!
�
� �
 ��������
 [0; 1)� 
�������

U2 = �0

ϕ sen(t)
2

dt,

�
 .�� �������

cos(ϕ) = 1 − 2U2. GGGG#��M(

,���� 3���

 ��������
 �
����� �
������.�� cos(ϕ) � ���!
�
�
���� ��������-�
 �

��������
 [−1; 1)� ����
� �

������
 #��'(� #��+( � #��M(� 
���
��� � !0�
��� ����
��
�����
 �� X�

X := (−L ln U1 )(1 − 2U2 )

�
 ���
���

 �����
� SA � SE ��
� ����������
����� �����>���� ���
���
 � �����
� H �
� ��������� �� ������ � n � 
 �3
��
 �� �����
������������� 	����
���nC� nA nF

��
 �� .���������� �� �����
�� .�� �
!����
� ����������
����� �
�!���
���
�
���
���
 
�!����

��	�
���� ��)� "�
�����
 �� �������
 �� �����
����������� �
� 1����� #"�1(�

(nC, nA, nF) ← SNP(SA, SE, H, n)
:��������7���
;
nC ← 0 :�
����
����� ����-�����;
nA ← 0
nF ← 0
S ← SA + SE :����
 �� �)
.�� �!�����;
PA ← SA/S :��
���������� �� ���
���
;
PE ← SE/S :��
���������� �� �����
;
L ← 1/S :��
��)
 ����� 
���
;
:�

������
���
 �� ����-�����;
���� i ← 1 : n :���� ���� ����-�������;

x = −L ln(GU) :�
����
 �������� Q56 Q����
�5��!
�
�;

$C$



:������� 
������
;
��.����
 x ≥ 0 � x ≤ H :��.����
 �����
 �� ���������;

�� GU < PA :�� !
����
����
���;
nA ← nA + 1
����< :!�
 �
 ���
;

����

x ← x + (L ln GU)(2GU − 1) :�
�� �
����
;

!�

!�

:!��� 
��
�!���
���
@;
�� x > H

nF ← nF + 1
����
 �� x < 0

nC ← nC + 1
!�
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Apêndice B

Programas para MATLAB

Os programas listados a seguir são implementações para o ambiente matemático

MATLAB dos algoritmos descritos ao longo do texto. Seguem a ordem de apresentação no

texto. Informações mais detalhadas sobre a linguagem do MATLAB podem ser obtidas no

Manual do Usuário ou em Bravo et alli (1995).  

%*********************************************************************
% Rotina: GMQ                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gerador uniforme utilizando o método de Meio-de-Quadrado de 
%   J. von NEUMANN.
%
% Output:
%   U: número pseudo-aleatório seguinte.
%
% Obs.:
%   1: A variável m pode ser ajustada com valores inteiros até 7.
%   2: A variável X deve ser inicializada com uma semente de 
%      simulação.
%*********************************************************************
function U = GMQ,
global X;
m = 7;
X = X * X;                   % quadrado
X = fix(X / 10^fix(m / 2));  % trunca dígitos à direita        
X = mod(X, 10^m);            % trunca dígitos à esquerda (nova semente)
U = X / 10^m;                % conversão inteiro -> decimal
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: GCL                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gerador uniforme utilizando o método de Congruência Linear de
%   D. H. Lehmer.
%
% Output:
%   U: número pseudo-aleatório.
%
% Obs.:
%    1: A variável X deve ser inicializada com uma semente de 
%       simulação.
%    2: Os valores de 'a' e 'm' estão de acordo com os critérios de
%       Park & Miller. O valor 'c' é "insubstancial" segundo Knuth. 
%*********************************************************************
function U = GCL,
global X;
a = 16807;        
c = 1;
m = 2147483647;
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X = mod(a * X + c , m);
U = X / m;
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: GCLC                              Ultima Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gerador uniforme utilizando o método Wichmann & Hill com a
%   combinação de 3 geradores de congruência linear independentes.
%
% Output:
%   U: número pseudo-aleatório.
%
% Obs.:
%   1: As variáveis X, Y e Z devem ser inicializadas com sementes de
%      simulação.
%*********************************************************************
function U = GCLC,
global X;
global Y;
global Z;
ax = 171;
ay = 172;
az = 170;
mx = 30269;
my = 30307;
mz = 30323;
X = mod(ax * X, mx);
Y = mod(ay * Y, my);
Z = mod(az * Z, mz);
U = (X/mx) + (Y/my) + (Z/mz);
U = U - floor(U);
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: IC                                Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina calcula o valor de y tal que x*y = 1 (mod m). Usa o
%   algoritmo estendido de Euclides.
%
% Input:
%   x: Número.
%   m: Módulo.
%
% Output:
%   y: Inverso congruente de X (mod m).
%
% Obs.
%   Para que o programa funcione corretamente assume-se que:
%   1. m e x são primos relativos, isto é, mdc(x,m) = 1.
%   2. 1 <= x <= m - 1. 
%*******************************************************************
function y = IC(x,m),
u = [1 0 m];
v = [0 1 x];
q = floor(u(3)/v(3));
t = u - q * v;
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while t(3) > 0,
  u = v;
  v = t;
  q = floor(u(3)/v(3));
  t = u - q * v;
end
if v(2) > 0,
  y = v(2);
else
  y = v(2)+ m;
end
%*******************************************************************

%*********************************************************************
% Rotina: GCI                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gerador uniforme utilizando o método de Congruência Inversa de 
%   Eichenauer & Lehn.
%
% Output:
%   U: número pseudo-aleatório.
%
% Obs.:
%   1: A variável X deve ser inicializada como semente de simulação.
%*********************************************************************
function U = GCI,
global X;
a = 16807;
c = 1;
m = 2147483647;
X = mod(a * IC(X,m) + c , m);
U = X / m;
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: GF                                Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gerador uniforme utilizando o método de Fibonacci.
%
% Output:
%   U: número pseudo-aleatório.
%
% Obs.:
%   1: O vetor XX com kk elementos deve ser inicializado como semente 
%      de simulação.
%   2: As variáveis devem ser globais e inicializadas com kk = 55 e
%      jj = 24 (escolhidos por Knuth) 
%*********************************************************************
function U = GF
global XX;
global jj;
global kk;

% Gerador
M = 2147483647;
XX(kk) = mod(XX(jj) + XX(kk),M);
U = XX(kk)/M;
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% Desloca valores
jj = jj - 1;
if jj == 0,
  jj = 55;
end
kk = kk - 1;
if kk == 0,
  kk = 55;
end
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: GDR                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gerador uniforme utilizando o método de Deslocamento de Registro
%   de R. C. Tausworthe.
%
% Output:
%   U: número pseudo-aleatório.
%
% Obs.:
%   1: A variável U deve ser inicializada com uma semente de
%      simulação.
%   2: O parâmetro de combinação 'a' foi escolhido arbitrariamente.
%*********************************************************************
function U = GDR

% inicialização 
global U;
a = 0.31415926535898;
TA = a;
TU = U;
bitT = 0;
bitV = 1;

% determinação do próximo bit
while TA > 0 | TU > 0,
  TA = 2*TA;
  if TA >= 1,
    bitA = 1;
    TA = TA - bitA;
  else
    bitA = 0;  
  end
  TU = 2*TU;
  if TU >= 1,
    bitU = 1;
    TU = TU - bitU;
  else
    bitU = 0;  
  end
  bitT = mod(bitT + bitA * bitU,2);
  bitV = bitV / 2;
end

% deslocamento do bit
U = 2*U;
if U >= 1,
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  U = U - 1;
end
U = U + bitT * bitV;
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: DDG                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gera números pseudo-aleatórios com Distribuição Discreta Genérica.
%
% Input:
%   p: vetor de probabilidades.
%
% Output:
%   I: índice simulado.
%
% Obs.:
%   1: O algoritmo se torna mais eficiente (realiza um menor número 
%      de comparações) se o vetor de probabilidades for ordenado de-
%      crescentemente. Por exemplo: com  P = [0.4 0.3 0.2 0.1] a ro-
%      tina executa, aproximadamente, a metade das  comparações  ne-
%      cessárias com P = [0.1 0.2 0.3 0.4].
%*******************************************************************
function I = DDG(p),
U = GU;              % gerador uniforme
I = 1;               % contador
q = p(I);            % cumulativo
while U > q,         % enquanto não pertence ao intervalo...
  I = I + 1;         % ...próximo intervalo
  q = q + p(I);
end
%************************** Fim de Arquivo **************************

%*********************************************************************
% Rotina: DDU                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gera números pseudo-aleatórios com Distribuição Discreta Uniforme.
%
% Input:
%   n: valor máximo. 
%
% Output:
%   X: assume valor {1,2,3,...,n} com igual probabilidade
%
%*******************************************************************
function X = DDU(n),
U = GU;               % gerador uniforme
X = 1 + floor(n*U);   % valor simulado
%************************** Fim de Arquivo **************************

%*********************************************************************
% Rotina: DCI                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gera números pseudo-aleatórios com Distribuição Contínua pelo
%   método de Inversão.

105



%
% Input:
%   Finv: função inversa de F. 
%
% Output:
%   X: variável pseudo-aleatória com FPC F.
%
%*******************************************************************
function X = DCI(Finv),
x = GU;                 % gerador uniforme
X = feval(Finv,x);      % valor simulado
%************************** Fim de Arquivo **************************

%*********************************************************************
% Rotina: DCAR                              Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gera números pseudo-aleatórios com Distribuição Contínua pelo
%   método de Aceitação - Rejeição.
%
% Input:
%   f : função FDP de X.
%   g : função FDP de Z.
%   c : constante de majoração.
%   GZ: gerador da variável Z (DCI, por exemplo). 
%
% Output:
%   x: variável pseudo-aleatória.
%
%*******************************************************************
function x = DCAR(f,g,c,GZ),
z = GZ;                                   
while GU * c * feval(g,z) > feval(f,z),
  z = GZ;
end
x = z
%************************** Fim de Arquivo **************************

%*********************************************************************
% Rotina: DdAR                              Ultima Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Gera números pseudo-aleatórios com Distribuição d-dimensional pelo
%   método de Aceitação Rejeição.
%
% Input:
%   f: função FDP de X.
%   g: função FDP de Z.
%   c: constante de majoração.
%   G: gerador d-dimensional da variável Z. 
%
% Output:
%   x: variável pseudo-aleatória com FPC F.
%
% Obs.:
%   1: Esta rotina é idêntica a rotina DCAR, a exceção da rotina G de
%      geração da variável z (d-dimensional)
%*******************************************************************
function x = DdAR(f,g,c,G),
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z = G;                                   
while GU * c * feval(g,z) > feval(f,z),
  z = G;
end
x = z
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: DMM                               Última Revisão: 20/01/2000
%*********************************************************************
% Propósito: 
%   Esta rotina gera números pseudo-aleatórios com Distribuição
%   d-dimensional pelo método de Metropolis.
%
% Input:
%   fun: nome de uma função que contém a FDP f.
%   a,b: vetores com os limites da região de amostragem.
%   d  : dimensão da variável aleatória.
%   x  : último valor da variável.
%
% Output:
%   x  : Próximo valor da variável.
%
% Obs.:
%   Antes de usar os valores de 'x' em rotinas de simulação, descartar
%   os 10 - 100 primeiros valores.
%*********************************************************************
function [x] = DMM(f,a,b,d,x),

% inicialização
s = (b - a) / 2;    % passo.

% amostragem
Ok1 = 0;            % Flag
while ~Ok1,
  
  % escolhe novo ponto
  Ok2 = 0;          % Flag
  while ~Ok2,
    Ok2 = 1;
    for j = 1 : d
      nx(j) = x(j) + s(j)*(2*GUP-1);   % novo ponto   
      if nx(j) < a(j) | nx(j) > b(j),  % está dentro de [a;b]
        Ok2 = 0;
        break
      end
    end
  end
  
  % aceitação - rejeição
  if feval(fun,nx) >= GUP * feval(fun,x), % aceita?
    x = nx;
    Ok1 = 1;
  end
 
end
%************************** Fim de Arquivo ***************************

%*********************************************************************
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% Rotina: DExp                              Última Revisão: 12/02/2000
%*********************************************************************
%  Propósito: Esta rotina gera um número pseudo-aleatório com FDP 
%    Exponencial.
%
%  Input: 
%    M: Valor médio (esperança)
%
%  Output:
%    X: variável pseudo-aleatório.
%
%  Obs.:
%    1.  Este algoritmo usa o método de inversão.
%*********************************************************************
function X = DExp(M),
X = - M * log(GUP);  
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: DNormal                           Ultima Revisão: 12/02/2000
%*********************************************************************
%  Propósito: Esta rotina gera um par de número pseudo-aleatório
%    independentes com FDP Normal (de Gauss).
%
%  Input: 
%    mi: Valor médio (esperança)
%    sigma: Desvio padrão (sqrt(variância))
%
%  Output:
%    X1,X2: valores pseudo-aleatórios.
%
%*********************************************************************
function [X1,X2] = DNormal(M,D),
U1 = GU;
U2 = GU;
X1 = sqrt(-2*log(U1)) * cos(2*pi*U2);
X2 = sqrt(-2*log(U1)) * sin(2*pi*U2);
X1 = mi + X1 * sigma;
X2 = mi + X2 * sigma;
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: QMC                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina realiza a Quadratura de Monte Carlo d-dimensional.
%
% Input:
%   fun: nome de uma função que contem o integrando f e a região de 
%        integração V.
%   a,b: vetores com os limites da região de integração.
%   d  : dimensão da quadratura.
%   n  : Número de pontos de amostragem.
%
% Output:
%   Q: Estimativa do valor da Quadratura.
%   e: Estimativa do erro (desvio padrão).
%*********************************************************************
function [Q,e] = QMC(fun,a,b,d,n),
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% inicialização
s = 0;              % acumulador para <f>
t = 0;              % acumulador para <f2>
l = b - a;          % arestas da hiper-caixa.
w = prod(l);        % hiper-volume.

% amostragem
for i = 1 : n,
  for j = 1 : d
    x(j) = a(j) + l(j) * GU;    % ponto de amostragem    
  end
  gx = feval(fun,x);            % avaliação da função
  s = s + gx;
  t = t + gx * gx;
end

% estimativas
mg  = s / n;                    % <fun>
mg2 = t / n;                    % <fun^2>
Q   = w * mg;                 
e   = w * sqrt((mg2 - mg^2)/n);
%************************* Fim de Arquivo **************************

%*********************************************************************
% Rotina: QMC2                              Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Variação da rotina QMC, onde o critério de parada é a estimativa
%   de erro e.
%
% Input:
%   fun : nome de uma função que contém o integrando f e a região de 
%         integracao V.
%   A,B : vetores com os limites da região de integração.
%   D   : dimensão da quadratura.
%   emax: erro máximo admitido.
%
% Output:
%   Q: Estimativa do valor da Quadratura.
%   e: Estimativa do erro.
%   n: Número de pontos amostrados.
%
%*******************************************************************
function [Q,e,n] = QMC2(fun,A,B,D,emax),

% Inicialização
s = 0;              % acumulador para <f>
t = 0;              % acumulador para <f2>
L = B - A;          % arestas da região de integração.
w = prod(L);        % volume da região de integração.
e = inf;            % estimativa de erro. 
n = 0;              % pontos de amostragem.
nmin = 100;         % número mínimo de pontos de amostragem         

% Amostragem Monte Carlo
while e > emax,
  
  % Ponto de amostragem
  for i = 1 : D,
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    x(i,1) = A(i) + L(i) * GU;
  end
  n = n + 1;
    
  % Avaliação da função
  f = feval(fun,x);       
  s = s + f; 
  t = t + f * f; 
  
  % Estimativa de e
  if n >= nmin,
    nmin = nmin + 100;  
    mf  = s / n;                     
    mf2 = t / n;                        
    e = w * sqrt((mf2 - mf^2)/n);
    Q = w * mf;
  end
end
%************************* Fim de Arquivo **************************

%*********************************************************************
% Rotina: QMCI                              Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina realiza a Quadratura de Monte Carlo d-dimensional
%   utilizando a técnica de Amostragem de Importância.
%
% Input:
%   f  : nome de uma função que contém o integrando f na região de 
%        integração V.
%   p  : nome de uma função que contém a função peso
%   a,b: vetores com os limites da região de integração.
%   d  : dimensão da quadratura.
%   n  : Número de pontos de amostragem.
%
% Output:
%   Q: Estimativa do valor da Quadratura.
%   e: Estimativa do erro (desvio padrão).
%
%*********************************************************************
function [Q,e] = QMCI(f,p,a,b,d,n),

% inicialização
s1 = 0;              % acumulador para <h>
s2 = 0;              % acumulador para <h^2>

% amostragem
for i = 1 : n,
  x = ...            % x calculado com distribuição p
  h = feval(f,x)/feval(p,x);
  s1 = s1 + h;
  s2 = s2 + h * h;
end
% estimativas
mh  = s1 / n;                  % <h>
mh2 = s2 / n;                  % <h^2>
Q   = mh;                 
e   = sqrt((mh2 - mh^2) / n);
%************************* Fim de Arquivo **************************
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%*********************************************************************
% Rotina: QMCA                              Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina realiza a Quadratura de Monte Carlo D-dimensional, com
%   técnica de redução de variância por amostragem antitética.
%
% Input:
%   g  : nome de uma função que contém o integrando f e a região de 
%        integração V.
%   A,B: vetores com os limites da região de integração.
%   D  : dimensão da quadratura.
%   N  : Número de pontos de amostragem.
%
% Output:
%   Q: Estimativa do valor da Quadratura.
%   e: Estimativa do erro (desvio padrão).
%*******************************************************************
function [Q,e] = QMCA(g,A,B,D,N),
global seed

% inicialização
if rem(N,2) == 1    % N deve ser par
  N = N + 1;
end
s = 0;              % acumulador para <f>
t = 0;              % acumulador para <f2>
L = B(:) - A(:);    % arestas da hiper-caixa.
w = prod(L);        % hiper-volume.

% amostragem
for i = 1 : N/2,
  for j = 1 : D
    x(j,1) = A(j) + L(j) * GU;      % 1.o ponto de amostragem    
  end
  gx = feval(g,x);                  % avaliação da função
  s = s + gx;
  t = t + gx * gx;
  
  x = A + (B - x);                  % 2.o ponto de amostragem
(antitético)    
  gx = feval(g,x);                  % avaliação da função
  s = s + gx;
  t = t + gx * gx;
end

% estimativas
mg  = s / N;                       % <g>
mg2 = t / N;                       % <g^2>
Q   = w * mg;                 
e   = w * sqrt((mg2 - mg^2)/N);
%************************* Fim de Arquivo **************************

%*********************************************************************
% Rotina: QMCE                              Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina realiza a Quadratura de Monte Carlo D-dimensional, com
%   técnica de redução de variância por amostragem estratificada.
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%
% Input:
%   FUN : nome de uma função que contém o integrando f e a região de 
%         integração V.
%   A,B : vetores com os limites da região de integração.
%   D   : dimensão da quadratura.
%   emax: erro máximo admitido.
%   P   : vetor com o número de divisões em cada dimensão.
%
% Output:
%   Q: Estimativa do valor da Quadratura.
%   e: Estimativa do erro (desvio padrão).
%   n: Número de pontos amostrados.
%*******************************************************************
function [Q,e,n] = QMCE(FUN,A,B,D,emax,P),

% inicialização
NP = prod(P);            % número de sub-regiões.
Diag = (B - A) ./ P;     % Vetor diagonal
Q = 0; 
e = 0; 
n = 0;

% Amostragem Estratificada.  
for i = 0 : NP - 1,         % Para cada sub-região...
  
  % Combinação 
  for j = 1 : D,            
    c(j,1) = rem(i,P(j)); 
    i = (i - c(j,1))/P(j); 
  end
   
  % Vértices e volume da sub-região
  a = A + Diag .* c;   
  b = a + Diag; 
  
  % Amostragem Monte Carlo
  [Qsub,esub,nsub]=QMC2(FUN,a,b,D,emax/sqrt(NP)); 

  % Acumulação de estimativas
  Q = Q + Qsub; 
  e = sqrt(e*e + esub*esub);
  n = n + nsub;
end
%************************* Fim de Arquivo **************************

%*********************************************************************
% Rotina: QMCIA                             Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina realiza a Quadratura de Monte Carlo d-dimensional
%   usando um método misto de amostragem estratificada com amostragem
%   de importância através de uma função peso adaptável.
%
% Input:
%   F: nome de uma função que contem o integrando f e a região de 
%      integração V.
%   A,B: vetores com os limites da região de integração.
%   S  : Número de subintervalos em cada dimensão.
%   M  : Número de iterações.
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%   N  : Número de pontos de amostragem.
%
% Output:
%   Q: Estimativa do valor da Quadratura.
%   e: Estimativa do erro (desvio padrão).
%   P: Consistência.
%
% Obs.:
%   1: Se P >> 1. o resultado é suspeito. 
%*********************************************************************
function [Q,e,P] = QMCIA(F,A,B,S,M,N),

% inicialização
D = length(A);                   % dimensão
Diag = (B - A) / S;              % diagonal
Vol = prod(Diag);                % volume das sub-regiões
G = 1 ./ (B-A) * ones(1,S);      % FDP inicial 
QQ = zeros(1,M);                 % estimativa de I
ee = zeros(1,M);                 % estimativa de E

% Amostragem  
for i = 1 : M,                   %Para cada iteração 
  
  % inicialização
  g = zeros(D,S);             
  nt = 0;
  sh = 0;
  sh2 = 0;
  
  for j = 1 : S^D,            % Para cada amostragem na sub-região...
  
    % Combinação
    temp = j - 1;
    for k = 1 : D,            
      c(k,1) = rem(temp,S); 
      temp = (temp - c(k,1))/S; 
    end
   
    % Vértices e volume da sub-região
    a = A + Diag .* c;   
    b = a + Diag; 
  
    % peso
    c = c + 1;
    p = 1;
    for k = 1 : D,
      p = p * G(k,c(k));
    end
        
    % amostragem
    ns = floor(N * p * Vol + 0.5);
    nt = nt + ns;
    sf = 0;
    for k = 1 : ns,
      
      % ponto amostral
      for l = 1 : D
        x(l,1) = a(l) + Diag(l) * GU;    
      end
      f = feval(F,x);
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      sf = sf + f;
      h = f/p;                    
      sh = sh + h;
      sh2 = sh2 + h*h;
          
    end
    
    % prepara novo vetor FDP
    if ns ~= 0,
      for k = 1 : D,
        g(k,c(k)) = g(k,c(k)) + abs(sf / ns);  
      end
    end
    
    
  end            % fim da amostragem na sub-região...
    
  % Acumulação de estimativas
  mh  = sh / nt;                    % <h>
  mh2 = sh2 / nt;                   % <h^2>
  QQ(i)= mh;                 
  ee(i) = sqrt((mh2 - mh^2) / nt);
        
  % novo vetor FDP
  tot = 1 ./ (Diag .* sum(g,2)); 
  for j = 1 : D,
    G(j,:) = g(j,:) * tot(j); 
  end
 
end            % fim da iteração
    
% Melhor estimativa
t = sum(1 ./ ee .^ 2);
Q = sum(QQ ./ ee .^ 2) / t;
e = 1 / sqrt(t);
P = sum((QQ - Q).^2 ./ ee.^2) / (M - 1); 
%************************* Fim de Arquivo **************************

%*********************************************************************
% Rotina: QPR                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina realiza uma Quadratura D-dimensional usando a técnica
%   da Partição Regular.
%
% Input:
%   fun: nome de uma função que contém o integrando e a região de 
%        integração.
%   A,B: vetor com os limites da região de integração.
%   D  : dimensão da quadratura.
%   n  : vetor com número de pontos de amostragem em cada dimensão.
%
% Output:
%   Q: Estimativa do valor da Quadratura.
%
% Obs.:
%   1: Para que os pontos n sejam proporcionais ao comprimento de
%      cada intervalo, fazer n = ceil(L*(N/V)^(1/D))
%*******************************************************************
function [Q] = QPR(fun,A,B,D,n),
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% inicialização
L = B(:) - A(:);        % arestas da hiper-caixa.
v = prod(L);            % hiper-volume.
H = L./n;               % tamanho do intervalo de partição.   
N = prod(n);            % numero de pontos da partição.

% coordenadas dos pontos da partição
for i = 1 : D,
  X(i,1) = A(i,1) + H(i)/2;               
  for j = 2 : n(i),
    X(i,j) = X(i,j-1) + H(i);     
  end
end

% amostragem
s = 0;                       % acumulador para <f>
for j = 0 : N - 1,
  for i = 1 : D,             % índices para coordenadas
    k = rem(j,n(i)); 
    j = (j - k)/n(i); 
    x(i)= X(i,k + 1); 
  end
  f = feval(fun,x);          % avaliação da função
  s = s + f;  
end

% estimativas
Q   = v * (s / N);                   
%************************* Fim de Arquivo **************************

%*********************************************************************
% Rotina: GH                                Última Revisão: 12/02/2000
%*********************************************************************
%  Propósito:
%     Calcula o j-ésimo valor da seqüência de Halton (Hjb), base b, no
%     intervalo [0,1).
%
%  Input:
%    j: número seqüencial.
%    b: base.
%
%  Output:
%    H: número de Halton
%*********************************************************************
function H = GH(j,b),
i = 0;
while j > 0,
  i = i + 1;
  a(i) = rem(j,b);
  j = (j - a(i)) / b;
end
H = 0;
while i > 0,
  H = (H + a(i)) / b;
  i = i - 1;
end
%************************** Fim de Arquivo ***************************
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%*********************************************************************
% Rotina: QH                                Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina realiza a Quadratura Quase Monte Carlo D-dimensional
%   pela seqüência de Halton.
%
% Input:
%   fun: nome de uma função que contém o integrando e a região de 
%        integração.
%   a,b: vetores com os limites da região de integração.
%   d  : dimensão da quadratura.
%   n  : Número de pontos de amostragem.
%   P  : Vetor de índices.
%
% Output:
%   Q: Estimativa do valor da Quadratura.
%
%*******************************************************************
function Q = QH(fun,a,b,d,n,P),

% inicialização
s = 0;              % acumulador para <f>
l = b - a;          % arestas da hiper-caixa.
v = prod(l);        % hiper-volume.
p = [2 3 5 7 11 13 17 19 23 29 31 37 41 43 47 53 59 61 67 71 73 79 83 89
97];
nmin = 100;

% amostragem
for j = nmin + 1 : n + nmin,
  for i = 1 : d
    x(i) = a(i) + l(i) * GH(j,p(P(i)));    % ponto de amostragem    
  end
  s = s + feval(fun,x);
end

% Quadratura
Q = v * s / n;                 
%************************* Fim de Arquivo **************************

%*********************************************************************
% Rotina: GS                                Última Revisão: 12/02/2000
%*********************************************************************
%  Propósito:
%    Calcula uma matriz S(i,j) contendo o j-ésimo valor da i-ésima
%    seqüência de Sobol no intervalo [0,1).
%
%  Input:
%    P: vetor contendo o número-tipo das seqüências. P.ex.: P=[1 4 7].
%    N: tamanho de cada seqüência.
%
%  Output:
%    S: número de Sobol
%*********************************************************************
function  S = GS(P,N),

% inicialização
w = ceil(log2(N));    
q = [2 3 3 4 4 5 5 5  5  5  5 6  6  6  6  6  6 7 7 7 7  7  7  7  7];
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a = [1 1 2 1 4 2 4 7 11 13 14 1 13 16 19 22 25 1 4 7 8 14 19 21 28];

for i = 1 : length(P),
  % cálculo de m
  for j = 1 : q(P(i)),  
    m(i,j) = 2^j-1;
  end
  for j = q(P(i)) + 1 : w  
    m(i,j) = bitxor(2^q(P(i)) * m(i,j-q(P(i))),m(i,j-q(P(i))));
    t = a(P(i));
    for k = 1 : q(P(i))-1,
      r = rem(t,2);
      m(i,j) = bitxor(m(i,j),2^(q(P(i))-k) * r * m(i,j-q(P(i))+k));
      t = (t-r)/2;
    end
  end
  
  % cálculo de V
  for j = 1 : w,
    V(i,j) = m(i,j)/2^j;
  end
  
  %cálculo de S
  S(i,1)= 0;
  for j = 1 : N-1,
    t = j-1;
    k = 1;
    r = rem(t,2);
    while r ~= 0,
      t = (t-r)/2;
      k = k + 1;
      r = rem(t,2);
    end
    if k > w,
      k = w;
    end
    S(i,j+1) = bitxor(S(i,j) * 2^w , V(i,k) * 2^w) / 2^w;
  end
end
%************************** Fim de Arquivo ***************************

%*********************************************************************
% Rotina: QS                                Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina realiza a Quadratura Quase Monte Carlo D-dimensional
%   pela seqüência de Sobol.
%
% Input:
%   fun: nome de uma função que contém o integrando e a região de 
%        integração.
%   A,B: vetores com os limites da região de integração.
%   D  : dimensão da quadratura.
%   N  : Número de pontos de amostragem.
%   P  : vetor de permutação de seqüências.
%
% Output:
%   Q: Estimativa do valor da Quadratura.
%*******************************************************************
function Q = QS(fun,A,B,D,N,P),
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% inicialização
s = 0;              % acumulador para <f>
L = B(:) - A(:);    % arestas da hiper-caixa.
v = prod(L);        % hiper-volume.
S = GS(P,N);        % seqüências de Sobol

% amostragem
for j = 1 : N,
  for i = 1 : D
    x(i) = A(i) + L(i) * S(i,j);    % ponto de amostragem    
  end
  s = s + feval(fun,x);
end

% Quadratura
Q = v * s / N;                 
%************************* Fim de Arquivo **************************

%*********************************************************************
% Rotina: SSA                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: 
%   Esta rotina simula um SISTEMA DE ATENDIMENTO de pedidos. Determina 
%   o número de pedidos atendidos e o número total de pedidos
%   ingressantes. Usa-se a distribuição Exponencial para gerar os 
%   intervalos de tempo entre pedidos e também para gerar a duração
%   dos atendimentos. 
%
% Input:
%   n  : número de canais de atendimento.
%   TIM: tempo médio de ingresso de pedidos. 
%   TAM: tempo médio de atendimento. 
%   T  : tempo total de amostragem
%
% Output:
%   NA: número pedidos atendidos.
%   NT: número total de pedidos.
%
%*******************************************************************
function [NA,NT] = SSA(n,TIM,TAM,T),

% inicializa contadores.
NT = 0;                    % número total de pedidos.
NA = 0;                    % número de pedidos atendidos.

% inicializa canais.
for i = 1 : n
  c(i) = 0;                % instante em que o canal será liberado.
end

% laço temporal. 
t = 0;                     % tempo.
while t < T,

  % Gera pedido.
  t = t + DExp(TIM);       % instante do pedido.
  NT = NT + 1;             % incrementa número de pedidos.
  
  % Procura canal livre.
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  for i = 1 : n,             % para todos os canais...
    if t > c(i),             % se canal esta livre...
      c(i) = t + DExp(TAM);  % instante de liberação do canal.
      NA = NA + 1;           % conta atendimento.
      break                
    end
  end

end
%************************* Fim de Arquivo **************************
 

%*********************************************************************
% Rotina: SCE                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito:
%   Esta rotina simula o valor para a propriedade global U do circuito 
%   elétrico mostrado na Figura A.1. Esta rotina simula o 
%   valor dos componentes do circuito como variáveis com distribuição
%   Normal. 
%
% Input:
%   C: Valor nominal dos componentes.
%   D: Desvio padrão dos valores nominais dos componentes.
%
% Output:
%   U: Potência dissipada em R2. 
%*********************************************************************
function U = SCE(C,D),

% Inicialização dos componentes
for i = 1 : 7,
  R(i) = DNormal(C(i),D(i));
end
ep = DNormal(C(8),D(8));
  
% montagem do SELA
A(1,1) =  R(4) + R(5);
A(1,2) = -R(5);
A(1,3) =  0;
A(1,4) = -R(4);
A(2,1) = -R(5);
A(2,2) =  R(1) + R(5) + R(6);
A(2,3) = -R(6);
A(2,4) =  0;
A(3,1) =  0;
A(3,2) = -R(6);
A(3,3) =  R(2) + R(6) + R(7);
A(3,4) = -R(7);
A(4,1) = -R(4);
A(4,2) =  0;
A(4,3) = -R(7);
A(4,4) =  R(3) + R(4) + R(7);
B = [ep; 0; 0; 0];

% Cálculo de U
I = A\B;
U = R(2) * I(3)^2;
%*************************** Fim de Arquivo **************************
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%*********************************************************************
% Rotina: SRJ                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: Esta rotina simula um jogo de apostas de muitos
%   jogadores. 
%
% Input:
%   F: fortuna inicial de cada jogador.
%   P: probabilidade de vitória de cada jogador.
%   N: número máximo de rodadas. 
%
% Output:
%   H: matriz em que cada coluna representa o histórico da fortuna  de
%      um jogador.
%*********************************************************************
function [H] = SRJ(F,P,N),
  
% inicialização
M = length(P);        % número de jogadores
i = 1;                % rodada
H(i,:) = F;           % fortuna inicial

% jogo
while i <= N & min(F) > 0,       % enquanto nenhuma ruína...
   i = i + 1;                    % próxima rodada 
   F = F - ones(1,M);            % aposta 
   j = DDG(P);                   % vencedor
   F(j) = F(j) + M;              % prêmio
   H(i,:) = F;                   % histórico
end
%*************************** Fim de Arquivo **************************
 

%*********************************************************************
% Rotina: SNP                               Última Revisão: 12/02/2000
%*********************************************************************
% Propósito: Esta rotina simula a passagem de nêutrons através de uma
%   parede. 
%
% Input:
%  SA: seção de choque de absorção.   
%  SE: seção de choque de espalhamento.   
%  H : espessura da parede. 
%  N : número de nêutrons incidentes.
%
% Output:
%  NC: quantidade que sofreu confinamento.
%  NA: quantidade que sofreu absorção.
%  NF: quantidade que atravessou (fuga).
%
%*********************************************************************
function [NC,NA,NF] = SNP(SA,SE,H,N),
  
% inicialização
NC = 0;              % contadores de partículas
NA = 0;
NF = 0;
S = SA + SE;         % seção de choque efetiva
PA = SA / S;         % probabilidade de absorção
PE = SE / S;         % probabilidade de espalhamento
L = 1/S;             % livre caminho médio
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% bombardeamento de partículas
for i = 1 : N,                   % para todas as partículas... 
  
  x = -L*log(GUP);               % posição inicial
  
  % absorção ou espalhamento 
  while x >= 0 & x <= H,         % enquanto dentro da parede...
    if GUP < PA,                 % se for absorvido...
      NA = NA + 1;               % incrementa contador    
      break 
    else
      x = x + (L*log(GUP))*(2*GUP-1);       % nova posição 
    end  
  end
   
  % fuga ou confinamento?
  if x > H,
    NF = NF + 1;
  elseif x < 0
    NC = NC + 1;
  end

end
%*************************** Fim de Arquivo **************************
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